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NPEQNCIIOBHUE

Jwmoe NocoBre NpeacTapaseT cofoil npuaokedue K y4eOHUKY
«Ammickinii $36K LA CTYACHTOB 9KOHOMHYECKKX crieunanbHoCTeHy
I. B Iynenkosoi, E. H. KoMaposoi,

HocoGHe BRIYACT TecTH LA NPOBEPKH 3HaHKH CTYAEHTOR Mo aHr-
JUNCKOMY M3BIKY B 0ObeMe MaTepHaNa, W3NoXEeHHOTo B yuyeOHUKE, OTBE-
{14 K TCCTAM M KIIOMH K yTIpaXHEeHHAM YieOHuKa,

Teers peKOMEHAyeTeA NPOBOIHTL MoCTe H3YUECHUA CTYICNTAMU COOT-
ACTCTRYIOIIMX PA3IEN0B YaeOHWKA, @ HMEHHO NOCIE U3YICHUH PAICIIOR 4,
8. 13, 18 (Units 4, 8, 13, 18). Taxum obpasoM, Bcero paspaboTaHo HeTHIPS
rpyIiiLY TECTOB, TIPHYEM KK IPYNITE TIPE/ACTARIEHA B NATH RapHAHTAX.

Tak KAK IpAMaTHYecKie TecTh! 0OCHOBAHEL Ha COOTRETCTRYIONIEM IEKCH-
yecKoM MatepHane, To uenecoolpa3Ho BHauane NPOBOAWTL MPOBEPKY
NeKCHMKH, MCTIONBIORABHOM B U3YMEHHHX ypokaX. JlekcHyeckue TecTHl
BKIIOYAIOT NPpOBEPKY YCBOEHMA JIEKCHKHM H3 CROBAPIIOre MHMHHMMYMa K
ypOKAM y4eGHMKa, @ TAKXKE YCBOCHHST APYIHX NEKCHUCCKHX EAHHIL, Ha-
[IpUMEP CUHOHMMOB, MIPOU3BORHLIX CNIOB W CAOROCONCTAlIN, KOTOpEIS
OTpaGaTHEAIOTCS! B YNPAXKHEHHAX K YpoKka yieb1InKa, ACKCHICCKIX ot~
HULL, KCOALIYEMMX B NpUMEPIX B FPAMMATHUECKOM CIPABOsIIHKE,

HeoBxoMo oOTMETUTE, 4TO TPAMMATHYECKHIA TECT HAUHLIACTCA C TPe-
HUPOBOYHOTO TPEMMATHICCKONO TECTa, KOTOPWI CACAYCT LPOBOAHTD 10
OCHOBHOTO TeCTUPOBAHKA, [T0OGHBIE TCCTH 1O SBOJISIOT CTYACIITAM OLe-
HUTh CHOM SHEHHS CAMOCTOATENLIO U 1HO3HAKOMITLCH C THIIAMA 3382~
HAH, KOTOPBI® MM TIPSACTOKT BHIIONNATL, Bo BceX TPEHUPOBOUHBIX Tec-
TAX B KAXKAOM 3aaHU MPaBKALIILIM ARBHC res oTseT Ne 5,

TNocne TecToB NPpHNACAKTCA oSpallihl KapTOYCK, KOTORLIME 1Tpenoa-
BATE/ MOXET TONIBIOBATLCH A5t GRICTpOil 11 YNoGHON NPOBEPKI Pe3YNb-
TATOB TCCTUPORAHNAS,

TperHazHayaeTCs NS Tipenoaasarenchi, 1ENOAL3YIOMMX B CBOSH paGo-
Te y4eOHHK «AHNIHACKHI A3BIK LU CTYACHTOR JKOHOMHNECKHX CICIH-
anbHocTel,

Asmopet

TECTBI

JIEKCUYECKHHA TECT M |

Bapuamr M\ 1

L. Hw company will be interested in reducing the number of workers, ...
new nuw ines can be used in the production.,

0} ax fo b} that is i d) provided e) as
. afd/e 2. a/bfe 3, b/e/d 4. c/d/e 5. a/b/c

2. Peuple have to choose the ... way of living provided the ... situation in
the couniry is unfavourable.

n) econamic, economical b) economical, economic
C) rFeimic, economic d} economical, economical
e} rational, economic
e/l 2. a/b - 3.d/e 4.bfe 5. a/c

3. One of the important tasks of a firm is to obtain the maximum amount
of s commodity using any given quantity of ... .

I tupur 2, commodities 3.cosfs 4, reventies 5. ontputs
4. Some branches of economy such as agriculture greatly ... climate.
L.dependon 2. include 3.imposeon 4, relyon 5. influenced by

5N 1s| known that ... consumers prefer to buy less goods but of higher
guality.

a) particular b) some c) the same d) both ¢) total
L b/c 2.cle 3.a/b 4 a/d 5.d/e

6. It some industrial countries producers don’t ... the government regu-
lation and make all decisions themselves,

a)dependon  b) impese  c)supply  d) affecton e) rely on
1. afb 2.¢/d 3.b/d 4.cfe 5.afe

7. The money a producer ... should compensate for all his expenses and
leave him with some profit.

a) rises b} owns c) allocates d) earns ¢) obtains
I.c/d 2.d/e 3.a/e 4.b/c 5.a/b
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K. ... restrictions ... regulations in the economy are the main characteris-
tics of a command economy.

l.As...or 2.80..as 3.As..as 4.— aswellas 5.Such..s0

9. Increasing output by one unit we shall have the increase in the ... cost
known as marginal cost.
|. particular 2. normal 4. high 5. total

10. The ... of goods consumed by an individual is restricted by the
total ... of money he earns,

1. amount, quantity 2. quantity, quantity 3. quantity, amount
4. amount, amount 5. number, amount

3. some

Bapuanr Ne 2
1. The total output of the society depends ... on the total supply of
resources ... on the methods ih which they are used.
Las..so 2.such..as 3.— aswellas 4.—,aswell 5.s50... 85

2. The demanded .. of a good depends on a particular market, the num-
ber of consumers, their tastes and even the season of the year.

L. quantity 3.number 4. quality 5. number

3, ... resources, that is, labour and capital, are necessary provided an indi-
vidual is going to start a new business elsewherc.

1. The former 2. As 3. Both 4. Some 5. The smne
4. When prices are above the equilibrium price, it will result in ... supply

of goods.

1. shortage 3. reduction 5. surplus

5. Calculating expenditures on running a business it is necessary to ...
expenses on maintaining buildings in good repair.
1. impose 2.influence  3.include 4. improve

6. The increase in a country’s ... growth can be achieved by using
more ... machines and technologies consuming less electricity.

1. economic, economical 2. economical, economical 3. economical,
economic 4. economic, economic 5, economy, economical

2, amount

2. decrease 4, excess

5. intervene

Py

7. Lhe alm ol producers using this new technolagical miproveinet i
e Inpher profiis,

n) rerixe b} affect c) receive d) obtain e) offer
I o/t 2.b/d 3.a/e 4.c/d 3. b/e

. Within budget constraints the increase in consumption of one good
will . ihc consumplion of the other,

0} rive b) reduce ¢) decrease d) reduction e) follow
1 h/e 2.d/e 3.a/c 4. a/d 5.b/c

9. A number of African countries export agricultural products to
Fwopean countries and to the USA ... .

2. aswell lasto 5. aswell as

10. 1here are many examples of goods that ate consumed together, such
s nead and cheese, cars and petrol, so they are called ... goods in
CeOnOILS,

L wygerior 2. substitide 3. complementary 4. normal 5. alternative

L. such ax 4. as

BapranT No 3
1. The producers have to ... the total output as the demand has grown,
a) impose b) increase ) rise d) raise ¢) supply
1. h/d 2.¢/d 3.ale 4.b/c 5.a/b

2. Solving the problem of choice, a consumer wants to satisfy his
demands ... much ... possible.

lLso..as 2 as..a8

3.as...50 Asuch..as S.oswell... as

3. As consumer demand is not ... at different markets, the goods prices
vary as well.

a) minimum b) marginal  c)constant  d) thesame  e) total
1l.c/d 2. a/c 3.b/e 4.d/e 5. afb

4. Th? development of national ... is based on the laws and principles
which are of special interest to ... belonging to a group of social sci-
ences,

1. econoumy, economies 2. economics, economists 3. economies, econamy
4. economy, economist 5, economies, economics



8, One of the producer’s tasks is to choose the level of output that maxi-
mizes his 1otal economic ... .

a) profit b)eosts  c)expenses  d) expenditures  €) revenue
l.a/c 2. bfc 3. d/fe 4. afc 5.b/d

6. The goods price does not vary greatly within a particular market as all
seliers impose practically ... prices.

1. some 2. cetling 3, minimum 4, the same 5. floor

7. In planned economies government intervention ... lotal control over
resources allocation and output consumption.

a) jollowed by  b) influenced on  ¢) refied on d) resulted in e) led to
I.b/c 2. a/d 3a/c 4. b/c 5.d/¢

8. Different sweets and chocolates are known as ....géods for sugar.

a) normal  b) substitute  ©) complementary  d) inferior €} alternative
1.b/c 2.b/le 3.a/d 4, ajc 5.d/c

9, Mixed type of economy with a rather high degree of government inter-
vention is characteristic of some devcloped countries ... the USA,
Candda, Japan ¢tc.

1. as well as 2. aswell 3 suchas 4. as 5.asto

10. On private farm land, buildings and all the profits earned are .., by the
farmer.

l.owned 2. supplied 3. obtained 4. included 5. offered

Bapnaur Ne 4
1. The decrease in production costs Jeads to the ... in the total profit obtained.
a) reduce b) increase ¢) decrease d) falt €) rise
L. a/b 2.b/e 3.c/d 4. dfe 5. afc

2. West Furopean countries ... the USA are often cailed industrialized

countries,
1. such as 2. 50 3. aswell as 4. as well 5.as

3. Free market and command economics are 1wo quite opposite sys-
tems. ... was typical of some countries of the East European block.

1. The firt 2. Thejormer 3. Thelast 4. The latter 5. The latest

4. Matntics shows that consumption per capita hos ... in develaped coun
11es,

i) roae b) risen ¢) increased d) raised c)improved
1, h/d 2.afc 3b/kc 4.d/e 5. /e

8. Dier market economies, all resources are entirely allocated through
mhets there,

l. Stch as 2. As well 3. As 4. Asto 5. As well as

6. . explain most ... Jaws giving examples from people’s every day
hle.

1 Feonomics, economic 2, Economists, economic
Y Feonomy, economical 4. Economists, economical
5. Economics, economical

7. In s command economy the output Jevel was ... by the decisions of the
ventiad office.

M affected  bydepended  c)relied  d)influenced  ¢) received
1.a/d 2.b/c 3.c/d 4.b/e S.a/e

8. Markel supply is calculated in terms of the alternative quantities of 8
commodity all producers in a ... market can offer,

| free 2, same 3. particular 4. some 5. otal

9. ... ol nssumptions are used by economists studying the theory of supply
und demand,

I. The number 2. The amount 3. Numbers 4. The quantity
5. A number

10. Provided a consumer’s income has increased, he will ... to buy more
normal goods rather than inferior goods.

a) decide b) prefer c) offer d) assume ¢) eamn
l.¢/d 2.afb 3. bje 4.d/e 5.afc
Bapuant Ne 5

1. ... people’s demands ... their ability to produce goods and services are
not constant.

l.notso..as 2.such...as 3. as...50 4.~ aswellas 5.as... aswell

9



2. The theory of supply shows that an increase in production cost ... out-
put level.

a)leads  b)resulisin  c)reduces  d)decreases ¢) depends
1. d/e 2.¢c/d 3.b/c 4. a/e 5. a/b

3, Profit is calculated in terms of revenue and costs, The ... include all
expenses for producing a good.
1. former 2. latter 3. one 4. both 5. same

4. The demand for ... goods always rises with the increase in consumer
incomes.

a) normal b) inferior c) complementary d) substitute €) high-quality
I.¢/d 2.b/fe 3.b/d 4'. afe 5.afc

5. The increase in quantity demanded is ... by an increase in quantity sup-
plied.
I.affected  2.resulted  3.followed  4.maintained 5. obtained
6. The situation at the market when the consumer demand is higher than
the guantity supplied is known as ... .
1, excess  2'surplus 3. reduction 4. decrease 5. shortage

7. The ... development in the Soviet block countries was inﬂuenoed. by
important ... reforms which took place at the end of the 20th centiry.

2. economical, economical
4, economic, economical
5. economic, ecoromics

8. ... of countries regulating their economies is constantly increasing.

2. Anumber 3. The quantity 4. The number
5. The numbers

9, High levels of profits can be ... by producers through improvements in
technology.

a) owned b)received  ©) maintained  d) offered ¢} maximized

1. economic, economic
3. economical, economic

1. The amouni

1. ¢/e 2.b/c 3.a/d 4.b/d 5. afe

10. The allocation of ... resources among alternative uses is an important
problem for all nations.

a) limited  b) total c) urlimited d) scarce €) particular

1.¢c/e 2.a/b 3.a/d 4. b/e 5.d/e
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IFPAMMATHYECKUA TIECT Ne |

Themponounan paGora N |

L. Yunauie npeioicunn, cofemkainse «nenoiks CYMOCTMITCNMX®, B KO-

HIPMY N0 CYNICCTRNTEALHOE MLIIONAACT QYHEUNIO ORpehesicWns jipy-
10,

#) Indmaduals in a society are suppliers of labour and consumers of prod-
Hets,

b) Tlw fact that people’s incomes are very different is used as an argu-
ent sgainst unplanned economies,

¢} e cocflicient of income elasticity shows how income changes influ-
ence the demanded quantity of goods,

d} As the production is regulated through market prices, the company
revenue is not the same every year,

¢) The concept of economic freedom assumes that freedom of a person
must be sometimes restricted to a certain degree if the freedom of all is
to be maintained. ’
l.a,c 2.b,e 3.a,e 4.b,d 5.¢,d

2. YKakHTe, B KAKHX NPEIIQKeHNAX NPH Uepesose cAeXyeT YIoTpeSHTL cross
«HIPEACTABARTS HMETLY,

a) In a command economic system strict limitations are imposed upon
individual choices when such choices conflict with government eco-
nomic policy.

b} Correct government regulations and policies during a financial crisis
can be of great importance to small businesses,

c) The price elasticity is only one of the problems studied by economists
in the theory of demand and supply.

d) Monopoly is known as a situation in which one seller controls the total
supply,

e} Forecasts of market tendencies are often of great value in business
activity,

Lab 2.¢,d lge 4.a,d 5.b,e

3. Ykamame, KaxHe IPEINOKERNA NEPESONNTCA BN PyCCxish K3 B HpOmeNmEN
BpeMemL.

a) Technical progress was defined by economists as any improvement in
organization allowing to produce a given output with fewer inputs than
before.

11



b) Technical progress ought to be defined as any improvement in organi-
zation allowing to produce a given output with fewer inputs than
before.

c) Technical progress has been defined as any improvement in organi-
zation allowing to produce a given output with fewer inputs than
before.

d) Economists define technical progress as any improvement in organi-
zation allowing to produce a given output with fewer inputs than be-
fore.

¢) Technical progress is being defined by economists as any improvement
in organization allowing to produce a given output with fewer inputs
than before.

l.d, e 2.a,d ibc 4.b,¢ 5.a,c

4. Yeaiitre, KAKNE DPpeLIoKeHRN Contepacat oiopoTsi ROKERCTROBIHNS,

a) Studying economy of a particular country, we should consider both
traditions and tastes of people living there.

b) Before a business can start its operations, it is nccessary to calculate
how much money it will need to pay for all inputs.

¢) The first step in planning business is to define as clearly as possible the
main aim of business.

d) As goods and services are scarce they have to be produced.

e) The owner aiming to get higher profits has decreased costs as much as

possible,
1.b,d 2.a,c ib,¢ 4.¢c,e 5.a,d

5. Ykaure, OpN MEPeBOIe KAKHX Npernoxennil cieyer YnorpeSirs PEmACTHE
«npeanayaemMuiils HWIN «NpeANOMeHHMNS

) Some regulations and restrictions were offered by the government to
protect consumers from inferior goods.

b) Consumer groups often study the quality of goods offered by foreign
producers at a particular markel.

) Some goods foreign producers offered in the market were not only of
inferior quality but could also affect consurrers health.

d) Inour modern complex economy, the producer often decides for him-
self what goods and services should be offered te consumers.

¢) The examining of the quality of consumer goods offered at a particu-
lar market is of special interest to consumer groups.
l.a, e 2.b¢ 3.a.d 4.¢,d 5.b,e

12

Bapuanr Ng 1

I Yramnie apeniokenns, conepraibe “UeRoUKH CYMECTBRTCAMIMXY, B KOTO-
P GG CYNICCTRETC/MEOC BRIOMNSET GYNKUHIO oipeeNetns Apyrofo,

i) P the economic crises consemers” expenditures usually decrease
amd 11 ieatly affects the business activity and supply decisions of all
ket sellers,

15 Tl yuantity demanded by all consumers at a particular market is the
(otal spuantity of a good that they want and are able to buy.

1 The theary of consumer choice is based on individual utility,

) 1w nmved cconomy the role of the govemment is restricted by a num-
ber o Faws,

) The theory of marginal utility was worked out by Alfred Marshall,

1 oad Z.b,e 3a,¢ 4.d,e 5.a,b

T Vunmuie, NpH HepeRofie KRKHX DpeAToXenwil clieayeT YioTpelum crosa «Co-
LU B TOM, TTObbI,

a} OPE € decisions are of great importance for the oil exporting countries
as well as for most European countries importing oil.

) Fhe main assumption of the supply and demand theory is to maintain
constan level of utility,

¢) A lut of factors are to be studied in agricultural production, especiatly
dimate,

d) (il vutput was reduced by OPEC for the period of six months,

¢} 1 he purpose of government regulations is to allocate scarce resoucces
ttionally,

la,d 2.0,¢e Jab 4,¢c.e 5.¢,d

L ¥uaxure, & KaKMX mpeanoieNMsax chenyeT ynorpebmTh mpmuactue “sup-
Mwed™,

A Direct producers ... goods regularly to the market do not impose too
high prices.

h) Companies ... substitute goods are intercsted in their high quality.

) Increases in the quantity of one good have to be followed by reductions
in the quantity ... of the other good.

d) In a;'l‘ ree market economy commodities ... can greatly differ in their
yualsty.

¢) Mass production is characteristic of industries where the product ... is
highly standardized.
I.b,c, e 2.a,c,d 3.a,b,d 4.a,b, e 5.¢,d,e

13



4. VamnTe, EakNe ANCAHACKHe NpeoXeHus COOTBETCTRYWT Depenoiy: «Ha
‘IpeSycMoe KORYECTIO TORAPA TIOBIHAVIO YEEMMeHRe DeHbls.,

a) On the quantity demanded of the good was affected the increase in its
price.

b) The quantity demanded of the good has been affected by the increase
in its price.

¢) The quantity demanded of the good affected the increase in the price.

d) The higher price affected the quantity demanded of the good.

¢) The higher price was affected by the quantity of the good deman-
ded.
I.b,d 2.a8,¢ 3.¢c,d 4.a,e 5b,e

5. VkaxuTe, B KAKRX NPEVIONEHRIX ONYUISR COIO3 «KOTOPbLH» .

a) The amount of goods a particular consumer can buy depends on the
income he earns,

b) When economists say there is excess demand they really want to
say the quantity demanded exceeds the quantity supplied at this price.

c) Studying the theory of consumer choice that is based on several
assyimptions, economists often start with the problem of consumer
tastes. ‘

d) In a planned economy the government offices make all the main eco-
nomic decisions companies, factories and workers are to realize in

practice.
e) The utility decreases as the quantity consumed grows.
l.c,e 2.a,d 3.b,¢ 4.a,d 5.b,e

Bapuaur Ne 2

1. ¥xaare NpenokesHa ¢ DpEvacTieM 11 s nocTROIHIBM.

a) Ceiling prices imposed on farm machincs can stimulate the develop-
ment of agricultural production.

b) The increase in the goods consumption is always limited by the budg-
et constraints.

c) In a mixed economy restrictions imposed are to be in the interests of
society,

d) Developing countries are against tariffs imposed as these restrictions
limit their exports to European countries.

e) The government offered a programme of economic development that
was to be discussed by the Parliament.
l.a,e 2.b,e 3.a,d 4.b,c S5.¢,d

14

P Vunmeie, Op RPORONES HAKHX NpEIOXeHit cacayer yomapelire cxone
LU IILE TS L

w) Pt of the company’s profits is to be put back into business develop-
et

b} In vomnand cconomy the aim of the government is to control pro
ik fion aiul solve other economic problems.

b lmprovements in technology are of great importance in improving
uality of goods supplied.

) Opportumity cost is known as the amount lost by not using labour or
vaptal in their best alternative use,

v) Company managers are to calculate future costs and profit before
starting producing a new commodity,
I.hd 2.a,b 3.ae 4.¢,d S.c,e

A ¥Viaxure DOpeinodenns, CcolepXKANNE <«Iel09KH  CYMECTRNTCALHMXY ,

¥ KOTOPLIX ONEO CYINECTMMTE/ILIOE RUONHACT $YHKIHIO ONPECNEHRA NpY-
oo

a) Both small businesses and large corporations are influenced by
changes in economic policy of the government.

b) Until the end of the 1980s the world economy was organized on the
assumption of cheap oil prices. '

¢) Command economies have a number of common characteristics such
as five-year plans.

d) The national income includes the incomes of all the people living in
that country, that is, all everyone’s incomes together.

¢) An improvement in technology may produce absolutely new goods
that are not known to consumers.
1.b,¢ 2.¢,d 3.ab 4.d, ¢ 5.a,¢

4. YXannTe npe/UHNEARR OF CKATYEMAIM B CTPAIATE/ILIOM 3a00Te.

a} All decisions about goods production were made by the central offices
in the Soviet block countries.

b) The optimal quantity supplied is being affected by non-economic fac-
tors.

¢) Changes in consumer demand have influenced goods quantity and
quality demanded,

d) Developed European countries are exporting high-quality goods all
over the worldd.

e} Governments typically impose: ceiling prices for food in war years,
l.a,d 2.b,¢c lce 4,a,b 5.d,¢e
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5. VimKkure, KakHe NpeHKeNns conepiKaT feccoizioe oIpeleMTe IR0 NpH-
JATOMNOC NPEANOMCTEO.

a) Some people believe that a large government sector makes economy
incilicient, as it reduces the number of goods that can be allocated to
consummers.

b) The governments can sometimes affect the production process
through restrictions they impose.

¢) Any profits that are made in a command economy are to be paid to the
government.

d) Macroeconomics and microeconomics are two branches of econom-
ics studied separately,

¢) Prices may rise most for those goods consumers demand most,

l.a,b Zbe 3.a,d 4,¢,d 5.¢,¢

Bapnant Ne 3

I.Wmmwmm,nmpmcmwwﬁmmme“de-
manded”,

a) Goods produced by developing countries are not of the quality ... by
consumers.

b) When the market price of a good is below the equilibrium price the
number of buyers ... this good increases.

¢) ... more rather than less a consumer prefers to buy more goods with the
amount of money he has,

d) There is excess demand when the quantity ... exceeds the quantity

supplied at this price.

e) The ... quantity of a particular good varies with different individuals
and consumer grouys,
1.h,c,e 2.a,d,e J.a,b,e 4, b,c,d 5.a,c,d

2. Yxauute, NP nepesofie KAKAX Npej,ioXcHni Yoo rpeSaseTcs CI0BO «10JDKeH».

a) The plan of the company is to increase profits by reducing prices at the
local market.

b) Economists have shown that for such complementary goods as cars
and petrol the increase in car price has to lead to the decrease in petrol
demanded.

c) In recent years the increase in the world population has been accom-
panied by the increase in consumption per capita.

d) The total quantity of a commodity that is to be produced will not be
sold at once.
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¢ ) Sulnbitite goods or services have greater demand elasticity than com-
plemwentary goods and services.

I v, 2.b,c 3.a.d 4.b,d 5.a,e

b Muamnie, 8 KUKHX NPEIUIONCHASA OIYIOEH COI03 «KOTOPhIl».

n) 4 oepany tanagers should make their decisions on the basis of statis-
i nl infonmation economists prepare for them.

I+ Jletween such categories as manginal revenue, marginal cost and out-
gt Mhere is a close relationship the theory of supply examines in detail,

v} Lhe cortlicient of income elasticity of demand that can be positive,
uegnlive or Zer0 is an important characteristic of a good.

al} Money income earned in the production process is then used to buy
goenls and services that resources help to produce,

¢} SMottling o business in a free market economy a person stimulates
the pualiction of different commodities which are important for society.
I be 2.c,d 3.ab 4,¢c,e 5.a,d

4 Yuamure npeiiodesnn, CONEPAKAMMBE «TNCNONEN CYMECTEHTEALRLYY, B KOTO-
PN 0O CYIIECTRATENRIOE minonmd:yummo ollpefieneRug APYToro.

u) Practically in all economies there are some restrictions imposed on
v einic activities,

h) There are a lot of well-known companies at the world market produc-
myp. different substitute goods.

o) l'conomic concepts and assumptions are widely used by economists
lur dleveloping economic models.

Jd) Rcuinues obtained from selling output depend on the demand at the
nureet,

¢) Sometimes floor prices should be imposed on the most important
gouds by the government to protect consumers with low incomes,
t.ad 2.a,c 3.bc 4. d,e 5.b,e

£, YuamnHTe, Kakne aMIMuHCKHE NpefioXenys COOTBETCTRYIOT PYCCKOMY NPe/Lio-
MLIHW:
«KaK MAKPOOKOHOMMES, TAK H MEKPOIKOROMHKA MPEHOJAICTCA CTYNCHTAM,
oGyIalONMMCR R SKoRoMINECKHX AKYILTETEX>.

#) Both macroeconomics and microeconomics are taught by students
studied at economic departments,

) Both macroeconomics and microeconomics are being taught to stu-
dents who are siudying at economic depariments,

¢) Both macroeconomics and microeconomics are taught to students
studying at economic departments.
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d) Both macroeconomics and microeconomics are being taught to stu-
dents studying at economic departments.

¢) Both macroeconomics and microeconomics have been taught to stu-
dents studying at economic departments,
l.e,d 2.b,d 3.ac¢ 4.b,e S5.a,e

Bapumr Ne 4
1. ¥EaxuTe, n_xamnpe,wmuuuxcmmymrpeﬁrmnmmm “influencing”.

a) The rise in population’s income has ... the quantity demanded of high-
quality goods.

b) Consumers ... the production of improved goods seeking maximum
utility of things they buy.

¢) The procducers are interested in factors ... the price increases and the
changes in the quantity demanded.

d) The amount of some consumer goods demanded is often ... by the sea-

son of a year.

¢) The main factor ... the demand for any cormmudity is the level of the
buyers’ income,
l.c,e ‘2.a,b 3.b,d 4.c,d S5.a,¢

2. ¥iaxuTe, OPH DepeBone KAKNY NPCANONCHNTT YROTPEORICTCA CIIOBD +CRETYET».

a) The corporation should control oulput level, as it is important 1o
maintain the market price level.

b) Knowing of scarce natural resources people ought to examine possible
alternatives of their better use,

<) Such factors as the nature of the product, its possible uses and price, as
well as its substitutes are of special inlcrest 1o economists studying
price elasticity of demand.

d) Economists’ recommendations based on real statistical data are to be
used by governments and private businesses,

¢) Opportunity costs are to be calculated for labour and financial capital
used in production.

l.a,¢ 2.¢ce 3.d,e 4.b,d 5.a,b

3. VKaKHTe DpejioRcHn, CONEpIKAINe <NENONEH CYMOCTRHTEALHLIX , B KOTO-
phiX O30 CYIICCTRRTER0S BLOANAET (GYHKIMN CIPCALACHHS ANYTOTO.

a) In industrialized countries high consumption levels are possible only if
a large number of people can be organized for cooperation, for exam-
ple, in big factories.
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I oy e barauesses are not interested in developing services for whaeh
they 1eceve i zero price.

o1 Lhe pance of o commodity will usually affect the quantity that an indi
snhial wall buy at a given time.

ty Hw imaon Tunction of a marketing service is to inform producers of
voneaner demands.

¢} Lo hiee nuarket economy producers try to satisfy all consumer’s tastes
pronhiic g, cverything a consumer demands,
ool e 2.a,b,c 3.a,d,e 4.a,b,d 5.b,c,

4 Sunmnic, npy Nepesolie KAKEX mpemnoxennll cienyer ynoTpebem. ciosa
«HpeIe TARIATAS, €HMETR IRAYCHTCY.

w) { sl orpanization of managerial work is of great value for obtaining
haphy proshiis,

Iy e cconomists have to calculate the opportunity costs of all resources
it e 1o be used in the production,

«1 1t & iportant that a change in the price of one good has an income
il o substitution effect.

y L he quality and price of a good are of great importance as consumers
weh to receive maximum utility,

r) 1 1otat revenue moves in the opposite direction from a price change,
the Jemand is to be elastic,
(TS 2.a,d ind 4.¢,e 5.b,¢

£ honue monmiickRe NpeATOXCHRS COUTIETCTEYIOT CIRIYINIIEMY PICCKOMY Hpes-
RN
='ln CIBKEeHHEN NOTPEGHTEMCKOM JOXONA HOCIEJOBAN0 YBOIHUCHNE CHPOCA
nh MNKOKAeCTRONHLIE TORAPRIY.

o) Aller the decrease of the consumer’s income followed the increase in
the demand of inferior goods.

Iy I'he increase of the demand for inferior goods followed after the
decrease of the consumer’s income.

v} I'he decrease in the consumer’s income was followed by the increase
m the demand for inferior goods.

i} 'he decrease in the consumer’s income has been foliowed by the
merease in the inferior goods demand.

¢} I'ie increase in the inferior good demand was followed by the decrease
in the consumer’s income.
l.a,e 2.b,¢e 3.¢d 4.ac¢c 5.b,d
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Bapuanr Ne 5

I.Mmmnemommmwomnmewwm&mm
«aapaboTanmmbis.

a) High profits were earned by the company when the demand for its
goods increased.

b) The firms earning higher revenues should spend more money on new
technologies,

¢) The managers discussed how to allocate the money earned from sell-
ing additional amounts of output.

d) Part of high profits earned by the company will be spent on new com-
puters,

e) Total revenue is the amount of revenue or income which was earned
from selling a given quantity of goods and scrviecs.
l.b,e 2.a,d 3bc 4.¢,d S5.8,¢

Z.Mnmwmmmwecmwmmﬁmm
«COCTOMT B TOM, YT00LI>.

a) Different relations within the economy such as the total amount of
goods and services produced, total income carned are to be studied by
MACTOeCONOMICS.

b) The American economic system known as capitalism is of great inter-
est as a self-regulating economy;

¢) The total amount of output is to be divided among the members of
society.

d) The manager’s task is to decide what combination of inputs will make
the given output level the cheapest,

¢} One of the main principles of fre¢ market cconomy is to give individ-
uals motives for economic activity.

[.d,e Z.a¢ 3.a.b 4.b,d 5¢e

3. ¥kaXHTe DPeIIOKeana, CONCPKAITHE «ICIOTHH CYINECTBHTEMLAMX, B KOTO-
PR 0MO CYIMECTIHTRABIIOE BLMOANACT DYHKIIN0 oUpCACNAA APYTOTO.

&) For maintaining a given level of utility, increases in the quantity of one good
must be compensated by reductions in the quantity of the other good.

b) The conflict between people’s limited budget and their unlimited
demands results in the problem of choice.

c¢) Recent changes in government policy have greatly influenced the
organization of agriculture,

d) A reduction in input prices will make it possible for firms to supply
more output at each price.
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#) A lower price tor a good usually results in larger quantity demanded. of
Ul prowduct,
(T 2.¢c,d b 4,a8,d S.b,e

4 VuAmuie NpCLIOKEHIS, B KOTOPMX CKRIYEMDE B CTPAKATEILHOM JAMOTE nepe-
WHTHICH (iR pyccknil A35IK ETANOMIOM B RACTOAIIEM BPeMenH.

#) Hhe ~ubshitution effect has been calculated as negative for hot dogs and
T

I Analyss shows that most goods and services are being produced to sat-
Ishy pwople living in the rich industrialized countries,

¢ H Ihwdnessmen are discussing some problems of microeconomics which are
o enler interest to small businesses selling goods at a particular market.

) I the theory of demand and supply shortage and surplus of goods are
espliimed through the term of the equilibrium price,

©) I"is e elasticity of demand is affected by the number of actual and
wotentnd uses for a service or product.
I noe,d 2.a,b, ¢ 3.b,d,e 4.b,¢c,e 5.8,d,e

1. Viummie, B KAHHX NPOLAOKEHAAX NPu Nepesolie YOTPEGASIOTCH CHOBS <00l
NvEWANIe, «BYKHOY,

) Dhe ann of some government regulations and restrictions is to reduce
the supply of low quality goods to the market,

b} Fesnomists ought to assume some factors 88 constant because the
relnbions belween econornic factors are too complex.

3A It of Alrican countries have to develop the export of natural
wesnurees il they want to increase their national income,

) ln & free market economy the government must not intervene in pri-
viite bhusiness, but can often control important branches of national
cconomy, such as transport.

#) 11 2 country’s recources are scarce, the government has to find other
tuethods of satisfying people’s demands,
t u. b 2.a8,d 3.b,e 4.¢,d S.c,e
JEKCHYECKHH TECT N\e 2
Bapuant Ne 1

I. . ta develop the small-firm sector of the economy, the British govern-
ment helps new firms with ... development problems and provides
hinancial help to small firms,
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1. Whereas, durable 2. Due, profitable 3. In order, initial
4, While, average 5. Although, considerable

2. ... workers as well as those unemployed ... labour force.

1. Available, comprise 2. Employed, makeup 3. Average, apply
4. Exhausted, supply 5. Employed, result from

3. Every day money is ... from one bank to another in thousands of cities.
1. contributed 2. considered 3. measured 4. replaced 5. transferred

4. Expensive goods are heavily taxed ... of ... money for poorer con-
sumers.
1. for the purpose, raising 2. as a whole, obtaining
3, as follows, contributing 4. for the reason, availability of
5. to a great extent, making contribution of
5. ... is the relationship between factor inputs and outputs of goods and
services.
1. Production cost 2. Investment 3, Efficiency of labour
4. Efficiency 5. Value

6. Chemical industry provides ... for farming.
l.ore 2.fertilizers 3. natural resources 4. assets 5. raw materials

7. Economists ... forces of demand and supply ... the prices of goods and
services,

1) consider, to determine b) suppose. to have an advantage over
¢) determine, lo Impose d) assume, to resuit from
e) prestme, to affect
l.a 2c J.afe 4.d 5.b

8. Land ... tobe ... used ... for housing ... for farming near big cities.

a) Is reported b) has beer found d) muostly
¢) mainly 1) besides h) both ... and
i) either ... or i) neither ... nor
l.a,e,j 2.¢,8hfc,f,h 3.af,j 4.b,e,h 5.b,d,ifa,e,i

9, The ... of the firm is measured in terms of total ... employed, capital
and workers.

c) as a whole
g) finally

a) size, assets  b) production costs, inputs  c) fixed capital, capiial
d) management, investment €) inputs, factors of production
l.a/b, e 2.a 3d 4. b/e 5.¢

W sinmlsic cconomic growth governments cun incrense spending

]

mul, , they con increase aggregate supply.

M One thing  ¢) Unlike  d) Inorder to €) Nearly 1) besides
g} except  h) whereas i) however j) as well as
2.b, g 3.a,ifa,j 4.4,f

ny tHew

E hfen 5., f/d, T

Bapuanr Ne 2

Ihe ol the Department of Employment in the UK is the ... use of

Inbsnn 1esources by running local employment offices which help
worhers lind jobs,

| Persinesy, divect 2. purchase, profitable 3. incentive, so
4. reason, due 5. purpose, eﬁc,‘e"‘
“hieal™ efficiency is reached when the largest possible output

I+ puasluced from a given quantity of factor inputs using ... techno-
gy .

| average 2. leased 3. avaiinble 4. renewable 5. initial
I he povernment expected larger aggregate demand ... cuts in taxes,

b) fo give rise to c) io result from
d) to coniribute to e) to be due ip
2.b/d Ja 4.d S5.e

u) fo vary with

| «fe

» leomomists ... forces of demand and supply ... the prices of goods and

ACIVICCK,

») suppose, fo determine b) say, to be due to ¢ believe, to give rise to
d) presume, to determine  e) assume, to vary in

Lo 2.b,¢ 3.e 4.a,d 5.d

. I'eonomice rent is money paid for a factor of production which is over

tlw minimum ameount ... to keep it in its present ... ,

1. essential, household 2. required, condition 3. used up, way
4. —, value 5. supposed, advantage

Ihe ... of the budget to be allocated to health service and social secu-

rity varies ... the couniry.

2, share, from 3. share, with 4. way, with
5. requirement, from country 1o

\. portion, to
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7. Some economists offer to ... the systems of progmsf.ive. taxation and
social security benefits by one system ... only those with income above *
a minimum level.
a) replace  b)exist cyat  d) look for .e) vary  f) taxing
) raising taxes from h) levying i) c:omprising
1.a,f/a.h 2.b,gfa, g 3.c,h 4.d,iMd, f 5.a,f
8. Economic growth ... to society’s wealth, ... most governments think it
to be of great importance.

a) results  b) supplies ) provides  d) contributes  €) makes up
f) however g)since h)so i) while j) which

1.d,h 2.b,j/c.i la,f 4. e, ife.h 5.d, g
9, ... these conditions the tenant may be ... a disadvantage.
l.Under,at 2.In,on  3.Injin 4. At,under 5. In,over

10. ... can be measured in physical teems or ... terms.

1. Efficlency of labour, invesiment 2. Investment, property
3, Purchasing power, following 4. Efficiency, cost 5. Property, assets

Ll
L]

Bapuaur Ne 3
1. Economists say the work of ... Lo be ... when output per man-hour is
high there.

1. a business, considerable
3. a state, essential
5. a social security fund, profitable

2. Industrial and farm workers and those ... in service sector ... labour force,

1. applied, result 2. contributing, measure 3. existing, result in
4, employed, make up 5. required, determine

2. an enlerprise, productive
4. capital, efficient

3. Ores and ... fuels are included in .., resources.

a) both b) most c) final d) following €) ffquipmm
f) non-renewable  g) renewoble h) durable i) essential  j} natural
1.b,g/a,j 2.d,ife. f 3b,f 4.¢c,i 5.b,h/b, g

4. Expensive goods are heavily ... in order to transfer incomes from the
rich who buy them to the poor.

1. levied 2, coniributing 5. taxed

3. provided 4. raised
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% lhweiotal ot goods and services produced in an economy in one year
. called

L value, gross domestic product 2. value, gross national product
Vo asure, wealth 4. distribution, average standard of living
3. lax revenue, taxed commodities and activitiey

& Ihe ude to the GDP by the various sectors of the economy can
b 1nu varicty of ways.

| share, measured 2, assets, determined 3. confribution, considered
A final goods, worn out 5. investment, used up

7 Ve tenant ... himself to be ... a disadvantage.

w) presumed b)) found  c) required Q) assumed  €) considered
Dwith gyon h)ymostly i)at j)asawhole
l ey 2.a,f/Md,f b, ife,i 4.c,h

B Chemaal mdustry ., fertilizers for farming.

5.b,i/d,j

b manufactures  b) supplies  c) employs  d) applies  e) provides
I ow e 2.b/e 3.c/d 4.4 5. afe

Y. | wind fiss been found to be .., used ... for... ... for farming near big cities.

aymamly  bymostly c)asawhole d)as..as  e)neither... nor
Wetther ... or - g)both ...and  h) housing i) mining  §) enterprises
I e.dj 2.b,f,ha,g,h 3.a,ei 4.b,d h/b,d,j S.a,fj/c.gi

10 1wl .. can be ... leased ... purchased,
Ababroud b} property ¢} natural resources  d) means of production

) eqinpment ) crops g) neither ... nor h) either ... or
iyaswell ... as j) both ... and
Ui jfe,i  2.aib,i  3.f,g  4bhmb,j  Scgidg
Bapunant Ne 4
I cconomic mechanisms may be ... to allocate resources.
| Various, employed 2. Essential, added 3. Following, provided
4. Most, applied 5. Required, varied

2 1he government expected aggregate demand to increase ... cuts in taxes,

wdueto b)sothat Cc)asaresultof d)for e)forthe purpose of
I.a 2.d 3.b/c 4.¢ S.a/c
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3.1t is hard to determine the ... results of a decrease in the popula-
tion ....
1. durable, weaith 2. most, variely 3. purchasing, distribution
4, eventual, size 5. taxed, purchasing power

4, High taxes are ... on expensive goods for the purpose of ... money for
the poor.

1. imposed, existing 2. levied, raising 3. determined, getting
4. fixed, collecting 5. levied, deferring
5. Econornists ... land ... to have some advantages as well as disadvan-
tages.
a) believe b) asume <) employ d) apply - ¢) axhaust 1) lease
gyreni Wway i)spending j)taxation ‘
l.a,f 2.b,ife,j 3.a,f/b,j 4.b,h 5.d,g/c,i
6. To economize is to produce a given output of a product at the
lower ... than before.

1.value  2.means of production 3. profaability 4. contribution
' 5. cost

7. ... economic growth contributes to society’s ..., ... governments think it
to be of great importance,

a) Although  b) Since  ©) As  d) population e)we?kh ) natural

resources  g) living standards  h) both 1) following j) most k) no

1.b,e,j/c,8.j 2.3, kb, gj 3.b,d.i 4.ceh/o,fk 5.a,dk
8. Chemical industry supplies farming ... fertilizers.

1. for 2.- 3, with 4. to 5. for/with

9, The size of the firm can be ... in terms of total assets ..., capital and
labour.

a) considered, used  b) determined, used up <€) measured, employed
d) assumed, required  ¢) measured, earned
l.afe 2. afd/fe 3.a/bfe 4.a/c 5.d

10. Land property can be either ... or ...

a) exhausted b leased  c)usedup &) purchased ) improved
1.b,d 2.b,d/a, e 3.a,c 4.a,d/b,c S5.d,e

Bapuant Ne 5

I The probdem as that ... demands are limitless, the resources ... at one
e ate himited in supply.

| though, considerable 2. since, whole
4. whereas, available

3. while, eventual
5. still, aggregate
¢ iewomnees comprise ores and most ... .
W) avergr  b) renewable  C) non-renewable  d) natural ) both
IV eaw materials  g) fertilizers  h) soils i) fuels  j) enterprises
14,042 2.b,j 3.a,g 4,¢, f/c, T 5.d.h/d, j

1 1 mploved workers as well as those unemployed .. labour force.

bYareincluded  c)comprise  d)add ) replace
{uh 2.a 3.c 4.a,d S5.e

4 {he contribution ... the GDP by the various sectors of the economy
i I considered in ... of ways.

b ket g

| i, verious 2. made up to, a number 3. made 10, a variety
4. provided for, both 5. done to, a number

% Ihe .. of national income to be spent on ... varies from country to
sukinhy.

| measure, taxation

2. coniribution, public goods
V purpose, standard of living

4. average, households

5. share, national defence
& i profit earned by a firm in relation to the ... of the firm.
ab Fificiency b) Value c) Financial capital d) Assets
r) Prufitability fy management ) inpuis h) environment
i) size 1) number of workers
boe,n 2.a,h/d, h 3.b,j/e,i 4.¢c,g 5.a,f

T 1he conditions of the lease are ... to give an advantage to the landown-
¢t rather than ... .

w} considered  b) assumed  c) supposed  d) believed €) made up
13 the farmer

8) the employed workers h) the household
i) the tenanmt 1) abroad
[.e,j/d, h 2.b,g 3.a,i/,i 4.¢,i 5.d,f
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8. Slower economic growth ... the smaller size of population.

a) resulted in b) resulted from ¢) wore out d) was due fo e} replaced
i.a/e 2.b 3.c 4. ¢ 5.b/d

9. Economic ... i§ money paid for a ... which is over the minimum
amotnt necessary o keep it in its present condition.

1. taxation, property 2. reni, factor of production 3. transfer
payment, living standard 4. depreciation, asset 5. wage, household

10. ... these ... the landowner may have some advamtages ... the
tenant,

a)in b)under <c)on d)over e)al ) than g) before
h) conditions i) lease j) environment
l.a.h, g 2.b,h,d 3.¢,i,f 4.a,j,¢ 5.ci,g
TPAMMATHYECKHHM TECT Ne 2

‘ . Tpenuposounan paGora Ne 2
1. VRaXHTE Npemioikeime, B KOTOPOM IMATON 1o make Uepenoarcsl KaK «3acTas-
NATLY.

a) Those who make financial contributions to firms for the purpose of
earning profit are known as investors.

b) Depreciation makes enterprises replace old equipment with modern
one,

¢) One should make property work and bring in profit.

d) A government requires all available information of the workings in all

sectors of the economy to make balanced decisions.
¢) The management of the company is not expected to make all the avail-

abie information known to the general public.
l.a 2.ab 3.c,e 4.d 5.b,c

Z.Skmmnpqwmmns,mmmmempuxuemympeﬁumum
«yrobni».

a) Governments can increase aggregate supply for economic growth to be
stimulated.

b) The increase in aggregate supply was not big enough to stimulate eco-
nomic growth.

28

1) The gosernment expecied economic growth to be stumulated as a resnll
i [Hppee apgregaic supply.
M The appregate supply was 1oo small 10 provide any cconomic
wpownih
o) { conmie growth was expected as a re i
sult of b 4
P igger aggregate

I A, e 2.a,d J.c 4.c,d,e 5.¢,e

¥ Yuomnie, KuKse UPCAMOKCHAR MOMKHO CURTATS NPARAIGELIM (CDEROUOM caeay
HHREE & PYCCRIN0 EPCUIOKCITHR:

ol Hwyak, MO HENM ROCTAROK JABRCAT 0T NPUHIBO/CTBENHBIX HIIEPMEKy.

o} | amatnsts believe supply prices to depend on production costs.

h) Sopply prices are believed to depend on production costs.

t) Hlere s an assumption that supply prices depend on production
L

1 Une heheves supply prices to depend on production costs.

o ) Supply prices were expected to depend on production costs.
I b 2.a - 3be 4.¢,d 5.b,d

4. Yuammic upcaroKeHNs, B KOTOPLIX clioso “those” mweer spavesme «Ter

#) Thete are factors affecting prices over short periods and those affecting
them over longer periods.

Iy Allsed Marshall determined those factors that affect prices over
st periods as well as those factors that affect them over longer
peitods,

) Allied Marshall determined factors affecting prices over short periods
Lhewe were changes in demand and supply. .

t Phose factors that affect prices over longer periods are production
vants and resources inputs,

¢} Uwes short periods prices are affected by changes in demand and sup-
ply, over longer periods, by those in resources inputs and production
Losts,

I a.b 2.b,c 3.d 4.d,e 5.bd
4 \u?mmmmm,mmmwmmuwynmeﬁmsmn
*COOCTBCHHOCTR, KOTopag Gyner ciana k apenays.

2} Government contrel of rent can decrease the supply of property to be
feased.,

1) Property leased to a tenant should be maintained in good condi-
Lo,
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<) Government control of rent reduces incentives for the landowners to
increase the supply of leased properties.

d) The landowner expected the property that would be leased to be kept
in good condition.

€) Property that is to be leased is thoroughly examined by the future
tenant,

I.b,e 2,a,d,e S.a,d

ib, ¢ 4.d

Bapuant Ne 1
1. VRaKHTe OPELIOKEHNA, B KOTOPIX HYAHO SCTARHTL CHOBO “one”.

a) ... is expected a reduction in costs and prices resulting from greater
specialization,

b) ... can expect a reduction in costs and prices resulting from greater spe-
cialization.

¢) ... is possible to reduce costs and prices through greater specialization.

d) Factors affecting prices over short period is ... thing, those affecting
prices over longer periods are quite another.

e),.. are factors affecting prices over short periods and those affecting
them over longer periods.
1.b 2.¢c d.d,e 4.b,d

2. VianTe, ¥ EAKEX NPLIUROREHRAX ¢1080 “that® AMeer 3HATCIRS «KoTOpMiy.

a) Investment in human capital is as important as that in physical capital
since its contribution to production is essential.

b) Investment that is made in human capital does not earn profit for a
long time.

¢} Investment made in human capital typically does not bring in profit as
soon as that made in financial or physical capital.

d) A worker with industry-specific human capital may find it difficult to
find employment when that industry is depressed.

e¢) How much a society invests in human capital is an indicator that
shows how much it is prepared to invest in the future rather than the

present.
l.a,c 2.d ib 4.b, ¢ 5.d,¢

3. Yaucre npeznoXesmis, Npy Repesoile KOTOPHIX CHEYeT HCTIOTB3OBATS CI0
«qTobRI».

a) Only the value added at each step of the production process is count-
ed for the value of national output to be measured correctly.

S5.a,b
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B s ol correct measure of the value of national output, only the
vl .ulded at each step of the production process is counted.

1 the vdue of national output is believed to be measured correctly
visnel since only the value added at each step of the production
[Men ev s counted.

Wl e count only the value added at each step of the production process
1 euenlial for correct measuring the value of national output

1 the salue of national output is expected to be measured (;on'ect]y
riwsuph 10 be used by the government as the reliable basis for decision-

tunthing
I 1Lb ¢

2.b,c,d 3.be 4.c,¢e 5.b,4d,

b Vunmoie, w KaKkMX nperioenunx ARGXRHTIE ABINCTCA DOILTEXANTHM,

s busneasire the unemployment rate it is necessazy te know the number
wl wotkers in employment and the size of the labour force,

I3 b measure the unemployment rate in an economy is difficult as it is
i ult to measure the nitmber of workers in employment and the
Fabout Joree as a whole,

«} 1o «lidy human populations, including their size, changes over time
ups ikl sex groupings is necessary in order to know what cconmnir.:.
pashlens are to be expected in the future,

it b <ly human populations it is neccssary 1o analyze great masses of
nlonnation concerning their size, age and sex groupings, etc,

11 b Luow what economic problems are to be expected in tI;e future is of
#h ) unpartance for every society,

I bho,c 2.b,d 3.a,de 4.ce 5.a,b

% Vunmwre, upn nepesoe xaxmx npeniokendil cnemyer
HONOAE30BATE
WW W MEIGT, YTOM, i

W iy uumqists expect decreased size of population to result in slower
1 s etionnic growth,

11w e lieved that decreased size of population results in slower eco-
i growth,

1 Deceased size of population is expected to result in slower economic
Mromtlh

¥ i creaned size of population has been found to result in slower eco-
manie prowth,

©) P Lall in the size of population is not big enough to expect slower
tcamonmic growth,
[ S [ 2.d J.a,c 4. ¢ S5.a,¢,e
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Bapuanr Ne 2

1. Vkaxume, uwnepemenmmmumﬂwmynmeﬁmmcne-
o0X0nAMO».
d services.
One has to use-labour to produce all goods an .
f:; Labour is known to be used to produce all goods and ser_vnces.
¢) It is required to use labour to prod;c:dzll ggods a::Ss services.
bour is required to produce all and services,
g;\]ii kn(r)w Il:gourto be necessary if we want to produce any goods or
services,
1.b,¢ 2.d

2. Viairre NpeAIGRENNS, NP ICPEROe KOTOPMX CIENYET YIOTPEGHTS C0BO
wrolae.

a) Governments sometimes impose maximum rent levels that help ten-
nts on low incomes 1o pay rent.
b) ‘E}ovemments sometimes impose maximum rent levels to help tenants
on low incomes to pay rent. .
¢) Rent in the area is too high for the average tenant to pay It. tocel
d) If the rent in an arca is too high the government can impose a
‘maximum rent level. .
¢) The rent is not high enough for the government 1o regulate its maxi
mum level.
l.b,c,e 2.b,c,d
3. VkakuTe Ope/MIRERns, b KOTOPMX €080 “i(” Re NepeBOINTCR.
a) Investment in human capital is considercd to be as importal.lt as that in
physical capital, since no output can be 'pl:oduced without it.
b) Investment made in human capita} le-ls it increase. _
c; It is essential to invest not only in physical but also in human
ital, _ . _
d) cl-allﬂman capital is considered to be as important as physical capital,
since it is essential for every production. ) . .
¢) Not every businessman thinks it necessary for himself to invest in

3.a,¢ 4.a S.e

J.c,e 4.2 .e

human capital,
l.a,d 2.b,e l.ce 4.¢c,d 5.¢

4. Viaxave npeZ/iokelns, Upn Nepesoie KOTOPLEX Be HAZIO YIOTPEGAuTs C/1080
A9T0P.

a) Karl Marx expected the nation’s productive assets to be controlled by
the state under socialism.
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by I Wb Mary's theory, initially, under socialism, the nation’s produc-
v avseis il be controlled by the state but, eventually, under com-
wilirtlan, the workers themselves would own the means of production,
whis b will inuke it possible to meet people’s requirements fully,

o) Kt Mars thought that initially, under socialism, the nation's pro-
flus tive wsvels woukd be controlled by the state but, eventually, under
venamisen, the workers themselves would own the means of produc-
ey

) By Mars®s theory, initially, under socialism, the nation’s productive
waaedn wonkd be controlled by the state but, eventually, under commu-
uivin, 1 workers themselves would own the means of production,

) Iy Nues’s theory, under communism goods and setvices will be
dliilmted 10 meet people’s demands due to the fact that the na-
W 4 ussductive assets are collectively owned by the workers them-
”I“ "

I » 2.b lc 4.d S5.¢
A Yuwmumie, » Kakom opexiokeny “thet” smasercy CHOBOM-3aMECTHTE NEM,

w1 I s well known that different industries require different combinations
o b Lews inpuds,

b1 Lhie combination of factor inputs in manufacturing industries is not
thr satue as that in the service sector.

v 4 apeinl intensive industries are industries that Tequire larger inputs of
capilal and relatively smaller inputs of labour,

' € lmpes in the labour market are expected to affect production cost in
Inlnn iniensive industries more than that in capital-intensive ones.

#) 1w most efficient combination of factor inputs is the one that lets the
lnisniess carn the highest profit,

th 2.a,c lbd 4.d S.a,e

Bapuaur Ne 3
I Veammic upesioenns, b KOTOPLI CoBo “one” He NepeBOIATCA.
4} Il sl in low-lying areas is typically better than the one in the moun-
Lains.,

h) Une expects tourism to earn more profit in some parts of southern
haly than traditional agriculture, °

+ ) Aler the oil field is exhausted, one will have to think of ways of trans-
tesung this huge area to other uses,

2 hin 753 33



d) New oil fields are being looked for and developed now that old ones

are being exhausted.
¢) Land under early vegetables and flowers near big cities is considered to

be as profitable as the one used for housing,

Lbe 2.a,d,e 3.d 4.b 5.¢

2. VEamiTe NPRAIOHKeNNA, SPH Tepesoie KOTOPLX CIRIFET RCMOMKIOBITL CONO
<qTODM»,

a) Economics is the study of the problem of using available factors of pro-
duction as efficiently as possible so that society’s demands for goods
and services were met.

b) Economics is the study of the problem of using available factors of pro-
duction efficiently enough to meet society’s demands for goods and
services,

¢) Economics is the study of the problem of using available factors of pro-
duction efficiently for the purpose of meeting society’s demands for
goods and services.

d) Economics is the study of the problem of using available factors of pro-
duction as efficiently as possible for society’s demands for goods and
Services to be met.

¢) Economics is the study of the problem of using available factors of pro-
duction efficiently enough and to meel socicty’s demands for goods
and services.

l.b,c 2.a,b,d b

3. YeawuTe, 1ie “those™ ABARETCH CIOBOM-3AMCETHTLIEM.

a) There are various kinds of taxcs. Thosc are income tax, value-added
tax and others.

b) Negative tax income is a system o tax individuals having income above
a minimum level and giving tax credits to those below it.

¢) Production costs are those payments which a firm hasto make in order
to produce its output.

d) In the UK, taxes on income inciude personal income tax and corpo-
ration tax. Those are both direct taxes.

¢) Those costs that are necessary for producing higher-value outputs of
goods and services are called production costs.
1.b 2.a,d J.c.e 4,4,b 5.d

4. VKaKHTe Npe/UIOIKEHNS, [JIe CII0B0 “Iost” DepeBOUTCA KAK cambiiis.

a) In the modern world, most goods are provided by organizations rather
than individuals.

4.a,¢ 5.b,e

4

ht In swrd conniries, workers in employment make contributions to the

rl.m mllm-ul s0 that they can get unemployment benefits if they lose
wi ey,

v3 Jienncane unemployment rates is a most difficult task, since it is Jif’
:u uli to tneasure both the number of employed workers and the labour
iy

0 The goveanment’s most important task at the moment is not to let the
lis yapkevinient rate grow,

€3 thwe ety 1990s the unemployment rate was the highest in the UK,
hydn than in most developed countries.

la 2.a,b d.c,d.e 4.d,e 5.d

1 \wnmne APL/VIONERHA, KOTODLIE ABINOTCA nepesomoM Koro
NpaREALHLIM
LR R ] e
lpasn ¢ 1LCTEA HEOIA PEXYIMPYIOT MAKCHMAHLE YPOSHN ApeHANOH IIATH
SHlGpad WNGKED BHILTATHEATLCH APEHIATOPAMNY. '

b Cpae saments sometimes regulate maximurm rent levels paid by tenants
1o v nnirients sometimes regulate maximum levels of rent that is to be
pant by lenants,

¢ G inments sometimes regulate maximum rent levels that tenants
el vy

U Coveranents sometimes regulate maximum rent levels to help tenants
1o pay the rent,

* HOmweninents sometimes regulate maximum rent levels to be paid by
Irinis.

I e 2.a,b ib,c 4.8 S.d,e

Baprasr Ne 4
| \-uumn-.mwmmmmummmnmm.

2} When a new technology is applied, one can e i
, t

lubwour inputs and capital inputs, WPt changes both in

1 When a new technology is applied, there can be changes in labour
mpsls as well as in capital inpuis.

v 1 A nunager who applies a new technology can expect changes in labour
FRPCTINGS,

#1 A« hange in fuel prices can affect both capital and labour inputs,

11 With o change in fuel prices one can expect changes in capital and
Lsbusur inputs.

[ 2.a,¢e l.c 4.d S5.d,e
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2, Youarre mwmm,mmmxmmuwmmmﬁmbmm
«rroluis.

a) The investment was not big enough to replace all the equipment in the
factory.

b) The investment made was big enough and made il possible to replace

most equipment in the factory.
¢) The share of old equipment was too big and all of it could not be

replaced at one time.
d) The company needed investment in order 1o replace old equipment.

e) The share of old equipment was 100 big for all of it to be replaced al

one titne.
l.a,b,c 3.a,d, e 4,a,b 5.d

S.Mmupmmm,mmmmmmwmmmmmm
Yo, ’

a) The share of hard physical labour has decreased, which is considered
to raise the health standard in this job.

b) Economists presume the heaith standards in production process to
depend upon the ratio of labour and physical capital used,

¢¥ The combination of factors that is used in a particular production
process determines its efficiency and health standards,

d) The technology which is being used is efficient but does not provide

good working conditions.
¢) The trade union officer requires that the old technology be replaced

with the new one so that the working conditions did not affect the
workers’ health.
l.a,c

2.c,e

2.d 3.b,e 4.a,b S.e

4.Mmmmmm,nmpmmm“lhm“wmmm».

a) Those measures the government is taking 1o stop the growth of unem-
ployment are not effective enough.

b) The government is taking measures 1o stop the growth of unemploy-
ment. Those are subsidies to producers who provide additional jobs in
their enterprises, creating new jobs in nationalized industries, etc.

c) The government is giving subsidies to those producers who provide
additional jobs in their enterprises.

d) In order to stop the growth of unemployment it is essential to create
new jobs in nationalized enterprises as well as in those privately owned.

¢) There are vacancies to be fiiled both by highly qualified workers and by
those with little human capital.

l.a,b 2.d 4.¢ 3.c

J.a,c
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§ bnammie, e mivpumicTHe & HaYAIIe NPLASONCANS ABANETCA NOIIEKS
M.

a) b dune e additional income it i
¢ i it is common for farm i
i (un Iy of Lie USA and Canada to have a job «al(;:;whereWﬂws "
1) da bove two jobs, both on a farm and elsewhere is commc; i
with population in some parts of Canada and the’ USA " practce
13 lyemptoy additionat labour force at harvest time is oo-mm i
¥ it betwers n most couniries of the world o practice
W) Il tp thiean ac harvest time farmers i .
1S in most i
empdony achditional Tabour force. Fountries of the vorld
r1 b have additional labour for
rce 1o be employed arvest
Hive there tnst be some unemployment, pioyec on farms ac k

[ 2.d,e 3¢ 4. b, ¢ 5.b,e

Bapwaur Ne 5
1 Yanmunie apeusoienns, B KOTOpAX “one” SBAseTcA ClopoM 3aMeCTHTEIEM

w1 N equupnient in the factory sho
v dhi to depreciation, ¥ shotldbe replaced by more modern

I 'I. ‘l‘::-":ullull. ::,!:T:n(:;n;:a :::I be replaced in only one factory of all those
'l' it cency s the copiea et e ™ Crer 0 oep up
i |l..:-|'1: :'-‘I;::'::‘I:Iq?:::r]:::nt is one thing, to train workers to use modern
e e 1 e o

I b 2.1 ¢ 4.a,¢ S5.¢

I} Yammwie, apn HEPEROLe KAKAX UpelIokKetHl chexyer ynorpebRrmu cnono
aqpfigde,

#) 4 ik it lanes were not big enough and did i i
able i 1ense in otal spending.ugh not result I any consider-

)4 st ines were not big eno
to
m tabul spending, ugh to result in any considerable increase

CEE BIs g L were e ed i i i

- Xpected to sesult in an increase in total spend-
M Ve wan an increase in total spending as a result of tax cuts
v} law Cwere cut for an increase in total spending to be obtaine;l

i nb 2.b,e 3.c,d 4.b ' 5.a
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3.anmmmmmpmm”mwm
TPeGHTDL CIIONA «FOROPAT, YTO».

a) It is said that production subsidies are to re-distribute income by
reducing the price of essential products such as bread and milk.

b) The Prime Minister said that the government was ready to subsidize
those firms which would provide new jobs in the eastern part of the
country.

c) The government is said to subsidize wages as an incentive to busi-
nesses to provide more jobs.

d) Economists say government transfer payment system to be a form of
subsidy.

¢) Economists consider subsidies to provide incentives for increased out-
put of particutar goods but io affect domestic resource allocation
mechanism.

l.a, b, d 2.a,¢,d

4. YEaxuTe, B KAKHX HPeL0iernax “those” TRASETCR CIOBOM-3AMECTHTENEM,

a) The most valuable agriculiural resources are limited in supply. Those

are land and water.
b} In the 1980s, oil prices fell due toa combination of factors, including

the development of alternative oil fields, those in the North Sea in par-

ticular.
c) The farmers expect to improve those soils using due fertilizers and

careful cultivation.
d) Those methods of cultivation can be used on soils in the mountains as

well as on those in dry areas,
¢) The prices of organic fertilizers were reported to be lower than those of

mineral fertilizers.

3.c,d,e 4. a,e S.b,e

l.a,b 2.c,e 3.c,d, e 4.b,d, e 5.a,e
S.Ymmmnpemmnu.mopuemnmnmmmnemmm
(Hlero PYCCKOro MpeLI0Ienns;:

«Tonn FAIMOHAMGHONO FOX0AA, KOTOPAS MOXKET GHITL MOTPATCHA Hi HALHO-
Bansay® ofopoty, Eomefnerca B PAIHLIX CTPAHAXS,

a) The share of national income that can be spent on national defence
varies from country to country.

b) The share of national income spent on national defence varies from

country to country.
¢) The share of national income that could be spent on national defence

was different in different countries.
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0 Hin alune ol mational income .
i to be spent on na T
Hon s omniey Lo country, tional defence varics

Pl han ol national inc
i omme to be spent on natio is
b ud Iy ahe Padiament. il defence was dis-

t» Lac 3.a,d 4.a,b,c 5.¢
JIEKCUYECKHWH TECT Ne 3
Bapuanr Ne 1

I sl there exists structural unemployment in some developed

v oey, where i i
o ere people out of work receive high unemployment bene-

| Wurto  2.By 3. Bymeansof 4. Inorderto 5. According to

4 the new marketing policy of the company ... to be less effective than

the vl onie.

n Mhely b. proved c. uniike appeare
. d.
1. 2. b/c 3. bsd 4.a 5. a/::

¥ Ju ostalen 10 ... the loan the bank had i
wiaunts lent to other borrowers and ;man;cm funds by curting

2. lend out 3, give out 4. enable 5. handle

4\ peison or an organization that i p .
is an intermedi
winl s onsumers is called a ... . ary between producers

.I. ; wsiomer b, investor ¢, manufacturer  d. wholesaler ¢. retailer
, 2
2.e 3.a 4.d/fe 5.¢c/d
8 “wounlics are ... either on the money markets or on ... .
) mued, the Central Rank 2. traded, the Stock Exchange

V eschanged, felephone 4. raised, the Stock Exchange
3. repaid, clearing houses

# The mhation ... for 10 percent of the increase in population’s bank bal-

IR ',

| make

| gemed 2. explained 3. accounted 4. deferred 5. Jluctuared

7 Ve Prime Minister .., the imy €asures
i portance of ...
vope with inflation, " 10 be taken to
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1. meant, steady 2. argued, adopting 3. spoke, adjusting
4, explained, accepting 5. emphasized, speeding up

8. The ... price paid turned out to be higher than the advertised one
because of taxes.

1. actual 2. deferred . net 4. expensive

9, Financial institutions and the government handling ... lending and
borrowing transactions make up money market.

L. short-term 3. major
10. The most often used financial ... are shares, stocks, bills and bonds.

5. assumed

2. convenient 4, own 5. relative

1. eash assets 2. means of payment 3. media of exchange
4. securities 5 c:_m‘encles
Bapuapt Ne 2

1. The officially recorded level of spending last year did not grow ... the
recorded incomes, which means that part of incomes was spent illegally.

l.inlinevith 2. bymeansof 3. alongside 4. with exception of
5. outside
2. The expansion of trade between nations ... aid for depressed industries,
a, enables b, provides c. alfows d. lets ¢, ables
l.a/c 2.afc/d .d/e 4.b/cfe .5.b/c

3. Analyzing expenses, a manager normally ... capital inputs and labour
msmt

a. distinguishes between b. completes c. adds up
d. handles e. alters
l.c/d 2.b 3.d 4. 8/c j.e
4. Govemnment ... are known to be iraded on the Stock Exchange.
a. shares b. means c. loans d. bonds e. seciritles
l.a 2.d/e 3.cfe 4.d 5.b

&, Profit ... 10 be a firm owner’s reward for organizing productive activi-
ty, making innovations, 1aking risks, etc.

a.lsadded b.isargued c.proves d.isaccepted e iscalled
l.a 2.e 3.b/c 4.dfe 3.¢c

6w wpgeosed (o sell commodities to retailers but -.dhey sometenes
ety 1o consumers.

b Pondnoers, .:mﬂy 2. Manufacturers, relatively 3, Sellers, Sinally
4 Suppliers, eventually 5. Wholesalers, actually

7w tnnnons undertaking lending transactions ... borrowers,

U Ivesre, compete for 2. Varied, ? supply wi
' . , provide for 3. Various, with
4. Farticipating, dependon 5. VYarious, owe g

& “wane producers believe direct contacis with consumers without

whol cilers und other intermediaries to )
make th
mnl, more ... . eir output cheaper

I ths, wasteful

2. because of, efficient

3. therefore,
4. hence, diverse fore, compedtiive

5. since, relative

Y I ol lmancial aid often ... the agreem "
vetmlitions a8 ent to accept some political

| offer, conses 2. means, resulis in 3. cause, gives rise 1o
4. ucceptance, means 3. assumption, adopts

1% Vi hitng of tariffs is believed 1o ... international trade,

1 tomve 2. promote

3. ensure 4, give rise 1o 5. mean
Bopuant Ne 3

1 1he bepinning of “perestroika™ in the country a number of enter-
peda . wore unable to adjust ... new economic conditions,

L Afrer, by 2. Ar, with 3., ino 4, With, 10 5. In, for

# Hath povernment and individuals ... from d : .
ol devrcasing trode tarfls, PG tade relations

o gl b. waste C. aid d. ace
[ o 2. d/e 3.b Pl aske:

! Ix uecation ... to be important for correct calculation of production

WL AN

i anMimes b. argues C. accepls d. appears e, accounis
(| 2.bje 3.a 4. b/c S.e

¢ Tiimest ceonomies there oceur barter .
Hons .. alongside ... money transac-

4]



2. operations, with 3. exchange, with
4, swaps, with 5. exchanges, by

5. A rentier is a person whose income comes in the form of interest on ...
or rent from property.

1.wages 2. sight deposils 3. securities 4. bills 5. loans

6. Fertilizers and other chemicals are known to be sometimes ... and to
affect the environment.

1. competed 2. exchanged 3. aided 4. distinguished 5. wasted
7. The investment was not large enough to ... economic growth.

a, ensure b. emphasize c. determine  d.alter  e.speedup
l.a 2.afe 3b 4.c 5.d

8. The ... purpose of transactions undertaken by financial institutions is
to turn ... assets into investments,

l'msl"'

1. comparative, various 2. trade, short-term
3. current, bnterest-bearing 4. major, diverse 5. long-term, cash

9. ... instjtutions ... lending transactions are inchuded in the financial sector.

1. Various, doing 2. Compeling, withdrawing 3. Distinguished,
accepting 4. Responsible, promoting 5. Diverse, handling

10. Most commodities could be received ... barter in primitive societies.

1. finadly 2. withoust 3. by means of 4. with exception of
5. in exchange of
Bapuanr Ne 4

1. It is important for potential investors to have full information of the
companies competing ... capital.
L. jor 2.— 3.in 4. with 5. about

2. The interest barks charge for loans ... to be higher than the one they
pay to their depositors.

a.arelike b.issure c.prove d.certainly . have been found
l.afd b l.e 4.cfe S5.c

3. In order 1o ... steady economic growth it is necessary to attract larger
investment in industry,

42

a. enable b. ensure C. promole d. undertake . occur
1. b/c 2.ab 3.b 4. afc 5.d/e

4. Thousands of ... are known to ... with each other for consumers in the
computer market throughout the world.

L. mWadamm and producers, compare 2, manuifacturers and
suppliers, trade 3. trade-unionists and emplayers, coordinate
4. buyers and sellers, cid 5. retailers and wholesalers, compete

5. The forms of foreign financial ... are known to be ..., investments and
some others.

1. aid, loans 2. transaction, wealth 3. competition, innovations
4, wholesale trade, loans 5. stores, currencies

6. Economists of different schools .., for the rapid growth of money sup-
ply in different ways,

\. took responsibility 2. emphasized  3.argued 4. accounted

5. distinguished
7. Securities are ... by companies, financial institutions and governments
asa ... of borrowing money.

1. made, gain 2. handled, result 3. stored, medium
4. traded, acceptance 5. issued, means

8. ... trade barriers are lifted both among the World Trade Organization
members and ... the organization.

L. These days, of 2. Nowadays, outside 3. Relative, throughout
4. Diverse, with 5. Major, within

9. The ... rate of unemployment this year is higher than the previous year,
L. steady 2. comparative 3. anticipated 4. temporary 5. inflationary

10. A debt is something an individual or a firm owes ... another individ-
ua) or firm,

Lt 2. for 3. with 4, - 5. by

Bapuant Ne 5
1. Microsoft is recognized as the leader in trading ... software ... the world,
L for, thought  2.— in  3.with,in 4.in, throughout 5. by, in
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2. Profit ... to be a form of value added.

a, promoles b. proves c.pursues  d.fumsouwr €. presumes
L c/d 2.b/d 3.a 4. e 5.d

3. The government considered the Central Bank to be responsible for the
fall in government bongs prices that had ... three days before.

a. anticlpated  b.owed c.occurred  d. happened  e. depressed

I.a 2.¢/d 3. b/c 4. e 5.d
4. ... a lot of ... want to withdraw their deposits at one time, a financial

panic occurs,

a. Whether, borrowers b, Whenever, depositors  ¢. Provided, clients

d. Because of, investors  e. In addition o, clients
l.a 2.d 3.d/e 4. bfc 5.b

&5, Diverse institutions ... lending ... make up the financial sector.

1. undertaking, operations 2. handling, loans 3. undertuking,
transactions 4. withdrawing, customers 5. making, loans

6. Having been ... , ... can be bought and sold either on the money mar-
Kets or on the Stock Exchange.

1. issued, interest-earming deposits 2. traded, bills 3. swapped, bonds
4, purchased, shares 5. Issued, securities

7. A country normally receives foreign economic ... , provided it ... a cer-
tain policy.
1, gid, implemenis 2. wealth, pursues 3, loan, adopts
4. long-term securities, conducis 3. aid, accepts

8. His manner of running his business is ... , which is sure to result in
bankruptcy.

1. depressed 3. interest-bearing

2. convenient
4. wasteful 5. long-term

9. The ... investment being made in financial securities, the invest-
ment in real economy was not large enough to maintain ... economic
growth,

L. major, tight 2. major, steady
4. expensive, permanent

3. interest-bearing, convenient
5, eventual, rapid

10. In a/an ... world market each country takes the existing price of the
commodity as given,

L. comparative 2. particular 3. competitive 4. diverse 5. adjusting

F’PAMMATHYECKHWH TECT Ne 3

Tpesposounas pafioTs Ne 3
1. BuiSepaTe B CAYIOHIEM UPEIVIGHKEIINA NPABLILITYI0 (DOPMY HPHIACTUN:

. the loan, the firm did not have enough profit left to increase divi-
dends,

L. Repaying 2. Being repaid 3. Having been repaid
4, Having being repaid 5. Having repald

2. Yxanuire, MpK nepeso/ie KAKHX AHIMHACKEX npeasaxenull crelyeT yuorpebars
chos aqrobis, .

a) Tariff and non-tariff barriers are imposed on imports for domestic pro-
duction to be expanded,

b} It is important to know that there can be imposed tariff as well as non-
tariff barriers on imports.

c) it is necessary that tariff and non-tariff barriers be imposed on imports
if domestic production is to be expanded.

d) It is necessary to impose tariff and non-tariff barriers on imports if
domestic production is to be expanded.

¢} It is common practice 10 impose tariff and non-tariff barriers to
expand domestic production,
1.b 2.b,d 3.a,c 4.c 5.a,c,e

3. Viasgute, npu RCPEBONE KAKIX UPCIVIONEISH CCYET YROTPEOHTE «90M ... TEM ...

a) The larger the wealth to be invested, the larger the demand for time
deposits.

b) The more rapid inflation of the previous year means the quicker deval-
uation of bank deposits,

¢} The lower value of national currency gives rise to the larger exports.

d) The higher revenue is due to the higher labour efficiency.

e) The higher is the inflation rate, the more unlikely money is to be used
as a store of value.
I.b,c 2.a .o d 4. e S.a,¢e
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4. BuGcprve npasiisHkii Bepeno cREIYKMEro PYOCKOT0 Bpamoaehase
«Coolmaercs, yTo B YeazaHiLii neprod Temn ninhaampm goctrr 18%-.

a) The inflation rate was reported to have reached 18 percent it the peri-
od in questiot.

b) The inflation rate is reported to reach 18 percent in the period in ques-
tion.

¢) It is reported that the inflation rate reached 18 percent in the period in

guestion.

d) The inflation rate is reported to have been reached 18 percent in the
period in questiot.

¢} The inflation rate is reported to have reached 18 percent in the period
in question.
l.c 2.d 3.3, 4. b S.c,e

S.Buﬁmnmmumomm“mmummmz
“Imterest rates are likely ... when an easy fiscal policy is implemented™.

1. to raise 2. to have raised 3. to have been mised
4. to be raising 5. to be raised
’ + Bapuant Ne 1
1. Vkaxure, npd nepesolle KAKHX UPCIIOKEHHE cReAYeT YnoTpeOwie «eM ...
TEM ...P.

a) The greater difficuities in coping with unemployment in the Europe of
the 1980s meant the stronger challenge for economists to account for
it.

b) The worse chance for the firms and individuals to borrow was due to
the governtmeni borrowing.

<) The larger quantities consumed of goods result in the larger indirect
taxes paid.

d) The greater the budget deficit, the more the government has to borrow,

¢) The lower tax rates do not always result in the higher aggregate
demand.

l.a,b 2.¢c,e 3.d 4.d. e 5.a

2. BuBeprre npapnmshii nepesolt CleAYIMnEre ARMHACKONO OPEnIOMEHAN:
“The discount rate was reported to be ralsed.”

a) YdeTHas craBKa, KaK coobmaeTcs, GbLIA MOBRIICHA.
b) YueTHas cTaBKa, KaK coobinanock, GkUta MOBRINEHA.
¢} CoolLuaeTes1, YTo yyeTHast CTABKa AOBRICHTCH,
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d) CooOHIANOCE, YTO YueTHas CTaBKa Gyer NoBkiciL,
¢) Coob1IaeTcs, YTO YHETHAA CTABKA TIOBKLUAETCS.
l.c, € 2.d 3.a 4. b S5.¢.d

3. BuiGepiTe ApABKALNYI0 $OPMY OPEIACTHS.
, taxes and interest rates increased household consumption.

a) Reducing b) Rea&wed c) Being reduced o) Having been reduced
l.a 3.c 4.b,d 5.4

4. YKaxATe, NPH Depesofie KAKHX AHDAHCENX npeloXKenRil ciefyer HeoTb30-
BaTL NPHAATOAHEE EPEIOKEHNA, BEOIHNLE: COKIOM «KOLIA».

a) Having been established in the 17-18th centuries, nation-states made
international trade assume its present form.

b) When established in the 17-18th centuries, nation-states made inter-
national trade assume its present form.

<) Whenever a transaction is handled nowadays, it is handled between
producers from different countries, not between nations,

d) Beginning to assume its present form in the 17-18th centuries with the
establishment of nation-states, international trade has continued to be
developed both theoretically and practically up to now.

¢) Nation-states being established in the 17-18th centuries, international
trade began to assume its present form.

l.a,b, e 2.a,b 3.b,¢c 4.b,c,¢ 5b,cd

5. BuiepHTe NPaMUIBEYI0 dopry HEQIRTHRA:

Transactions in euro are known to ... as soon as the new currency was
introduced.

a) have made b) be made c) make d) have been made
€) been made
l.a 2.b 3.c 4.d S.e
Bapuanr Ne 2

I. ¥xaxdTe, B KAKHX OpeI/HRCHASX AMPMHNTHE DepenoMTCA Aa pyCCKHl faumy
MaronoM B OpoIleTINeM BpeMeli.

a) The inflation could have been anticipated and adjusted to much better
b) The inflation rate proved to be higher than anticipated.

¢) The inflation must have been anticipated.

d) The inflation appears to have a bad effect ot investment climate.



e) The inflation rate proved to have increased.
l.a,c 2.a,c¢ 3.b,d 4.a,d S5.c,e

2. 1lpx nepepofie KAMHX ARMMHCEMX npentomesns cleTyeT yYnoTpelums cnoso
«arobpps?

a) It is desirable to keep the exchange rate steady as long as possible,

b) It is desirable that the exchange rate should be kept as low as pos-
sible.

c) To keep the exchange rate steady is the responsibility of the Central
Bank.

d) The exchange rate of national currency should be kept as low as pos-
sible for exports to grow.

e) To keep the exchange rate of national currency low means to increase
foreign demand for domestic output.
1.b 2.a,b 3.ce 4, b,d 5.¢

3. Vknkure, NpM DepeRolte KuRKHX mpeanckehuit chenyer yoorpebrms croso
«BLIHY,

a) Being vsed as a medium of exchange, money makes an economy less
wasteful],

b) The economy has become less wasteful since the share of barter
exchanges began'to decrease,

c) Provided used as a medium of exchange, money makes an economy
less wasteful,

d) The share of barter exchanges having decreased in the total humber of
exchanges made, the economy started working more efficiently.

e} Money being used as a medium of exchange, individuals and firms can
buy and sell more easily and less wastefully.
l.e,d 2.d,e 3.a,ce 4.c,d,e 5.b,ce

4. Bulepire npasiyie GdopMy apauacTai.

... s the required reserve ratio may work as a disincentive for banks to
make loans.

a) Raising  b) Raised  c) Beingraised  d) Having been raised
l.a 2b 3¢ 4.4 S.c/d

5. BubeprTe NpanuuniLiii nepesoll CAEIYIOMIETO PYCCKOTO Npel/IKERRs;
«ITo-Buanmomy, cTpana Z0GLETCH CRABMMTE/ILHOIO GPSHMYILECTEA B CAMONETO-
CTPOCHHH»,

a) The country is likely to have obtained a comparative advantage in pro-
ducing aircraft,

b) The country is likely to have been obtained a comparative advantage in
producing aircraft.

¢} The country appears to obtain a comparative advantage in producing
aircraft,

d) The country proves to have obiained a comparative advantage in pro-
ducing aircraft.

¢) The country is likely to obtain a comparative advantage in producing
aircraft,
L.g, e 2.a,d b 4.¢c,d 5.¢

Bapuant Mo 3
1. Bafepare npassisayio GopMy MpHYacTRN:
... low during & depression, interest rates do not serve as an incentive to
keep savings in time deposits,
a) Being  b) Hovingbeen  c) Being been  d) Having being been
l.b 2.a,¢C T 3.d 4. a 5.¢/d
2. Bullepure npamwiibhyie dopaty nndHEETHRA:

Wholesale markets are believed .., the supply of arban population with
foods as compared with the past.

a) lo have improved b) to improve c) to be improving
d) o be improved e) 1o have been improved
La 2.b Je 4.d S.e

3. ¥xampTe, opH nepedode KaKaX OpelUiodenmil CHCNYeT HCNOIL3OBATL CJIOBA
<THK KaK».

a) Demand increasing due to international trade, domestic employment
Zrows.

b) Domestic employment grows, for international trade enables a nation
to expand production.

) Having been expanded due to international trade, production requires
more workers,

d) Having expanded production due to intetnational trade, a nation gets
more jobs,

e} International trade increases demand for domestic output, therefore
domestic employment grows.
l.a,c 2.a,b,c 3.¢,d 4.a,c.¢e S.be
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4. Yxaxure, npu nepesofie KAKHX ARIMICKAX IpenioXensdt chenyer ynoTpeSurs
CNOBO «TTo0bI»

a) The government has to borrow from the Central Bank to pay the debt
to the IME

b) The government has to borrow from the Central Bank for its debt to
the IMF to be paid in due time.

¢) The debt is most likely to be paid in due time.

d) It is highly important that the debt to the IMF should be paid in due
time.

€} It will be necessary to borrow if the debt is to be paid in due time.
l.a,b 2.a,b,e 3.ab,d 4.c,d S5.a,e

5. BuSepaTe NpaBHIIBHLI NepeRay CHGAYIMEN0 PYCCKOT0 NPENI0REHNs;
«Batno coobmento, 470 30/10T0H pe3eps Pocctn IMATATEEHO YR IIKICA 32 N0-
caenanii roni».

a) Russia’s gold reserve is assumed to have considerably increased last
year.

b) Russia’s gold reserve has been found to considerably increase last year,

c) Russia’s gold reserve has been found to have considerably increased
last yeay,

d) Russia’s gold reser've was reported to have considerably increased last
year.

¢) Russia’s gold reserve have been reported to have considerably
increased last year.
l.a 2b 3¢ 4.d,e 5.d

Bapuant Ne 4

1. ¥iaxsre, opx Bepesoso KAKNX Nperiomsemii Be CHIYeT yIOTpeliams «eN ...
TEM ...».

a) The tighter the monetary policy, the slower the money supply
growth.

b) The earlier the Central Bank detects a slowdown in the econom-
ic activity, the earlier it can take measures to alter the monetary
policy.

c) The stronger influence of monetarists among American economists
accounted for the more thorough control of money supply.

d) The more rapidly an economy adjusts to inflation, the more Likely it
will reach hyperinflation.
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¢) The higher the reserve requirements, the smafler the amonnts i banh
can Jend out.
l.a,b 2.d 3.c 4,¢,d Se

2. BuGepirTe npasmnayio Gopuy undusmina:
The bank is expected to ... a big loan in the near future.

a) make b) be making <) have made &) have been made e} be made
l.a 2.b 3.¢c 4.d S5.¢

3. BribepaTe npananciEEl epeson CIENYIOMEro PYCCKory peikenn;
«HasecTHo, 9To MeXAYRApOARAA TOproaaA npolpe/ia caoe coBpeMenioe co-
croamse 3 XVII—XVIIL nexaxe.

a) International trade is known to assume its present form in the 17th-
18th centuries,

b} It is known that international trade assumed its present form in the
17th-18th centuries.

¢) It is known that international trade has assumed its present form in the
17th-18th centuries. .

d) International trade is known to have assumed its present form in the
17th-18th centuries.

¢) International trade is known to has assumed its present form in the
17th-18th centuries.

l.c,e 2.b,e 3b,d 4.a 5¢
4. Veaxare, npk Depesofie KAKHX UPELIONeNHi crefiyer ynorpefume cnose
“BCTR».

a) Inflation being anticipated, an economy can adjust to it more rapidly.

b) The inflation rate having grown rapidly, the costs of inflation became
more difficult to cope with.

c) Provided anticipated, inflation can be adjusted to more rapidly.

d) If rapidly adjusted to, inflation is likely 1o lead to hyperinflation.

e) Having been adjusted to, inflation did not cause bad social trouble.
1.b,d 2.a,b,d 3.c,de 4.a,c.d 5.b, e

5. BuGepaTte HpABWILIYI0 (OpMY DPHIACTRE:

... in payment of purchases, cheques are considered by some econo-
mists as forms of money.

a) Accepting b) Being accepted ) Being been accepted
d) Having been accepted

l.a 2.b/c b 4.0 5.d
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Bapmaur Ne 5

L. Buleprte npanuhamil NepeBo CITYHMLEND AHDIHACKONO DpeoikeHn:
“The demand for time deposits is said to grow with an inercase in houschold
incomes.”

a) Cnpoc Ha CPOYHEE BKISIB, KaK TOBOPAT, BO3POC € YBEIHUEHNeM 10-

X0B0B ceMedt.

b) loBopHAM, YTO CHIPOC Ha CpoYHEE BKIAIE BO3POC C YBEHUECHUEM
NOXONOB ceMel,

¢) Crnipot Ha CPOYHEIE BKNANL, KAK NOBOPAT, BO3PACTAST ¢ YRSJTHUCHMH-
€M foxXonoB ceMeit,

d) IopopsiT, ¥To cNpoc Ha CPOMHBIE BKARIR BOIPACTAET ¢ YBETHUEHHEM
JOXOHOB cemelt,

¢) Cnpoc Ha CpodHEe BRAAAR, KAK FOBOPHIIOCH, nospame'r C YBeAHYE-
HHeM noxonos ceMell.
I.c 2.¢,d 3.a,c, 4.e 5b

2. ¥axuTe, NP NepeBolle KAKHX Opetiodenmil cHelyeT ReNoNESOBRTHL CloBa
#TAK KaK».

a) Having been increased by means of intemational trade, competition
makes domestic firms raise efficiency of labour.

b} Domestic firms have to mise efficiency of their production due to
stronger competition from foreign producers,

c) International trade increases competition among producers, hence
domestic firms have to raise efficiency of labour.

d) Domestic firms have to raise efficiency of their production, for inter-
national trade increases competition among producers.

e) International trade increasing competition among producers, domes-
tic firms have to raise efficiency of their production.
L.b,c,d 2.c,d,e 3.a,de 4, a,e 5.b.d

3. Veakirre, B Kakux 0peVIOMeHax un(uUEHTHE DepeBoIKTCH AR PYCCKu Sy,
DIATOJIOM B OPMICANIEM BPEeMen.

a) High unemployment benefits are likely to have caused more unem-
ployment.

b) Money is known to have been used since early times.

¢) New forms of money appear to be constantly introduced.

d) The government could have received more tax revenue,

€} The loan was likely to be repaid in time.
1.4 2.a,b,d 3.c 4.a,b 5.e
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4. Bruepsre npasnitnyio dopMy npRYacIHs:

... by different schools of economic thought, causes of inflation were
accounted for in different ways,

a) Studying b) Being studied c) Having been studied
l.a 2.a/b 3.b/c 4.b 5.¢

5.YIps nepesofie KAKHX ANTMACKEX Epeftoesni crexyer ynorpelams crioso
«xrobBis?

a) It is necessary that developing economies attract investments from
abroad,

b) For depressed industries to be developed, investments from abroad
may be needed.

c) It is often necessary to atiract investments from abroad if depressed
areas are fo be developed.

d) It is common practice with developing economies to attract invest-
ments from abroad,

e) Developing economies with depressed industries are known to attract
investmenits from abroad. *

l.a 2,c,d 3e 4.a,b 5.b.d
JEKCWYECKHWU TECT M\ 4
Bapuanr Ne 1

1. ... accounting data are comparative, managers will not be able to use
them for proper managerial decision making.

a) when b) provided ¢y untit d) unless e)if
l.bfe 2.a 3d 4, b/d S.c

Z. At the annual meeting shareholders can vote to ... a new company
director.

a) fire b) hire <) promoie d) sack ) employ
1.a/d 2. bfe 3.cle 4, b/d 5.a/c

3. A company working efficiently pays higher ... to its employees than its
competitors,

a) dividends b) wages C) fees d) salaries e} payments
1. afc 2.b/e 3.¢c/d 4, afe 3.bA
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4. Duc to some unexpected reasons the .. plan is likely to fail.

1) durable b) eventual c) trial d) initial ¢) original
l.d/e 2.a/d 3.b/e 4. a/c 5.b/c

3. To maintain a relatively high level of living standard LDCs should ...
with as many countries as possible.

8) cooperate  b) compete ) contribute d) create  e) collaborate
1. ajc 2.b/d 3.c/d 4. afe 5.b/e

6. Sgecial trade tariffs can be imposed on a few major commodities to
raise ..., but not to protect trade.

a) benefits b) incomes c) profits d) revenues i
l.a/b 2.c/d 3. bre 4 afc e;-gg;i;s

7. Aiming to have a ... trade balance, any country is interested in export-
ing more goods than importing, .
a)annual  b) favourgble c) adverse Q) positive  ¢) invisible
I.c/d 2. a/e 3. b/d 4, c/e 5.a/b

8. Creqitors’ rights should be ... possible unexpected losses by signing a
special agreement before making the loan.

L pret;enwd from, 2. provided with 3. protested against
4. compensated for 3. protecied from

9. Consumers have already ... of the convenience of buying expensive
goods (cars, TV sets) on credit terms,

a) anticipated  b) accepted c) attracted  d) approved ¢) adopted
Lah 2.d 3.bd 4. e 5.¢

10. Tt::lacuwty of a... is known to be annually inspected by independent
auditors,

a) partnership b) family business <) public corporation
d) sole proprietorship €) fransnational corporation
1.b/c 2.a/c 3.bd 4, cle 5.a/d
Bapuanr Ne 2

L. ... the secret information is encrypted, there can be a danger of foreign
interference.

ayif b} uniess ¢) provided d) unlike e) until
l.d 2.b Ja 4.¢ 5.a/c

2. Even if some assets were ..., from business, the company would be cle
of debt,

a) withdrawn.  b) withdrew  c) took back  d) taken back e) retumed
l.afe 2.¢c/d 3. bfe 4.a/d S.bfc

3. Stock-in-trade including goods ready for selling is known to betong
to ... assets.
a) intangible b) long-term  c) noncurrent  d) tangible e) short-term
1.bfe 2, afc 3.d/e 4. a/b S5.¢c/d
4.To compete successfully wholesalers should provide quicker ... of
goods from their stocks directly to customers.
a)delivery  bysupply  c)deliver  d) transfer e) circulation
. b/c 2, afe 3.c/d 4.d/e 5. a/b
5. In European countries the income tax declaration must be ... by a per-
son to the state revenue service in due time.
a) flourished  b) promoted  c) provided d) rendered  ¢) filed
L. cfe 2.¢/d 3.a/b 4, a/d 5.b/e
6. A person who is personally interested in high company’s incomes is
called ... .

a) a customer  b) asharcholder  c) a consumer d} an auditor
€) a stockholder
1.b/d 2. afc 3.b/e 4.cle 5. a/d

7. Managerial ... should be reduced in order to spend more motey on
innovations.

a) losses  b) borrowings  c)expenses  d) expenditures €} cost
1.b/d 2.afe 3.c/d 4.b/c S.a/d

8. According to the sales data the .., year wasn’t successful for the com-
pany’s business.

a) following b) previous ¢} current d) last ¢) next
l.aje 2.c/d 3.a/b 4. cfe 5.b/d

9. The insurance company should be ready to ... ... compensating the
losses of its customers in accordance with the contract.

a) agreeon  b) agree with c)adoptto  d) approveof ¢) agree fo
l.c/e 2.d/e J.ajc 4.b/d 5.0/b

hh)




10, Such services as selling consumer goods, theatre and air tickets have
become a ... branch of the Intemet development.

a) facilitating b) successfid <) supporting d) flourishing
e) commercial
l.c/d 2.b/e 3.a/c 4.b/d 5.afe

Bapuant Ne 3

1. Having been engaged in speculative operations, the company is said to
have ....

a) disclosed V) dissolved  c) facilitated  d) foiled  e) prohibited
1.cfe 2. afc 3.a/d 4, bfg 5. bfe

2. The access to the Internet system will be limited-... the price for this
service remains as high as that,

a) unkif b) provided c) when d) while e) tunless
l.b/d 2.bfe 3.a/d 4.afc S.cle

3. The writer's .. for his work is limited by 75 years from the date of pub-
lication. *
l. innovation 2. copyright 3, invention 4. trademark 5. patent

4. Owning property somewhere abroad, the govemment is ... to foreign
taxation,

a)llable b)reliable  c) subjected  d) required  e) responsible
l.a/b 2.d/e 3. a/c 4.b/Md S.cle

5. Nowadays the development of the ... educational systems is supposed
to be of great importance for people living in small towns.

a} relative b) diverse c) disiant d) remote ) secure
1.b/e 2. a/d 3.ahb 4. cle 5.¢/d

6. ... have the right to ask for a quality certificate for any good offered.

a) credifors b) employees c) stockholders d) customers e) consumers
l.d/e 2.b/c 1. bfe 4. a/d S5.a/c

7. If a new commodity is introduced, ... calculations of the expenses for
its preduction are to be done.

L. previous 2. permanent 3. preliminary 4. profitable 5. particuler
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8. Having designed the Internet site, the company is sure (o ... the adwer-
tising of its goods.
a) elaborate  b) promote  ¢) facilitate  d) collaborate  e€) contribute
L byd 2.cle 3. afe 4. afd 5.b/c

9. A set of concepts and principles ... the main assumptions that should
be considered by an accountant,

a) deals in  b) discloses c) performs d) deals with €} concentrates in
l.afc 2.b/d 3.b/e 4. c/e 5.a/d

10. In bookkeeping, ... ... are usually converted into cash within one year
and can be used as a means of payment.

1. annual accounts 2. accounts receivable 3. accounts payable
4. income accounis 5. assels accounts

Bapuanrr N 4
1. Records relating to possible future losses and risks should be done ...
they are expected.
a) provided b) if ) unless d) until ) as
1.b/e 2,a/d 3.afb 4. cfe 5. d/e

2. ... are documents showing what part of the company’s capital belongs
to their owner.

a) Bonds b) Loans c) Stocks d) Taxes ¢) Shares
l.¢/e 2.b/d 3.a/e 4.a/b S5.¢/d

3. Companies keeping ... accounting system are able to allocate scarce
resources in a more rations} manner.

ayalternative  b)previous  c)accuracy  dydue &) accurate
1.b/d 2.a/c 3.d/e 4.bjc 5.a/c

4. Being personally liable for all business debts. a sole proprictor should
undeystand all .., of this form of ownership.

a) drawbacks b) ervors ¢ fallures d) obligations e) disadvantages
l.c/e 2. b/c 3.b/d 4. afe 5. n/d

5. A certified expert who represents his independent opinion concerninu
the company’s activities is called ...
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2. acreditor 3. an auditor
5. an employee

6. The government has adopted laws ... monopolies ... total control of a
particular branch of industry,
1. preventing, from 2. preventing, of 3, compensating, for

4. protecting, from 5. ohjecting, 1o

7. Provided employees ... private company information, they would be
sacked immediately.
a)swapped  b) delivered  c)disclosed  d)dealt  e)spread
1.b/e 2.a/b 3.a/d 4. ¢cfe 5.c/d

8. Due to the ... situation on the Stock Exchange the national currency
exchange rate is rather low now,

a) inferior b) inefficient c) adverse d) unfavourable ) disadvaniage
1.a/d 2. b/e 3, a/b 4.cfe 5, ¢/d

9. The number of small businesses ... such services as shoe mending or car
repairing is rather high in most countries.

l. an accountant

4, a bookkeeper

a) rendering  b)Imvolving  c) specializing d) providing
e) participating
1. b/c 2.a/d 3.a/b 4. cfe 5.d/e

10. Secure intraworks allow partners to ... each other easily at any
time,

a) participate b) connect c) adjust d) cop e) link
1a/b 2.cle 3.b/e 4.a/d 5.¢c/d
Bapuasr Ne §

1. New ... means of communication are being elaborated for linking
computers in networks,

a) relative b) renewable c) reliable d) sufficlent ¢) safe
1.b/c 2. cfle 3. afe 4.b/d S.a/d
2. The board of directors ... getting a bank loan at a such high interest
rate.
a) objected against b) objected to ) protested from  d) protested 1o
€) protested against

l.c/d 2. a/b 3.b/e 4.a/d 5. cfe
3. Several speculative companies had operated in Britain early in the I§th

century ... their activity was prohibited by a special Act.

a) unless b)if c) provided d) unril e) before

1. a/b 2.b/d 3.cle 4. dfe 5.afc
4. Deweloped countries ... enough goods to meet domestic needs are

expanding exports to LIDCs,

a) facilitating b) generating c) creating d) producing ¢) elaborating

l.d/fe 2.b/c 3.b/d 4.a/e 5.a/c

5. Both wages and salaries paid within a month are referred to ... liabili-
ties.

a) current  b) long-term  c) tangible  d) intangible ¢) noncurrent
1. b/e 2. b/c 3.dfe 4. ajc 5.9/d

6. Public corporations are known to be ... as well as strictly controlled by
the government,
L. surrounded 2. supported 3. subjected 4.spread . supposed
7. The number of ... handled through the Internet is constantly increas-
ing throughout the world,
a) deliveries b) flows ) sales d) transactions e) trade
l.c/d 2. afe 3.a/b 4.c/e 5.b/d
8. Technological achievements have brought a lot of ecology problems as
well as ... of economic growth.
1. gains 3. benefits 5. profits
9. Different specialists can ... in creating the original company trade-
mark.

&) agree b) participate c) be involved d) concentrate e¢) be attracted
L. afc 2. afe 3.b/d 4.d/e 5.b/c

10. A highly experienced person whose task is to prepare the main finan-
cial statements of the company is called ...

1. a shareholder 2. an accountant 3. a bookkeeper
5. a proprietor

2. incomes 4, revenues

4, an auditor

59




TPAMMATUYECKHI® TECT Ne 4

Tpesmpopounas pabora Ne 4

1. BufepiTe oworNamie BPLI0KCHAS:
“If the economy had run a balance of payments deficit, individuals ... “

a) would have withdrawn money from circulation to purchase foreign
goods and assets.

b} would withdraw money from circulation to purchase foreign goods and
assets.

c) will withdraw money from circulation to purchase foreign goods and
assets,

d} would withdrawn money from circulation to purchase foreign goods
and assets,

e) could have withdrawn money from circulation to purchase foreign
goods and assets.
l.a,b 2.ce 3.b,d 4.d,c S5.a.¢

2. Ykaxure, B KAKHX DPELIGReHHAX OPK Bepesofie cacayeT yiorpebam «pim To-
10 yroGL,

a} In case of a sole ;Jnoprietorship the amount of money that can be bor-
rowed is known to be limited by the assets belonging to the owner.

b) To transfer credit card numbers or electronic funds transfer orders it is
essential to encrypt such kind of information.

) A work must be both originaj and recorded in some permanent format
(written down, stored on a computer disc tc.) to get a copyright pro-
tection.

d) Only Certified Public Accountants are allowed to estimate the accura-
cy of a company’s financial statements following accounting princi-
ples.

¢) To deliver information as guickly as possible is one of the main func-
tions of the Internet,

l.a, e 2.b,d 3.ce 4.a,d 5.b,¢c
3. Vaxure, npH nepesoie KaKux npestodenult cnopyer ynormpelame croso
<HAMEHBO>.

a) According to statistics it has been found that the sole proprietorship is
the most popular form of business in the USA

b) It is necessary that the tax accountant should be informed of any
changes in state or local tax laws,
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¢) It is electronic directories and various search systems that allow to find
any information in the Web easily.

d) It is known that the first electronic programme elaborated for
accounting system became available in the 1980s.

e) In most countries it is specially trained inspectors who examine a
patent application and review previous inventions before a paient can
be registered.

l.b,d Zac 3.d,e 4,ab S5.c,e

4. BuGepetre npasiinuyio $opMy repyrmss:
“Government officials spoke of this company’s business activity ... due to ilegal
use of famous trademarks for selling its low-quality goods.”

L. Being prohibited 2. prohibiting 3. having prohibited
4. Is prohibiting 5. having been prohibited

5. Yaxure, B KaKHX MpeIOMEHKAX CoBo “recording™ NepeBOINTCH CyImecTER-
Te/HLM.

a) A bookkeeper recording all data accurately is sure to prepare a trial
balance in time.

b) The recording of wages earned by employees results in the increase in
the wage-expense account known as a debit,

¢) Recording each journal entry on a planned side of its account, a
?meeper should place & special mark in the post column of the
jo .

d) Recording a transaction in a journal means the starting point for the
double-entry bookkeeping system.

e) Recording data about moral and physical depreciation of tangible
assets, one can estimate the vseful period of their life.
l.e,e 2.a,e ibc 4.a,d 5.b,d

Bapuamr Ne 1

L. YiaxTe, » KAKHX Mpesioxesax cioso “calculating” nepesozntes cymecTsa-
TeRHMM,

a) Calculating periodic depreciation of capital assets, one can estimate
the period of their useful time.

b) Accountants spoke of their calculating different figures such as taxes,
salaries, etc. using this new reliable computer programme.

¢) Before calculating debit and credit balances a bookkeeper should post
data to the general ledger.
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d) The calculating of the goodwill value is impossible as it belongs to
intangibfe assets.

¢) Stockholders calculating their future dividends should not forget about
double taxation of the corporation profits.

l.a,c 2b,e 3.a,b 4.d,e S5.¢,d
2. Ykaxdrre, B KAKRX IPe/LIORLRHIY IPH NepeBole CeayeT YNoTpeSHTh COM3 «K0-
TopeTliv.

a) The amount of money to be determined as the net worth means the
investment interest for the stockholders of the corporation.

b} It is the fundamental accounting equation that a bookkeeper uses for
preparing the balance sheet.

¢} The rent, wages and salaries are included in overhead expenses that are
usually recorded by a bookkeeping department.

d) 1t is necessary that the government foreign policy should be aimed at
maintaining a favourable balance of trade.

¢) To attract customers’ attention retailers may reduce prices for goods
for a definite time period.
l.c,e 2.a,d 3.a,c 4.b,d 5.b,e

3. Yramire, B KAKHX NPe/LIOKEHHNX NPH DepeRolie CRAYET YOOTPeOHT: SacTHIY
«Dbts.

a) Favourable conditions for developing foreign trade will be created if
governments reduce trade barriers on imported goods.

b) If a government policy supports depressed domestic economy sectors,
it will facilitate the economic growth of the whole economy.

¢) Unless a business had issued bonds, it would not have raised enough
capital funds,

d) Provided employees do not require money in cash, their salaries can be
paid by cheques or straight into bank accounts,

¢) If the company introduced modern inventions, its business would
flourish.
L.ce 2.a,¢c 3be 4.d, e 5.a,b

4. VEazmTe, B KaKHe DPEIIOKEARS MOXKBO BCTABNTE C013 “until”.

a) The import of a good or service results in making the buyer a debtor ...
the final payment is made,

b) The practice of double-entry bookkeeping is likely to have appeared
long time ... a detailed description of this system was published.

c) Pirate copies of video cassettes will continue to appear at the “black”
market ... more strict laws are adopted by the government.
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d) ... the countries had signed trade agreements, dilferent trade banniens
restricting rapid development of commerce were removed.

¢) A joint-stock company has been formed recently, ... a group of husi
nessmen decided to combine their assets.
l.b,d 2.a,d 3.c,e 4.a,c¢ 5.b,e

5. BuifepHTe IpapRIbHYI0 GopMY FepyYHIHT B NPEAIOKSHNN:
“Government officials insisted on the couniry’s debts ... to the International
Monetary Fund in time according (o the agreement.”

1. repaying 2. beingrepaid  3.repaid 4. having been repaid
5. having repaid

Baprant Ne 2

1. BoiGepHTe TPABRILIYI0 GopMY TePYHANA B IPEAI0NCHHN:
*“The error in the trial balance is due to the fmancial information ... inaccurate-
ly at the first step of the accounting cycle.”
. having been recorded ). being recorded 3. having recorded
4, recorded 5. recording

2. Yaumute, B KaKne DPINOKeHNA caeayeT BCTABHTD Colo3 “unless™.

a) The GNP cannot be defined ... varicus sectors of economy are not
analyzed.

b) Business partners can avoid any conflict ... their rights and obligations
are recorded in a special legal agreement.

¢} Employers cannot make their employees work more ... additional pay-
ment for extra-work is paid.

d) ... economical and political situation is not steady in the country, it is
not safe to store wealth in the form of money.

e) ... efforts 1o improve fiscal policy are taken by the government, the
country’s economy is unlikely to be flourishing, -

1.b,c 2.a,d 3.d,e 4.a,b 5.¢c,e
3. VkamuTe, B KAKHX IpPEAUIOKCHHSX OPH Nepenose cleayer ymoTpeGHTS Closo
«HNCHHOS. .

a) It is not surprising that governments take special measures restricting
foreign imports to protect domestic producers,

b} It is the annual report that informs stockholders of the real financial
position of the company they have invested money in,

¢} It is essential that the most important information concerning e-com-
merce transactions should be stored in encrypted files.
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1t Lis Teens published (hat governments of both countties have ratified
the tuule ngreement.

¢) It was the bookkeeper who insisted on recording overhead expenses in
a separate journal,
l.c,d 2.b,d Jae 4.b, e S.a,c¢

4. Yinxure, B Kukux Ipestosenax “disclosing” fopesomuTCs cymecTSATENA-
HMM,

a) Both the general public and tax government departments are interest-
e¢d in disclosing the financial company statements.

b) Menagerial accounting deals with disclosing information referring to
company’s pricing decisions, budgeting, planning etc.

¢) Disclosing revenues and expenses in the income statement, the
accountant shows whether the business was successful,

d) The statement of retained earnings disclosing information about equi-
ty is of great interest to stockholders,

e} It is ofien essential that financial reports should be accompanied by
additional data disclosing figures for previous years.
l.d,e 2.a,b 3bc 4.a,¢ S5.¢,d

S.M,IMWMMHM.

8) To reduce tariffs and remove trade restrictions was one of the main
purposes of the General Agreement on Tariffs and Trade (GATT).

b) To be less dependent on distance many companies are investing large
amounts of money in developing new means of communication.

¢) To summarize amounts of assets withdrawn by the owners is the main
putpose of the income statement,

d) Starting business a person has to analyze such factors as the total
amount of capital to be used, the amount of money to be borrowed in
a bank, etc,

¢) To perform all seven steps of the accounting cycle corporations often
have internal bookkeeping and accounting departments,
l.a,b 2.b,d 3.a,c 4. ¢c,¢e 5.d,e

Bapunamr Ne 3

1. ¥iaxare, B KAKEX DPEIOKEHRAX OPH NepeBose cEAYeT YUOTpeburs sfeayc-
NORBO® WA +RABepHIKAS,

a) Reliable computer prograrnmes are sure to be of great aid in calculat-
ing accounting data such as salaries, taxes, expenses etc.
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b) Only corporations are supposed to attract enough money for carrying
on such expensive projects as space exploration, ecology protection,
clc.

¢) The mast important and expensive element of any modern computer
is certain to be a central processing unit.

d) Before we hire auditors to check a company’s statements, we should be
sure that they do not possess any stocks of the company to be exam
ined.

e) First works summarizing experience in the field of accounting are fike-
ly 1o have appeared in England, France, Germany during the [6th
century,

l.a,b 2.¢c,d 3be 4.a,c¢ 5.d,e

2. BuiGepuirre npasaasiyio GopMy repynun:
Engineers are interested in their innovations ... legally by patents,

L. protected 2. protecting 3. having protected 4. being protecied
5. having been protected

&Ynm,nmmummmmmmlmwmmﬁmnnm-
L1I0M, B KOTOPEIX PR Nepesolie clenyeT YIOTpeOuTs UacTary «0uis,

a) If the political situation in the country influenced trade relations, it
would cause general instabiity in the world economy.

b) The company’s equity would have decreased, provided a larger part of
profit had been spent on new technologies.

¢) Such a big corporation would not tun business so successfully unless
experienced managers were hired,

d) Another company would be allowed to participate in making manage-
rial decisions of a particular company if more than 20 percent of the
stocks were sold.

e) The company would have increased its share at the market if the ¢-
commerce system had been used for promoting sales through the
Internet.

l.b,e 2.d,e ibec 4.a,d 5.a,¢

4. Yiaukure, 8 Kakux npejviomenusx “drmwing up” uepesomurest CYLUCCTRHTEI -
HEM.

a} The drawing up of a business plan for future company development is
supposed (o be one of the essential manager’s responsibilitics.

b) Drawing up a plan for cornbining their resources, partners could not
come to an agreement.
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¢) An accountant drawing up a balance sheet with all the necessary
adjustments performs the last steps of the accounting cycle.

d) Computer programumers were busy drawing up a design of a Web-site
for a new e-shop.

&) After drawing up a trial balance a bookkeeper supplies an accountant
with all the necessary information for further analysis.
l.ae 2.b,c 3.ab 4.d,¢

5. Yxaxure, 8 Eaknx npeanakeanax “that” saMenser panee ynoMgHYTOE CYIIECT-
BETEJLHOE.

a) It is a favourable trade balance that shows how successful a nation’s
economic development is.

b) According to calculations of physical deprecnatlon that machine
should be replaced in five years.

c) The accounting system in the USSR was unlike that of many
Eurcpean countries.

d) It is cbvious that when opportunity costs are equal in both countries,
one cannot expect any gains from foreign trade,

¢) The information of cash inflows as well as that of cash outflows is dis-
closed in the company’s statement of cash flows,
l.b,c 2.a,b 3.ce 4.a,d

5.¢,d

5.d,e

Baprapt Ne 4

1. VE2KWTe, B KAKHX DpeltomeHMsX “provided” DepesoInTCd <«NpH YC/IOBHH,
eCIM».

a) Being provided with adequate amounts of national resources, large
nations, for instance the USA, possess a high degree of economic secu-
rity.

b) As the Internet is developing rapidly, many cormercial computer
networks and data services provided indirecti connection to the
[nternet,

c) Having been provided with financial information, a tax department
can estimate profitability of a particular business,

d) Provided a corporation goes bankrupt and has to repay its debts, the
shareholders are not individvally liable.

¢) In some countries the owner of a trademark may lose his right to use it,
provided he failed to renew its registration.
l.d, e 2.a,b 3be

4.¢c,d S.a,¢

2, Vkaxurme, B Kakux npefiolennax “rendering” NepesoHTCH CYUCCTSHITIL
HbM.

a) The rendering of accounts is known to be done once in three months
in most of the companies,

b) The company rendering an account for payment expects the money to
be received by the end of the month.

c) Rendering technical aid during a guarantee period is one of the ways
used by companies selling durabies to attract customers.

d) Rendering diverse services the World Wide Web is becoming more
pepular with businessmen.

¢} Economic resources used for rendering potential services to the com-
pany are known as the company’s assets in accounting.
l.a,d 2.a,¢e lce 4.b,d

3 BuﬁepmnpanuumeMymwumnnpwmmmr
. people of different ages, nationalitles and views, the Iiternet is supposed Lo
imebeeomeoneofﬂlelmpm-ta_ntmeansofmodancomnimﬁom”

1. Having connected 2. Connected 3. Connecting
4. Having been connected 5. Being connected

4. ¥kamure, B KAKHX NPEANOMSHNAX NPH Nepesole caenyeT ynorpebums ciono
+«HMEHHO» .

5.b,c

a) It is the Microsoft Corporation that has created its multimedia ency-
clopedia Encarta in 1985,

b) It is necessary that corporation activities should be restricted by
antitrust laws preventing their growth in a single field.

c) It is managers and company directors who have access to the informa-
tion prepared by managerial accounting.

d) A bookkeeper has recommended that a separate account should be
kept for tangible and intangible assets.

e) It is known that accounts receivable as well as stock-in-trade can be
used as means of payment,
l.a,d 2.b,¢c 3.d,e 4.b,e

5. ¥kaxsre, B Kakux NpejjokKeHHax cleTyey ynoTpedurs cow3 “until™.

5.a,c¢

a) ... stockholders own the company, there is no practical way for thent o
operate it on everyday basis.

b) All partners equally share the losses and debts, ...
assumes complete financial responsibility.

¢) The US Patent and Trademark Office will not support registration
a trademark ... it has actually been used to identify a product,

one of the partners
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d) The balance sheet is not supposed to be ready ... there is balance in all
its debts and credits.

¢) ... a convenient set of programmes for exploring the Internet sites was
developed, there had been some disadvantages in using informational

Internet services.
l.c,e 2.a,b l.a,c 4.d,e 5.b,d E

Bapuant Ne § |
1. Yeamurre, B KAKHX npeatoxeansy “establishing™ nepesoaumen cyliecTRETE/LIGIM.

a) Everybody is speaking of the corporation establishing new branches I
throughout the world. i
b) Establishing a virtual company we expect most part of transactions to
be handled through the Internet. |
c) A person establishing a special fund to support young talented scien-
tists is said to be the owner of a famous company. |
d) There is no relisble information of establishing any trade relations
between these developing countries.
e) The establishing of joint-stock companies is believed to be one of the
ways of attracting foreign capital to the country's depressed sectors.
l.a, e 2.b,d 3.a,¢ 4.d,e ib¢c

2. ButbepitTe oROHYAHNE NPCANOIKCINN:
“Provided there were a difference between a planned and a real invome, ..."

a) it would be shown in the comparative income statement.

b) it will be shown in the comparative income statement.

<) it would have been shown in the comparative income statement.

d) it is shown in the comparative income statement.

¢} it could be shown in the comparative income statcrent.
l.a,b 2.a¢ 3.ce 4.b,d

3. Buiiepite npapiasnyo GOpMY repyHans B NPELT0KCHNN;
“At the end of each month the record kecping accuracy is checked by ... debits
and credits in ledgers.”

1. balanced 2. balancing
4, having been balanced

4. ¥KkaxnTe, NpH Depenole KAKHY, UPSAIOXKCHHI caenyeT ynoTpeOHTE CORS «4TO».

a) It was suggested by special Copyright Conventions that govemments
prohibit strictly illegal copying of records and fight piracy more actively.

5.d,c

3, having balanced
5. being balanced
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b) The economic value of an asset is the maximum amouni that 4 com-
pany would be willing to pay for it.

¢} It is evident that diverse machines used in the production dilfer jn
power consunption, maintenance costs and in their depreciation

d) Everybody believes that the future development of e-commerce is
close-ly connected with elaboration of new improved means of com
munication based on the Internet,

€) lta:s the general ledger that is used for posting data from various jour-
nals.
l.b,e 3.d,e 4.¢,d

S.Wm,nmmwmmqm“uﬂmm

a) If single owners are able to invest a large amount of capital, they often
run great risks of losing it as they are personally liable for the debts of
the business.

b) It i§ important that since its creation in 1983 the Internet has become
an increasing commercial and popular medium available throughout
the world.

¢) On the one hand, the growth of multinationals helps countries to
develop closer economic relations, but on the other hand, it causes
serious problems,

d) It is prohibited by the law to use as a trademark the flag of a foreign
country or the name of a living person without his permission.

e} The real power of a computer is estimated by the speed with which it
can recognize the data,
L.ad 2.b,c

Zac 5.8,b

3.b,d 4.a,¢ 5.¢,e

OTBETH K TECTAM

I8t Beex RONMPOCOR B mpentpodoubx mecmas (rpamMMaTHuecKue TeeThl
Ne 1, 2, 3, 4) pepHnMU ABRAIOTCS OTBETH 33 HOMCPOM 5,

Jexcnyecxuit Teer Ne |
Bapuau‘rhbl:l—4;2-—4;3-l;4—l;5—3;6-5;7-—2;8-—4:
9-510-3;
Bapuam]\bzzl—a‘;z—1;3-3;4-4;5—3;6—l;‘?-4:ﬂ- A
9-2:10-3;
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OBPA3LB KAPTOYEK TSt TECTOB

Bapstanma oTReTOD Bapuantii oTperos
NN {O6bentime RpaBMILHbIE Mehe {OSBeaMTE NpABIILHLE
hONPOCOB BAPHAHTLL) BOIIPOCOE BUPHANTLY)
2 3 4 5 2 3 4 5
1 i
2 2z
3 3
4 4
5 . L]
6 6
7 7
8 8
L] 9
11} 10

KJIIOMM K YIIPAXHEHUAM
UNIT 1
¥up. 8, crp. 8%
Heiicmeue OGyee nonamue STuno, ssnosnaiouiee
{Tuaron) (cymecmuTeIBHOE) deiicmaue
(CYmecTBHTeNRHOE)
decide decision
recommend recommendation
regulate regulation
consume consumption consumer
produce production produces
allucate aliocation
yﬂp. 9 {‘)9 mo 8:

in the seventies; Juring the forties; in the thirties of the twenticth centu-

ty; in the ninetics of the nineteenth century

Vup, 13, crp. 10:

1. All resources allocation decisions in the Soviet Union were made by
the government,

2. Consumption and production are regulated through / by prices in a
market econony.

3. Planning is not usually retied upon entirely.

4. The prices and levels of consumplion of different goods and services
are monitored (by the economists).

3. Society’s production and consumption levels are analyzed by economics.

6. A decision to start producing new machines has been made by the
company,

B YueOHWKe «Anausicnumi Rk QAR CrnyOenmDs IKOHOMBYECKIX CREWIASBHOC-
meit». Awroper: E. B. Tymesikona o E. H. Komaposa,
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7. The idcas of Kar]l Marx had been studied and discussed by econormists
lor over sixty years before they were put into life by Russians.

8. Il enough mesources are allocated to agriculture, a high level of pro-
duction wiil be achieved.

¥op. 14, c1p. 10

1. In, on, of; Z, In, by, through: 3. of, in, by; 4. in / to, of, near / at; 5. at,
of / for, at; 6. in; 7. at, at; 8, for, in, over / for: 9, of, by, on; 10, of / for, of,
of, in, for; 11. through. for, in, in / 1o

Vap. 16, c1p. L1
1. a cornmand ecenomy; 2. economics; 3. the importance; 4. levels: 5. the
price; 6. both; 7. the former, the latter

Varp. 18 (a), cTp. 13:
says, formulated; are made, are not regulated, relies; organizes, have
recently moved away

Vop. 20, c1p. t4:
1. Advanced / developed economies achieve economic success / progress

through specialization.

2. There is always regulation of economy by the government in a country
in war years.

3. In mixed economies there are always government restrictions of what
to produce and how to produce.

4. Every manager makes decisions how to allocate scarce resources jn the
best way.

5. We cannot rely on the data while planning production for the next /
coming year.

6. In a free market economy, regulation of production and consumption
is done through prices.

Vip. 21 (a), c1p. 14:

are; limit, controls, are / have been nationalized, have been estab-
lished, owns, are / have been nationalized; is; is; has grown, has been grant-
ed; is

Yp.22, c1p. 14:

1. goods, services, to produce; 2. economics; 3. government; 4. through;
5. restrictions, regulations; 6. mixed economy; 7. both; 8. goods. services;
the former, the latter

Vap. 23, cTp. 15:
1d; 2a; 3b: 4f; 5h; 6e; 7g; Bc
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UNIT 2

¥ip. 2, c1p. 17-18:

a) three-fourths, one-sixth, three-eighths, one-fifth

6) three point seventy-one; eighty-three point twelve: seventeen pont
four; twenty point five; eleven point thirty-three

6} grew by one point seven percent; decreased by eight percent; grew by
one-third; decreased by two-fifths; grew by twenty-five percent;
decreased by thirty point one percent

&) decreased three times; grew four times; decreased many times; grew
five times

0) decreased from one hundred and two percent in nineteen eighty-cight
to fifty-seven percent in nineteen ninety-seven; increased from forty
thousand tons in nineteen ninety-one to forty-two thousand tons in
nineteen ninety-eight; increased from twenty—four thousand five hun-
dred dollars in nineteen ninety-six to twenty-four thousand six hun-
dred and fifty dollars in nineteen ninety-seven

Vap. 11, e1p. 22: _
L. reduced; 2. some; 3. impose; technology; 4. as well as; 5. increase;
6. inferior, substitutes; 7, input

Vp. 12, e1p. 22

1. The market is in equilibrium when the demanded quantity is as large as
the supplied quantity.

2. Prices rise when they are not so high as the equilibrivm price.

3. Prices rise when they are lower than the equilibrium price.

4, “b may have excess supply if prices are higher than the equilibrium
price,

5. The demand for inferior goods at high incomes will not be as high 1) as
the demand for normal goods, 2) as at low incomes.

Vip. 13, c1p. 22:

1. more; 2. greater; 3. lower; 4. strong, stronger; 5. more important; 6.
clearer, more reliable; 7. largest, most, less irnportant; 8. more effectively,
higher; 9. quicker

Vap. 14, c1p. 23:

(@) 1. higher revenue / increased revenue; 2. lower demand / reduced
demand; 3. larger input / increased input; 4. smaller market /
reduced market; 5. larger supply / increased supply; 6. belter tech
nology / improved technology; 7. larger resources / increasc
resources
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(6 1. poct (ypokus) Aedulidra;, 2. CHIXeHWE pasHORecHoO#l UEHH,
3. yBeAMMEHMHE CTIpoCa; 4. YCHICHUE BAMSHOT; 5. YMEHBIICHHE Ka-
NWTANORAOKEHWI; 6. ocabreH1e rocylapcTBeHHOTO BMEINATENBLT-
Ba; 7. YCHNIEHWe / yXecTodeHH e orpaHHYeHUH

Vip. 15, c1p. 23:

OBFA3EL 1:

1. Firms producing compuiters..,

2. ...people living in that country.

3. ...factors determining a consumer’s demapd.

4. ...governments consuming goods and services...

?gzﬁgiﬁﬂwom imposed by cariels...

2: ...the quantity of a good demanded by buyers is less than the quantity

3. ?ﬁﬁﬁgﬂ&f&iﬁd at one time... of another good produced at the

4. Some of the inputs used by an individual...; ... the decisions made in
day-to-day life.

OBPA3EL 3: .

1. Putting demand and supply together, we can.., .

2. Increasing the quantity of one good produced at onc time, the society
rediuces... ] ! g

3. Consuming goods and services, peopic provide... )

4, Making up a major portion of the national income, US high technol-
ogy industries...

¥ip. 16, ctp. 24: ] . .

1. in, of; 2. in, of / for, in, for; 3. at; 4. of / for, — ; 5. in, by..m. of, by;
6. in, of, in, — ; 7. of, of, for; through, to, from, from, in; 8. in, on, by;
9, for, for / over; 10. with, with, of, in / for

. 22, c1p. 27: .

ms th:‘f:rice of / for a good grows, the demanded quantity falls /
decreases,

2. The situation in low-income countries has improved since 1965.

3, The aim of the ceiling price is to reduce the price for consumers an-d
the aim of the floor price is to raise the price for producers and suppli-
ets.

4. An increase in supply leads to an increase in / greater equilibrium
quantity and a reduction in / lower equilibrium price.
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5. When prices are reduced to the equilibrium price, there will not be any
surplus,

6. If the price of / for a good falls and the prices of / lor other gouds used
by the consumer remain the same, the consumer will buy cheaper
goods instead of the more expensive good,

¥op. 23 (a), c1p. 28:

happens / will happen, supplied, changes; wish, are, to supply, did; will it
influence; will fall; is, supplied, will decrease; will it influence; will go;

concerned, were shown, supplied, could do; was, supplied, was raiscd;
was; was sold; said; has dropped

Vup. 24, crp. 28:

L. inputs; 2. normal; 3. fell; 4. rises; buy; 5. equilibrium price, (surplus),

(shortage); 6. shortage, impose; 7. the same; to increase, as well as; 8. con-
simers

¥ip. 25, c1p. 29
l. such as, as quickly as; As; such, as; 2.as; 3. as, as well

Yup. 28, c1p. 30:  °
Lb; 2.b; 3.¢c; 4.a

Vop. 29, cup. 30;

OBPA3EL] 17

1. The demand for meat before 1966 was not as high as after 1966,

2, The quantity of sold fish after 1966 was not as great as before 1966,
3. The quantity of sold meat before 1966 was not as great as after 1966.
4. The price for fish before 1966 was not as low as after 1966.

OBPA3EL] 2:

1. The average weekly price for fish after 1966 was lower than before 1966.

2. The average weekly quantity of consumed fish before 1966 was bigger
than after 1966.

1. The demand for meat before 1966 was lower than after 1966,

4. The quantity ot meat consutmed on Friday after 1966 was bigger than
before 1966.

5. The quantity of fish consumed on Friday after 1966 was less than
before 1566.
OBPA3EL] 3:

1. People paid less for fish after 1966 than before 1966.

2, People ate less of fish after 1966 than before 1966.

3. Meat was bought more on Friday after 1966 than before 1966,
4. Fish was demanded less on Friday after 1966 than before 1966
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UNIT 3
¥ap. 8, c1p. 35:
1,3,4,6,7

Vap. 10, c1p. 36:

1. constant, utility, to be maintained; 2. is assumed, maximize, to maxi-
mize utility; 3. that is; 4. particular; 5. expenditure, depends on; 6. vary; 7.
per yeat, within

Vp. 11, crp. 36:
1. organized, called; 2. produced; 3. affecting; 4. demanded, supplied;
5. leading to; 6. increased; 7. making, spending

Vip. 12, e1p. 3T:
1. rather than; 2. provided, assurne; 3. maintained, obtained; 4. results in;

5. choice, choose, within, that is; 6. per, pet, per; 7. within, number; 8. per,
constant, cbtain

Vop. 13, c1p. 37:
1. is based; 2. depending; 3. given, needed; 4. influencing; 5. spent;
6. called

Yirp- 14; ep. 38:

l.in, per, by, within; 2. within, within; 3, of, in, —, in; 4. of, from,
in, to, in, of, after, of; 5. in, of, in, in, of: 6. per, in, on, between;
7.—;8.to, on} 9. —, of, for, —, for

¥ap. 16, crp. 39:

1. affects, budget; 2. substitutes, complements; 3. assume; 4, expenditure;
5. depending, maximize; 6. obtain; 7. per; 8, rather than; 9. the number;
10. follows

Vop. 18, c1p. 40:
1g; 2a; 3£, 4b; 5¢c; 6h; 7d; 8e

Vip. 20, c1p. 41:

1, Every consumer has to solve the problem of choice.

2. At equilibrium price supply is equal to / equals demand.

3. Prices below {the) equilibrium price result in shortage.

4. In a free market prices vary with changes in demand and supply.

5. A firm can control / manage one or more production units such as a
plant / a factory.

6. The concept of marginal utility is of great importance for solving
some / certain problems of demand.
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Virp. 21, cTp. 41:

is described; includes; satisfy; are; are; are not; are included: is: s
usvally baked and sold; are; are transported; is

Vop. 23, c1p. 42:

I. had Iong before stopped being..., were bought and sold; characterized,
were sold, needed; 2. had been used; 3. passed, could give, had had;
4, would have grown

Vitp. 24 (6), c1p. 43:

1. increased / rose; 2. increase / rise; 3. arise; 4. increased / rose;
5. decreases, rise; 6. decreased, increased / grew; 7. decreased; 8. risc:
9. decrease / reduce, decrease / reduce; 10. rise / increase; 11. decreased

UNIT 4
vip. 7, cip. 48;
2,3

Yirp. 8, c7p. 48:

TipeANpHATIE, HAXOAAIeeCA B cOGCTREHHOCTH H YNIpaBisieMoe ONHUM
Wi Gofee YiieHaMH OTHOH W ToM Xe ceMbli; HHUHAHCOBRI aHANKS, HC-
TIONB3YIOIMA CTATHCTHYCCKYio MHGOPMALHIoO © MpOLLIOM H HM3yyalo-
LK coBpeMeHHBIe TeHIeHIMN Ha pHHKe; OrpaHMYeHHElE peCYpCH; T10-
CTARNAS / MOCTABILMOMMHIA CeNLCKOXOBMICTEEHHYIO TIPOIYKIIHIO; NPo-
AYKIs / TOBapH, NOCT2BAAEMBIE OTAENEHAIME DHpMaMKt; JION, YTIpas-
JACIIe CBOUMH COOCTBEHHEMH NpepHATHAMHE / dupMaMu; ToBapH,
NpefiiaracMile Ha pRIHKE; peleHis, CHemylolLIMe 38 3KOHOMHYECKHM
aHaJIN30M; NMoTpebiIfeMule TOPAPHEL, OrPaHYEHA, HalaraeMHe Ha BH-
Oop ueHaMH

Yp. 9, cTp. 48:

1. production costs; 2. marginal costs, marginal revenue, use, in partic-
ular; 3. output, outpnt, revenue, earned; 4. including; 5. opportunity
costs, alternative uses; 6. elsewhere

Vap. 10, c1p. 49:

1. are owned, are owned; 2. is offered; 3. increased; 4. Exporting, found
ed, began, raising, had risen, importing, has increased: 5. earned: 6. hekl;
7. obtained; 8. owning, owned; 9. used, is used; 10. are madc, are sold:
11. depends, will result / results, will have / has, will not change, rise, full,
can be neutralized, change, reduces, leads
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Yap. 11, crp. 49;

_l.ol', per, of, of, for; 2, of, — , in, on, toward; 3. in, —, in, on, in, in:
f‘- in, of, of, in; 5, of / for, of, ~; 6, for, in; 7. of, in, by, in, ower; 8. in,
in, by, of, by, with; 9.in, in, in, of, on, for, —, in, —

Yop. 13, c1p. 51:

1. earn; 2. total; 3. in particular; 4. opportunity cost, earn; 5. own; 6. rev-
enues, costs

Yop. 14, c1p. 51:

1g; 2¢; 38; 4d; 5¢; 6b; 7h; Bf; 9i

Vap. 17, crp. 53:

1. Market demand is the total demand for a good in an economy.

2, Not all partnets in a business must take an active part in running it.

3.1t is not easy to calculate revenue, costs and profits for a big busi-
ness.

4. The farmer is a man who owns and runs a farm.

5. When the price rises above marginal costs, every producer wants to
produce more.

6. Even at zero output level a firm has to pay some costs,
7. tlCc)ests must include opportunity costs of all resources used in produc-
on.
Ynp. 18 (a), c1p. 53:
trying to get the maximum benefit; buying a car, a meal, a concert, or
even a year at college; getting something eise; raising your course grade from

B to A, raising that grade from C to A; Staying in the house your parents do
not get...

¥ip. 19, c1p. 54:

1. corresponding; 2. own; 3. marginal cost, marginal revenue; 4. owned;
5.profit, alternative; 6. owner, use, used; 7. opportunity cost; 8, expenses

Vap. 20, crp. 54-55:

1. quantity; 2. The number of, 3. amount; 4. A number of; 5. amount;
6. amount; 7. amount; 8 . The number of, 9. quantities; 10. a number of;
11. amount; 12. quantity; 3. numbers

Yuop. 21 (a), c1p. 55:

is not, formed, following, developing, agreed, showed, could be

ex:dlzined, struggling, were interested, examined. could be, was, working,
m
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UNIT S

Vop. 1, emp, 66:
1,35

¥ip. 9, erp. 67:
1,2,4,6,7

¥ap. 11, c1p. 68:

OBPA3EL 1:

1. The equipment is 10 sophisticated to be operated by a worker.

2, The information is too outdated to be used for the analysis of the pres
ent-day situation,

3. The enterprise is too big to be located in the city centre.

4. The rate of unemployment is too high to be ignored by the trade
unions.

5. The company’s batteries are used up too soon to be retied upon ina
long expedition.

OBPA3ELl 2:

1. The company is not farge enough to invest much in production.

2. The factory has enough raw materials to work for a month.

3. The production costs have risen (high) enough to become a real
headache for the manager.

4. The job is well-paid enough to meet his requirements.

5. He has made a big enough contribution 1o the development of the proj-
ect to hope for a suiccess and a good share of the profit.

OBPA3EL 3:

1. The manufacturer’s guarantee is too short for us to buy their equip-
ment.

2. The company’s investment in machinery was too big last year for the
dividends to be high.

3. The value of the equipment is too high for us to take any risks trans-
porting it by train,

4. The rate of unemployment is too high for the government to ignore it.

5. The firm’s requirernents are too high for all their jobs to be filled in.

OBPA3ELL 4:

1. The income is not big encugh for you to live without a job.

2. The choice of goods is good enough for the store to be the most popu
lar one in the neighbourhood.

3. Human capital in some industries is not well-paid encugh for youny
people (to want) to pay for their education in corresponding profis
sions.
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4. The birth-rate in Russia is low enough for the size of the labour force
to become a problem for society in the near future.

5. The efficiency of investment on the farm is high enough for the cost of
its final products to be lower than the one on other farms of the region.

¥ap. 12, c1p. 70:

1. Tt is important / impossible / required to know on what information a
decision is based.

2. It is economical to buy large quantities of a product rather than small
quantities,

3. It is possible 1o be economical if one compares the prices of goods
before buying them.

4. It is required to replace inputs used up in one production cycle period-
ically,

5. It is useful to know that in Denmark young men below 18 cannot be
trade-union members.

6. It is interesting / important / required to know that production costs
depend on the size of the business.

7. It is required to analyze the production cycle in detail in order to
decrease production cost and increase production efficiency.

Vap. 13, crp. 70:

1. to; 2. of, — , by; 3.in, in; 4. in, with; 5. to, on, of, from, by, in, by,
of, — , from, — , —; 6. In, to; 7. for, of, on, for, — ; 8. Unlike; 9. of, as, for,
for, for, for; 10. of, in, from, to. in, in; 11.in

Yop. 14, crp. 71:

1. In economics, the term “capital™ refers 1o goods and money used to
produce more goods. 2. Both physical and financial capital is important for
production. 3. Yes. 4, Both productive and unproductive labour is itnportant
for society. 5. Yes. 6. The supply of labour depends on size of population,
geographic mobility and human capital. 7. It is impossible for an economy
to achieve full employment but it is desirable to have the lowest possible
unemployment rate.

Vip. 15, erp. 712

1. Like; 2. available; 3. either ... oL..; 4. vasious; 5. employment,
6. require; 7. requirements, both ... and...; 8. fixed capital, production
process, fixed capital

¥Yup. 16, c1p. 72:

1. The firms prefer the factor of production retaining its old price to the
one that has become more expensive. 2. The new technology used now in
less developed countries is taken from the developed ones. 3. It is necessary
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to replace this inefficient equipment with the new one. 4 The prondicinm
cycle for manufacturing Coca Cola and some othet disnbs i Russiw 1 nal
the same as the one in West Europe. 5. Generally, the valuc of tenewabh
resources is not so high as the value of non-renewable ones.

Vap. 17, c1p. 72:
1d; 2j; 3a; 4g; 5k; 6e; 7i; 8f; 9h; 10b; 11c

Yop. 18, c1p. 73:
1,3,579

Vap. 20, cTp. T4:

1. It is important to manufacture final goods in the country.

2. Labour force is part of population participating in production.

3. Labour has the following basic fanctions: production of raw materials;
manufacturing final products, management, and services.

4. The main factors of production are as follows: land, machinery, finan
cial capital, and labour.

5. An enterprise is a unit of production and management.

6. Early in the 1990s 40 percent of Russian / Russia’s labour force was
employed in the private sector of economy.

7. The rise in oil prices in the early 1970s was dramatic enough to result
in an immediate increase in the value of fuel exports.

Vop. 21 (a), c1p. T4
job, human capital, value, jobs, required, rate of unemployment, avail
able

¥ap. 22, cip. T4:
1. Unlike; 2. employment; 3. purpose; 4. variety; 5. both ...and ...; 6.var
ious; 7. employed, machinery, employed, available, contribute

¥ap. 23, cip. 75:

1. It is useful for students of economics / businessmen / firms to know
that in Denmark young people below 18 cannot be trade-union mcin
bers.

2. It is necessary / important / required for firms to calculate changes in
their marginal cost and marginal revenue.,

3. It is necessary / important / required for governments to know the con
tribution of both industry and agriculture to the national economy.

4, Ttis profitable for businessmen / firms to employ workers as long as the
value of the product produced by them exceeds their wages,

S. It is necessary / important / required for labour markets 1o be moe
effective for workers to go easier into employment,
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6. lt is necessory / important / required for employment and unemploy-
ment to be stabilized for labour markets to be in equilibrium.

7. It is required for statistical systems to change when political systems
change.

Ynp. 24, cTp. 75
L. either ... or; 2. both ... and; 3. neither ... nor; 4. either .., or; 5. both ...
and; 6. either ... or; 7. neither ... nor; 8. both ... and

Yip. 26, c1p. 762

1. The costs of manufactured products include costs of raw materials,
labour costs, depreciation of plant and equipment, rent, tighting, and
heating of factory buildings.

2. The methods of combining factor inputs are as follows: to use small
amounts of labour and much capital or large guantities of labour and
only a little capital. o

3. Economists are interested in achieving the least costly technology of
producing output, that is, in the cost aspect of the input-output rela-
tionship.

4. The highest efficiency of production is the optimal relationship
between factor inputs and outputs of goods and services,

5. To know the cost, of producing a particular output it is necessary to know
not only the required quantities of various inputs but also their prices,

UNIT 6
Yop. 7, crp. 81:
1. Although, thoroughly; 2. though; 3. Thorough; 4, through; 5. through;
6. thought; 7. Although

Vop. 9, c1p. 82:
1. Although, provide; 2. locking for, looks for; 3. vary in; 4. met, due;
5. profitability; 6. area; 7. provide; 8. a disincentive; 9. business

¥ap. 10, c1p. 83:
Hpednazaemuiii sapuanm:
(a) 1. Economists believe the price of land to change due to a change in
its condition.
2. Economists expect the price of ore to rise as its supply reduces.
3. We expect rising prices for mineral resources to be a strong enough
incentive for people to lock for their substitutes.
4. Economists believe a low wage level area to be a disincentive for
businessmen to look for capital-intensive technologies.
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5. We expect farmers to apply fertilizers on this poor soil
6. We don’t believe the rent in the area to be high enough to scare off
alt potential tenants.
7. Economists don’t believe the present-day condition in mining, to
be a disincentive for potential investors,
8. We don’t believe cost of production in mining to be 100 high 10
make the industry profitable,
9. Economists believe profitability of housing to be high enough 1o
meet the requirements of potential investors,
10. We don't expect the farmer to lease the land as he has enough
money to purchase it.
(0) 1. The small rent lets tenant farmers make their farms profitable.
2. A large supply of raw materials and spare parts lets the enterprise
work smoothly.
3. Profitability of housing in areas near big cities makes landowners
transfer land from farming to housing.
4. Used up the supplies of minerai resources make landowners trans-
fer land from mining to other uses,
3, An increased rent makes the manager raise the price of the output.

¥mp. 11, c1p. 84:

1. Economists know the rate of unemployment in tourist areas 1o be
higher than in highly industrialized aress,

2. Economists know the motives for nationalization 1o be political as well
as economic,

3. Asprices for fuel and electricity have risen, we expect all prices 1o increase.

4. Some economists think the degree of profitability in private enterpris-
¢s 10 be higher than in the public sector.

5. Many experts think the growing use of fertifizers and other chemicals
to present a danger for the environment,

6. Experts expected the lran-Iraq war to cause a sharp rise of oil prices in
1979-1980.

Ynp. 12, cp. 84:

1. though; 2. meet the demands; 3. advantages, disadvantages, although;
4. conditions; 5. profitable; 6. conditions; Besides; 7. purchase, thougl;
8. provide; 9. Lease, rent

Vnp. 13, cxp. 85:

1. 1o, within, for; 2. of / for, for, — ; 3. of, — , for; 4. on; 5. of, at, w1, 1,
of, by; 6. Under, at, in; 7. with; 8, — , for; 9. in, on; 10. — , of, with, for;
11.1in, of, —, of} 12, Under, of, — , for, with, of, in
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Vap. 14 (8), cp. 85:

Tlopadox sonpocos:

1. What natural resources ...? 2. When do prices ...? 3. Can the supply of
land ...7 4. Why is 1and durable? 5. How can a farmer ...? 6. For what pur-
poses ...2 7. Why is land an essential ...? 8. When do farmers buy land ...?
9. Why do farmers ...7 10. Why is land transferred ...7

VYip. 15, crp. 86: )
1. except; 2. Besides; 3. Besides; 4. except; 5. except: 6.except; 7. Besides

Yup. 16, c1p. 86:
2,3,5,6,8

Vop. 17, ¢1p. 8T:
le; 2i; 3c; 4d; 5f; 6b; 7a; 8h; 9j; 10g

Vup. 18, c1p. 87:

1) cnenyionmme yno6peHnsa LOIDKHLE GHTL BHeCEHE! / BHOCHTLCS, [A
TOTO YTOGH BHECTH CIIEAYIOIME YIOOpeHHs, depMep AOMKEH ...; IUTS TOO
wroGbl Ceyiole yIo6perisa GbUTH BHeCEHH; CleayiowMe yaobperns
CJIMIIKOM JIOPOFe CTOAT (A1s1 TOTO) YTOGH MX BHOCKIIM, MBI OXHIaK/
npeanoaraay, yto ¢gepMep BHeceT cleayolle YROOpEHHS, BHOCA Clle-
AylowHe yaodpenus, depmep yayduan ...; depMep, BHOCAILMA ClieayIo-
1ie YAOBpe s, YAYMLIKI ..., depMep BHec CheayrolHe yIoOpeHus and
TOT0, YTOGH YIYUILIMTL / ANA YAYMLUEHN ...; BHECCHHe yaoOpeHui — xo-
polLmil MeTOR;

2) [OKYNATh 3MITIO A7 XHJIMLIHOTO CTPOHTENECTA HOPOTO; MEI TIpeZ-
TIoNaraeM / OXuaeM, YT0 KOpIOpaLuA KyNUT 9Ty 3eMI1I0 [Is XHAUIMHO-
TO CTPOMTENLCTBA; JUIS TOPO, YTOOB! KYNHTE 3eMIIK0 LIS XXUAKLIHORO CTPO-
HTEJECTEA, ANA TOTO, YTOOH 3TY 3eMII0 KYTIHAH L5 XHIMAIHOTO CTpoH-~
TENbCTRA; 3eMIIS PACTIONOXKEHA CAMIIKOM JAJEKO OT LieHTpa ropoeaa, Mto-
6b) e KYNWIH A5 XUNHILHOIO CTPOHMTENLCTEA; 3EMAA, KYTLACHHAs AU
rioMeieHuN (HHpMEL); MOKYTias 3eMIo AN XUIHLIHOTO CTPOUTENECTES,
KOPIOPAUNS...; KOpITopaiis, MNOKYNawwman 3eMaio il KHIVILHOTO
CTPOMTE/LCTRA,

3) for tenants to Jease the land; tenants leasing the Jand; leasing land ten-
ants...; the land leased out to tenants; (in order) to lease land tenants...; we
think tenants (to) lease the land (in order) to...; land lease is popular with...

vip. 20, cp. 89:

1. We know farmers to apply fertilizers (in order) to make crops grow bet-
ter.

2. Under conditions of economic crisis unemployment rate tends to
EIow.
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3. We know ore to be rock, ground, etc. from which metal can be exteas
ed / one can extract metal.

4. Some economists consider not only various kinds of fuels and ores but
also water resources and fertile lands to be used up in the next cenlury,
which will result in local as well as global wars for resources.

5. Higher profitability of oil production has led to bigger investment in
new oil fields, in the North Sea in particular, which has weakencd
OPEC control over the world supplies.

6. We know British Gas to extract gas very profitably in the shallow pirl
of the North Sea.

¥up. 21 @a), c1p. 89:

US economists believe the degree of modem farming dependence upon
commercial energy sources to be very high.

The present-day condition in the energy market makes farm technology
move away from energy-intensive methods,

Yup. 22, crp. 89:

(a) 1. in, from, to; 2, with; 3. — ; 4. with; S. in; 6. in; 7. in, from, to

(0) 1. varied; 2. variety; 3. vary from ... to ..., vary from ... to ...; 4. varies
with; 5. various, variety, various; 6. variety; 7. vary in

Yap. 23, c1p. M

(@ 1. so, which; 2. in order to; 3. So, in order to; 4, which; So, that

(b) as, which, So, though, Although

UNIT 7
Vnp. 6, c1p. 95:
2,3,4,6

¥np. 8, c1p. 96:

aMopTH3auMa $oHAoB — depreciation of assets; oGoxeHMe cobeTrell-
HOCTH HalloTOM — property taxation; sKoHOMHKa B TENIOM — €CONOMY as
whole; oreuecTBeHHOE MpoK3BOaCTBO — home production / domestic pro
duction; cyliecTRytomuye GoHAR — existing assets; cpelHss 3apaGoTias
TIATa — average wage; CPeIHAN ceMbs — average household; kpynHas cob

CTBCHHOCTb - considerable property; coScTBeHHOCTD 3a py6exkoM - prop
erty abroad

Vop. 9, cp. 96:
L. way; 2. adds up; 3. replaced; 4. property; 5. determined; 6. aggregale,
spending, domestic; 7. standard of living
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Vap. H, c1p. 97:
(o) who, of, by, — , to, in, in, while, in, by; Vip. 16, c1p. 100:
(6) which, in, through; which, by, on, in, of, However, for, to, on, where, 1d; 2f; 3h; 4a; 5g; 6b; 7e; 8¢
who, in; Since, to Vap. 18, erp. 101:
¥ip. 12, erp. 98: [. Aggregate supply depends on goods and fabour markets.
1. The value of intermediate components and services is absorbed by / in 2. They should know the average rate of wage increase per year.
final goods. 3. After the purchase of the enterprise fast month the new owner did nol

2. The value of imported goods and services is not included in the
GDP

3. The statistics provided by the agency will not / won’t be relied upon.

4. Alternative automobile fuels are being looked for by chemists and engi-
neers,

5. The basis for a nation-wide environment conservation project has been
made up by the natural resources examination data.’

6. Support has been distributed among producers by the government.

7. Tax relief has to be provided for smaller producers by the government.

8. The US administration farming support policies are applied flexibly. or
Farming support policies are applied flexibly by the US administration.

¥np. 14, cTp. 99:
1, while? 2. assets, distiribution; 3. Since, as a whole, while; 4, adds to;

cl;ange the whole managing / management team at once / immedia-

tely.

4. Larger government spending and borrowing have / An increase in gov-
ernment spending and borrowing has some effect on interest rates to be
offered by banks.

3. The model of the circular flow of income shows how, in money terins,
households purchase goods and services from firms using incomes
received from supplying firms with factors of preduction.

6. Average direct government payments to American firms in subsidized
industries vary with the size of the firm.

7. Although the US adwinistration has imposed some limitations on
grain imports from the European Community, there is no evidence that
this has considerably reduced exports from the EC,

5. is made up, property; 6. ix determined; 7. is made up, households; Yop. 19 (@), erp. 10E:
8. spending in, of, in, in, per; in, in; in, in / of, of; of, in, to, of, as; since, ~ , — , of;
to, up, to
VYnp, 15, c1p. 99
1. This is the best method to be used in order to compare the productivi- Yap. 20, c1p. 102:

ty of capital in different industries,

1. There will be / is; 2. there does not exist; 3. There have been: 4. there

2. Engineers have developed a soya-based car [uel to replace petrol one has been, there has been; 5. There may be; 6. There should be: 7. there will

day. lf_lke place / takes place; 8. there is, there will be provided / there are pro-
3. Intermediate goods are the goods to be used as inputs in production of vided
other goods, Yap. 21, c1p. 102
4. Intermediate products are the goods and services not to be counted as 1. produced; 2. is, bought in, is, adds, bought in, is known; 3, produce,
part of the gross national product. using, supplied; 4. is determined, is measured; 5, is, owned, hes; 6. is meas-

5. Final goods are the goods to be consumed by end-users.

6. The purpose of a demand analysis to be done is to determine which
products the company can sell and at what price.

7. The labour supply is a measure to be offered at given wages at a certain

ured, is measured, supplied

UNIT 8

time. Yaop. 3, c1p. 104;

8. Labour supply is determined by the number of workers to be available that: 1) Tor, T8, TO - 2, 11
for commercial production and the average number of hours to be 2) koTopuilt — I, §
worked by available workers. Jjyro—8

4) samectvtenn — 4, 7
88
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those: 1) te — 3, 10
2) samecTuTENb — 6, 9

}1,2,5,8 24,7,9

¥p. 9, c1p. 110;
that — 6; those—1,3

¥ap. 10, c1p. 110:

J. mostly, borrowing; 2. whereas; 3. unemployment benefits; 4. initially;
5. productive, those, as a result; 6. mostly; 7. eventually; 8. reasons; 9. ini-
tially, mainiy

¥np. 12, cp. 111

1. Youth employment is thought to be low in Germany because education
is subsidized by the state, 2. Government spending cuts are considered to be
necessary in order to cut taxes, 3. Economic system is said to be the partic-
uiar way inp which the economic activity in a country is organized.
4. Workers in poor countries are believed to be much less productive as a
result of bad working conditions. 5, The 16 percent of world population liv-
ing in the industrial countries are said to receive nearly 80 percent of the
world income. 6. Public goods are known to be paid for out of general tax-
ation. 7. A subvention is known to be money given by a government, a per-
son or organization to help somebody... . 8, A subsidy is considered to be
money given by a government...

Yop. 13 (a), c1p. 112:
1. John M. Keynes was born in Cambridge on June 5th, 1883,
2. He went to Cambridge University in 1902,
3. He was a most hard-working student.
4, He joined the Treasury in London in 1915,
3. In 1919 be resigned because he was disillusioned with the Treaty of
Versailles.
6. He was also exhausted by his heavy workload.
7. He returned to Cambridge as a teacher.
8. At that time he was thought to be a brilliant economist.
9. His best-known book was published in 1935,
10. It was called The General Theory of Employment, Interest and Money.
11. This book went against conventional thinking and made him many
enemies.

90

12, Keynes provided a general theory explaining the level of economic
activity,

13. He thought a depression to result from reduced aggregate demand.

14. He believed tax cuts to improve the situation,

13. Tax cuts would result initially in higher purchasing power of popula-
tion and eventually in higher aggregate demand.

16. Besides, higher direct governments’ spending could add to aggregate
demand as well.

17. He resumed public service during World War I1.

18. He played an important role in establishing the World Bank and the
International Monetary Fund in 1944.

19. He died on April 21st, 1946.

Vap. 14, crp. 113:

1. out of, by, on; 2. of, in, for, through / out of: 3, -~ , to, in: 4. on, of /
for; 5. of / —, by, for, by, from, of, for, through / out of} 6. from, to, — , on;
7. over, for; &. from; 9. —, —, —,

¥op. 16, c1p. 114:

1d; 2h: 3c; 4f; 5a; 6g; 7e; Bb

Yop. 17, crp. 114:

Cunonumss: so that — in order to, mostly — mainly, almost ~ nearly, to
cut — to reduce, to levy — to impose, taxed — taxable, to result in — to give
rise to, spending — expenditure, domestic — home, since — as, considera-
ble — great, to provide — to supply, to purchase — to buy, to manufacture —
to produce, to require — to need, provided ~— if.

Awumonumw: renewable — non-renewable, initially — eventually, advan-
tage — disadvantage, to sell — to buy / to purchase, like — unlike, employed —
unemployed, efficient — inefficient, productive — unproductive.

Yap. 18, crp. 114:

1. purchasing power, that, as a result; 2. levied, indirect taxes, whereas,
levied, direct; 3. productive, most, those, as a result; 4. nearly; 5. com-
prises; 6. whereas, reason for; 7. shares; 8. transfer payments: 9. exhausted

Yip. 19, exp. 115:
YMNe3nd, neppasvyacu Ne Sn 7,
2)MNe 1 2, BropassyacTe Ne SH 6

¥Yp. 21, cp. 116:
1. The share of taxes in a commodity price cannot depend on the pur

chasing power of population.
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2. An additicnal income from the state is considered to be a disincentive
for looking for a job with a higher wage,

3. Japan’s low share of government spending is known to result from the
very low level of spending on national defence,

4. Public spending is known to be that spending which is financed from
taxation and government botrowing,

5. A large government sector is believed to make economy inefficient,
reducing the number of goods and services that can be produced / to
be produced and eventually allocated to consumers,

6. In the UK contributions to social security funds make up nearly a third
of the whole amount allocated to public expenditure,

Ynp. 22 (a), cip. 117:

State is known to affect ...; {(and subsidies which are thought to be nega-
tive taxes); ... it is believed to reduce the quantity -...; The power to tax is
considered to be ...

Yip. 23, crp. 117:
1. those; 2. those; 3. that; 4. that: 5. so that; 6. those; 7, that; that; 8. that

is; 9. that; 10, that is why

Yap. 24, c1p. 118:+

direct tax — 7; indirect 1ax — 5; tax burden — 10; tax revenue — 4; in-
come tax — 8; corporation tax — 11; value added tax — 2; sales tax — 1;
excise duty — 12; tax rate ~ 3; 1axable income — 9; public goods — 6

REVISION 2
TEXT 2 (cp. 12])

1. Economists believe oil-producing countries to use up most of their oil
reserves in about 50 years’ time.

2. The choice of a fuel to be produced depends on its opportunity
costs,

3. At present, the price of oil rises because its production costs grow and
due to its reducing supplies the reserves are being bought up.

4. A rise in oil prices resulis in a parailei rise in prices for other fuels,

3. The search for new oil deposits is mainly done in oceans, particularly
in remote regions.

6. The marginal revenue of exploration decreases since fuels are being
sought in remote regions,
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7. The rapid discovery and use of new oil deposits is desiruble provided
new fuel sources are cheap and meet the demands of growing popula
tion,

UNIT 9
Yap. 7, c1p. 131:
1,2,4,6,8

Vinp. 9, cTp. 132;
1. alongside; 2. wasteful; 3. distinguish between; 4. The exchange rate;

. actually; 6. to store; 7. exceptions; 8. accepted. accepted; 9. temporarily

Yap. 10, crp. [32:

1. Travellers® cheques, credit cards or even prepaid telephone cards are
known to have been included in money by some economists.

2. Gold is believed to haw for a long time been a convenient store of
value,

3. Swaps of products and services are reported to be extensively used in
underdeveloped countries.

4. The forms of capital are known to be distinguished in various ways,

3. Expensive objects of art are known to be used alongside money as a
store of value,

6. Russian economy was reported to have become wasteful in the 1990s,
for ...

7. OPEC oil price is reported to have increased from $ 2.5 per barrel in
1973 to nearly $15 per barre! in 1980.

Vnp. 11, emp. 133:
1, for, with; 2, against, of; 3. Between, of, from, to; 4. from, with, at;

. between, of, of, as, of} 6, of, for; 7. in, for; 8, With, of, of, into, on, in:
. for, for; 10. of, alongside, of

Yop. 12, c1p. 133:

1. When kept regularly and accurately, accounts may be a convenient tool
of making a business more effective.

2. Although accopted as a medium of exchange, domestic currency is
thought to be an inadequate store of value under conditions of hyper
inflation.

3. When growing rapidly, average wages add to production costs consi
erably.

4._ If rapid, an increase in average price level results in inflation.
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5. Though regularly supplied by households, labour is never actually fully
used,
6. When used as a store of value, money is saved for future consumption.

‘¥op. 14, c1p. 134:
14; 2j; 3f; 4i; 5b; 6c; Th; 8¢; 9a; 10g

Vnp. 185, c1p. 135:

1. medium of exchange; 2. store; 3. distinguish between; 4. exceptions,
exceptions; 5. medium of exchange, exchange, trade, swaps; 6. repay the
loan; 7, account; 8. stored

Yap, 17, crp. 136:
1. higher than; 2. as well as, more often ... than; 3. a great deal / much

lower than; 4. as considerably as; 5, less expensive, cheaper, greater / larger
quantities, greater / larger amounts; 6. the more, the higher: 7. not as / so
widely as; 8. not as / so high as, at the same price as

¥p. 19 (a), c1p. 137:
could have produced; will be expected to be increased; is said to be used

Vop. 20, o1p. 137
1. The use of several national currencies is said to be more wasteful than

one common currency for a number of countries.

2. Economists expect euro to be used alongside national currencies in the
European Community countries as long as 2003.

3. Temporary unemployment is believed 10 be transformed into perma-
hent one due 1o unemployment benefits.

4, The 1990 tax reform in Sweden put an end to a number of conditions
under which taxes might be reduced and the payment of a tax might be
deferred.

5. Most European banks were reported to start offering accounts in euro
and trading in euro as soon as the latter was introduced.

6. Loans provided by commercial banks, building societies, etc, must be
considered as the essential source of credit in an economy.

¥np. 21, c1p. 138:

1. be accepted; 2. be distinguished; 3. to have been used; 4. 10 have
become; 3. to have allowed; 6. to have provided; 7. be regulated, be inter-
vened in; 8. 10 be constantly falling

¥np. 22, c1p. 138:
1. The slower real wage grew in the iate 1980s in Europe, the faster
employment started to grow.
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2. The farther a product has to be transported to the market place, the
higher are transportation expenses,

3. The greater (is) the habit of the population to pay in cash, the more
restricted (are) the possibilities for banks to develop new technologi
cally advanced forms of money.

4, The longer (is) the period for which the money is borrowed, the worse
(is) the possibility for the loan to be repaid.

5. The higher are minimum wages for workers with little human capital,
the more often it actually results in unemployment for those workers.

¥ip. 26, crp. 140;

1. Purchasing on credit, the buyer becomes the owner of the good when
it has been delivered to him.

2. The difference between simple credit and hire purchase system is the
length of the period during which the buyer may make payments, with
hire purchase system the period being much longer.

3. Consumer credit cannot exist in barter economies because it is difficult
for sellers to say how much of which commeodity they will need at
which particular time in the future.

UNIT 10
Vp. 6, cTp. 145:
1,3,56,8,9
Yap. 7, c1p. 145:
2,3,5,6,8

¥ap. 9, e1p- 146:
1. Whenever, settle a debt, chequing account; 2. interest; 3. net, net;

4, clearance; 5. handie; 6. issue; 7. lends, deposited; 8. deposits, interest-
bearing; 9. depositors; 10. transactions, net

Yap. 10, e1p. 147:

OBPA3EL I:

1. Computer technology is known 1o have had a great effect on the work
of the Stock Exchange.

2. Simons and Co. are said to have settled all their debts.

3. The firm’s debts are believed to have reached an unacceptable level.

4_ A man is expected to keep some amount as cash or as a deposit in a
chequing account to make his daily purchases or to handle other truns
actions,
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5. Most bills are known to be bought from businesses that issue them for
an amount less than the face value of the bill.

6. Prices for these shares are known to have fluctuated considerably over
this year and they are expected to fluctuate in the year to come.

7. Clearance operations are known to be conducted not only for bank
transactions but also for transactions in commodilies and securities.

OBPA3EL 2:

1. With a financial panic, most depositors are sure / certain to want to
withdraw their deposits at one time,

2. Banks seem / appear to be able to offer interest on checking accounts
in some countries.

3. Each individual’s expenditure is sure / certain to add to some other
individual’s income.

4. Banks seem / appear to have started offering trust services in the ecarly
1980s.

5. New services appear / seem to be constantly developed by commercial
banks.

6. Nearly 80 percent of all money in the USA seems / appears / is likely
10 be int the form of chequing accounts.

7. Government bomds arc surc / certain to be sold and bought by the
Federal Reserve System almost every working day.

Vap. 11, eTp. 148:

1. To keep economy as close as possible to full employment with low
inflation is essential.

2. To issue bonds for the period of several years is more typicat,

3. To pay by plastic card rather than hold hard currency and run the
risk of fosing out due 1o fluctuations in exchange rate makes sense in
Russia.

4. To serve as a medium of exchange has lor centuries been the function
of money.

5. To carry travellers’ cheques abroad is convenient because you can cash
them whenever you may need.

Virp. 12, c1p. 148:

1. to, — ; 2. against, against; 3. for, by, — ; 4. — , of, with /in; 5. in, —;
6. of, - 7. from, for, of, out, to; 8, in, from, in; 9. to, for, for, —; 10, in, of,
on, ower; 11, on, up

Yop. 13, c1p. 149
1. Banks borrow money from the public in order to lend it out to firms,

households, or governments and thus to earn profit.
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2. The clearing system lets banks settlo debts without actual transferring
huge amounts from one bank to another.

3. The asset side of the bank balance sheet includes cash, loans, bills, and

4. The liability side of the balance sheet includes deposits, cheques in the
process of clearance and others,

5. The two most important kinds of deposits are known to be sight
deposits and time deposits.

6. Cheques can be written against sight deposits/ current accounts/
chequing accounts,

7. Interest is usually paid on time deposits.

8. To withdraw a time deposit one must give the bank a period of notifi-
cation for the bank to sell off some of its securitles and call in some of
its loans to raise the necessary amount.

Vap. 14, c1p. 149:
a)l,3,6;6)2,4,57,8

¥imp. 15, c1p. 149:

1. With a rise in wages the net quantity of capital demanded is likely to grow.

2. Whenever the tax rate rises over 45 percent, people are unlikely to pay
taxes,

3. Lending money to customers the bank eams interest, and this interest
is sure to be higher than interest paid to depositors.

4. Depositors are unlikely to earn high interest on sight deposits.

5. The bank has proved to be unable to meet its liabilities, The Central
Bank is sure to / is likely to withdraw its license in the near future.

6. The person is likely / appears to obtain some additional money
depositing assets with a bank for a certain period of time.

7. As banks lend out money people deposit with them, the public proves
to be & net supplier of lcans.

V. 16, crp. 150;
1. to handle transactions; 2. therefore; 3. net, interest; 4. chequing

account; 5. bills, interest; 6. setting debs, securities; 7. liability, owes;
8. therefore; 9. be undertaken

Yup. 18, c1p. 151:

1. The balance sheet contains information about / of assets and liabilities
of the firm on the last day of a certain period.

2. The bank receives its main profit lending out part of deposited moncy.

3. Interest banks charge for loans is usually higher than that they offer to
depositors.
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4. This financial capital could have been used elsewhere, perhaps in an
interest-bearing bank account or to buy shares of a different company.

5. The purpose of the talks was to setile the debts of the Russian govern-
ment to foreign banks.

6. The financial sector consists of / includes / comprises banks, financial
institutions, and stock markets whose function is to collect savings and
lend them out to borrowers. Borrowers here are firms wishing to get a
loan whenever they cannot purchase productive equipment without
additional funds.

7. Credit cards let a man pay for goods without cash and then pay what he

owes to the issuing institution.
Yap. 19 (a), c1p. 152:
To pay, to be paid; to credit ... and to debit; To credit or to debit, to
achieve it; to pay; to be paid; to settle them
VYip. 20, c1p. 152:
1. to have decreased; 2. to decrease; 3. to be decreasing now; 4. to have
been cut; 5. to be cut; 6. to fluctuate; 7. to be fluctuating; 8.tobe; 9. to have

been met

Vip. 21, crp. 153: +

current account — 2; cheque — 6; cash — 3; liability — 5; stock
exchange — 4; clearance — 7; securities — |

Yap. 23, cxp. 153
1. The easier an asset is converted into cash, the more liquid it is.

2. Machinery can be included in illiquid assets since it cannot be con-
verted into money without finding a buyer and determining its value.

3. Loans to households and firms turn out not to be highly liquid, for the
borrower may not be able to repay the sum owed to the bank whenev-

er the bank demands.
4. The bank cannot expect to raise a needed amount of cash by selling

securities because their prices are known to fluctuate from day to day.
5. The most liquid bank assets happen to be cash and short-term market

loans.

UNIT 11

Vnp. 2, c1p. 154;

OBPA3EU I:

1. VperymupoBaB AOITH, 6aHKH ...

2. VeTaHOBUB BHICOKII YPOBEHE HAJIOTOB, TIPABUTENIBCTRO ...
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3. BepHyB ccyny, ¢hupmMa ...
4. W3y4HB prHOK Tpyna, KOMNAHHMS ...
3. TTONHOCTREC MCTIONB30BAB CBOM MPUPOIHEIE Pecypehl, CIpam ...,

OBPA3ELE 2:

;. Koria ofmurauuy 651y BREIIYILLeHE! NPaBHTENILCTEOM, OHM ...

3: }:i(c xKan:( nmmmmam TI0 CPOYHLIM BKIANAM, OfIH ...
orKbeTTTe B glp;e::fmxemm ONpeneNIfAeTC AN KaX i

4. Tak KaK IeHEI Ha HoTh PerynupyIoTcs OINEK, oHH ...

5. (l)(:;na / ecimi / Tak Kak NeHLIH HCIONMb3YIOTCA KAK CpencTeo obMeHa,

OBPA3EL 3:

1. Mocne Toro / Tak kak MpHUponHHe Ppecypcrl 6EUM HCTOLIEHE], OHH

2. IMocie TOrO, KAK MPaBUTEHECTEO GEITO ¢OpMHPOBAHOD, OHO ’
3. Iocne Toro, KaK y peMbep-MUHUCTPA BISTH HHTEPBLIO, OH

4. Tak KaK rOCyIapCTB¢HHEle pacXOmbl GELTH cOXpalfeHH (;lel

5. Tax xak / ocne Toro kex HIC 6111 cHibkeH, 0H '

6. Iocne Toro, xax 6LUT oIpenencH BHII, on ’

Yap. 5, erp. 157:

1. Hecst oTBeTCTBEHHOCTD 32 JOJTH HTEJIbCTBA i

: i:(o;m o Tpag! / rocymapcTReMBLIi
- SOTJla B CTpaHe MPOBOAMTCA XeCTKas SlomkeTHan MOAHTHKS,

3. IloBBICHB TIPOLIEHTHYIO CTABKY, 6aHK ... " o

4. Tak kax pMHAHCOBHIN IUTaH GBUT MPUHAT B KOHLIE TOAA, OH

5. YCTaHOBHB BHICOKYIO Y4ETHYIO craBky, LieHTpanpHiit G’amc

6. Iocre TOro Kax / TaK Kak ydeTHad cTaBKa 65u1a NOBEMIIeHa, OHa

7. BHKYTIasi Bekcens, NPaBHTETLCTEO .. ’

8. TTocne Toro kak Bekcesst GrTH BLIKYILIEHH, OHY ...

VYop. 6, c1p. 18T

2,4,7

Yop. 7, c1p. 158:;

1. money supply in circulation; 2. is responsible for; 3. on the one han,

on the other hand; 4. adopted; 5. interest rate; 6, tigh

he 4 3 5 6. tighter; 7. fiscal and maoi
etary pOIICIES,. were frequently responsible for; 8. easy monetary policy, ti g'llll
monetary policy, (to) alter; 9. reserve requirement ratio ‘

¥p. 8, c1p. 158:
Cunonumsi: hence — therefore; thus — in this way; mainly — mostly; m

addition — besides; permanent — co; .
. ? —~ constant; permanent — long- .
sile — to implement; to alter — to ch ong-terni; 1o pui
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Anmonums: within — outside; to result from — to result in; to borrow — Vap. 14, c1p. 161:
to lend out; the latter — the former; tight — easy; permanent — tempo- L. permanent; 2, Tight; 3. outside; 4. budget deficit; 5. altering; 6. In
rary addition to; 7. outside; 8, monetary; Hence; 9. altered

Yop. 9, c1p. 158:
1. Employing workers, the firm ...

Having employed (the) workers, the firm ...
Being employed, the workers ...
Having been employed, the workess....
2. Setting the discount rate, the Central Bank ...
Having set the discount rate, the Central Bank ...
Being set by the Central bank, the discount rate ..,
Having been set, the discount rate ..,
3. Investing in human capital, you ...
Having invested in human capital, society ...
Being invested in human capital, money ...
Having been made in human capital, investments ...
4. Purchasing bonds, the bank ...
Having purchased the bonds, the bank ...
Being purchased by a / the bank, bonds ...
Having been purchased by a / the bank, (the) bonds ...
5, Repurchasing bills, the borrower ...
Having repurchased the bills, the borrower ...
Being repurchased by the borrower, bills ...
Having been repurchased by the borrower, (the) bills ...

Vip. 10, c7p. 159:

1. for, in; 2. of, in, of / for, of; 3. on; In, to, on; 4. in, in; In, to, in;

5. of, of, in, in, for; 6. under, under; 7. through, — , within, outside
Vip. 11, c1p. 160:

1. Tight, money supply; 2. interest rate; 3. in additi({n to; 4. msponsibili-
ty; 5. within; In addition, outside, without; Thus, outside; 6. responsibility,

implementing; 7. ratio, because of; ratio; 8, alters

Vap. 12, c1p. 166:
Hopndox éonpocos:

1. What are the responsibilities... ? 2. What is money supply made up of?
3. How can the Central Bank... ? 4. What is monetary policy? 5. What does

the ratio... ? 6. In what way does consumption...?

Vup. 13, emp. 161:
1h; 2d; 3g; 4b; 5f; 6¢; 7a; 8¢
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Yup. 18 (a), cip. 162:

1. Having paid taxes, wages, and other production costs, firms can ..

2. Switching from one production technique to another, the firm can ...

3. Both short-term bonds and long-term bonds depend on fluctuations of
money supply being affected by interest rates.

4. Having / producing almost daily effect on economic life, monetary
policy ...

5. Borrowing money to finance its expenditures rather than taxing titi-
zens to finance them, the government reduces the public’s current tax
liability increasing its future tax liability. The public will have to pay
higher taxes to finance the interest payments on the bonds issued by the
government. Taxpayers recognize that higher taxes result from the
budget deficit, and hence cut their current expenditures thus reducing
aggregate demand.

Yp, 16, c1p. 162:
(a) considerable wealth — 3HauMTENLHEE MaTePHANLHEEG LIEHHOCTH

national wealth — HalmoHanbkoe GoraTerBo; taxed wealth — Gorar-
CTBO, OlNaraeMoe HAJIOTOM

(b) permanent budget deficit ~ nocToAHHLIN GlomkeTHRIR neduLmT;
because of budget deficit — u3-3a Gromxemvoro zedmmrTa; in addi-
tion to budget deficit — pnoGaBok K GlolKeTHOMY AeQELIATY

{c) 10 alter a policy — M3MEHATL MoMATHKY; to adopt a policy — npwHm-
MaTh NIONKTHKY; to pursue / to implement a policy — npoeommTs no-
JUTHKY

¥hp. 18, c1p. 163:

1. In modern advanced economies the ratio of annual GDP to money
supply is as follows: in China — 1.0, in the UK — 1.0, in Germany —
1.4 ( there is a tendency to its decreasing to 1. 0), in France — 1.6, in
Switzerland ~ 0.8. As a result of policies pursued by Russian govern-
ments in the years of 1992 to 1998, this ratio grew in our country from
1.2 to 8.0, which made normal economic activity impossible.

2. Implementing monetary policy, the Central Bank can affect / influ-
ence the money supply in the economy.

3. Having reached considerable econormic growth in the last decade, the
government increased the wealth of society as a whole.

4, Being fantastically rich in natural resources, Russia has become one ot
poor countries nowadays.
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5. From 1989 to 1997 the gross domestic product in China grew two
times / doubled, having reached 3,366 billion dollars. That was eight
times more than in Russia and two times more than in Germany.

Vnp. 19 (@), c1p. 164:

Pursuing an easy fiscal policy, the government is likely to ...

Because spending more than it receives in taxes, the government
must borrow the difference thus tempting banks to raise interest rates on
Joans. Having to borrow a great deal (because of the great budget deficit),
the government makes it impossible ...

¥ip. 20, cip. 164:

1. had been expected; 2. was growing / grew; was; 3. monitored; 4. grew,
had growr, had adopted; 5. adopted, had fallen / had been falling; 6. faced,
was elected. had been accumulating / had accumulated; pledged, would
cope with, was; 7. announced, would take, owed

Vip. 22, c1p. 166: )

1. therefore: 2. whereas; 3. On the one hand, on the other hand; 4, Since;
5. because of: 6. because of, 7. Hence / Therefore; 8. On the one hand,
Therefore / Hence, On the other hand

UNIT 12

Vop. 9, crp. 172-173:

(@) 1. In a command economy the growth of prices was restricted / was
held back / was restrained / was kept under control by / through / by
means of direct government regulation.

2. Inflation can be restricted / held back / restrained / kept under
control by means of tight incomes policy.

3, Some economists consider tight incomes policy to be unable to
restrict / hold back / restrain / keep under control inflation for a long
time.

4. The aim of the government is to restrict / hold back / restrain /
keep under control the growth of the inflation rate.

(6) 1. adopt; 2. receive; 3. adopted; 4. accepted; 5. accept; 6. adopt;
7. receive; 8. accepted / received

Yup. 10, c1p. 173: _

1, incomes policy; 2. mean; 3. are adjusted, tight monetary policy,
argue; 4. speeding up, adjustment; 5. The inflationary spiral, cause;
6. means; 7. argue, money supply growth/ increase, occurs; 8. ensure;
9. account for
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¥op. 11, cTp. 174:

1. of, to, on, of / for; 2. of, of, with, of: 3. of, — ; 4. — , for, ol> 5. ol
10, — , between, of; 6. in, — ; 7. per, in, of / for; 8. of, to, in, to, in: 9. — . in,
of, —, to

¥np. 13 (a), crp. 175:

1. growing, is interpreted; is considered to be; 2. is adjusted, is not;
3. cannot increase, to compensate, work; 4. are likely to be hurt; 5. has becn
found to have caused/ has been found to cause; 6. is known to be reduced:;
7. are known to have been achieved, decentralized; 8. has moved/ has been
moving; have risen; hasn’t been, has fallen; hasn’t been, has resulted; worn,
has gradually lost; are, were; is, has

¥op. 16, cTp. 177:

1. adopting; means; 2. anticipated; 3, caused, caused, rather; 4. ensures;
5. indexation; 6. argues, are caused; 7, rather; 8. extent

Ymp. 17, cp. 177:

1. temporary, speeding up, adjustment; 2. Tight, money supply; 3. hyper-
inflation, inflation rate; 4. adjusted; meant; 5. anticipated, adjusted, cope

with; 6. Indexation; 7. though; 8, account for; 9. argued

Vap. 18, crp. 178:

1. Sped up / accelerated money circulation causes a higher inflation rate.

2, In industrialized economies the share of cash accounts for about four
percent of the money supply.

3. The incomes policy is an attempt to affect wages and other incomes
directly,

4, (With) Inflation rate growing, interest rates rise but aggregate demand
falls

5. The economists have already determined what causes inflation.

6. The government can adopt a tight policy to ensure a low inflation rate.
7. A steady increase in money supply is to cause inflation.

¥imp, 19, c1p. 178:

1. to become; 2. be accounted for; 3. to be characterized; 4. to go down;
5. to have influenced; 6, to have been; 7. to have gone down; 8. to ensure

¥op. 20 {(a), c1p. 179:
Unlike, that is, both ... and ...; Actually; As a result, eventually; Thercfore:
On the one hand, whereas; as a result, in particular; On the other hand, as

¥op. 21, cTp. 179;
(a) Cunonumei: by means of — through; however — though; to be due (o
to be caused by; to cause — to result in; aggregate — total; to speed 1o
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accelerate; quite — rather; to accept — to adopt; to expect — to anticipate; a
little — to some extent; to happen - to take place, to occur; a number of —
several; constant — steady; entire — total; if — whether; to purchase — to buy

(0) Anmonumsi: to sell — to purchase; to sell — to buy; slow — rapid,
varying — constant; to be due to — to cause; to be due to — 10 result in; to
cause — to be caused by; constant — temporary; temporary — steady

Yip. 22, e1p. 179:
1. The Central Bank requires every commercial bank to hold a certain

percentage of its deposits as reserves and the percentage is different for
current accounts and time deposits,

2. As / since depositors make deposits and withdraw money at different
times, any bank can get along with an amount of cash to cover with-
drawals that is much smaller than the total amourst of its deposits,

3. Since / as there exists a traditional suspicion in the USA of “big
bankers”, the United States has given rise to the growth of a great num-
ber of local banks.

4. If / provided / when inflation occurs, there are more disadvantages
than advantages in holding money.

5.If / provided / when the price level rises, the value of money de-
creases. .

6. When full employment has been achieved, increases in the quantity of
money and, hence, spending plans will rapidly speed up inflation,

7. Reductions in the international value of a nation’s currency are likely
to increase the nation's exports, whereas its imports will be reduced.

Vap. 24, crp. 180:
N2

UNIT 13

Yap. 7, c1p. 186
1,4,7,8,9

Yap. 8, c1p. 186--18T:
(6) Developed countries: Canada, the United Kingdom, France,
Australia, Japan, Germany
Developing countries: Mexico, Colombia, Brazil, Argentina, China,
India
Less developed countries: Zambia, Ched, Kenya, Nigeria
(e} 1. development; 2. developed; 3. to develop; 4, developing / less
developed, developed; 5. development; 6. developing, developed; 7,
dewveloping, less developed
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Vap. 9 (a), crp. 187:

noted; participating, is manufactured, distributed; Having used, pro
posed; Having designed, were engaged; produced, manufactured, were
delivered, played; based, allowed, having changed, is being used

¥up. 10, crp. 188:

I _a]lowed; 2.. diverse, relatively; 3. gain; 4. depressed; 5. accepted,
a major, emphasized; 6. retailer; 7. comparative, relatively; 8. innovations;
9. acceptance, emphasizes

¥p. 11, c1p. 189:

(e} employment, employer; dependence; gain; insurance; expansion;
credit, creditor; tendency; construction, constructor; exchange;
measure, measurement; decision; cost; value; preparation; increase;
promotion

(6) to manufacture, to operate, to consume, to report, to cause, to differ,
to compete, to market, to develop, to emphasize, to fall, fo sell, to
force, to compare

(e) different, advantageous, clean, free, marketable, additional,
depressed, depressive, reliable, close, diverse, alternative, direct, var-
ious, low, warm, major, practical, financial, acceptable

¥ip, 12, c7p. 189:

1. developed, are recorded / have been recorded; 2. Being; 3, imported;
4. adopted; 5. Holding, maintaining; 6. produced; 7. allowing; 8. Having
been destroyed; 9. having applied; 10, being included: is called; 11. being
limited, is increasing; 12. Having been designed, known, requiring

¥ip. 13, c1p. 190:

L. Imposing customs tariffs; Having imposed customs tariffs: Being
imposed; Having been imposed;

2, Promoting foreign trade; Having promoted foreign trade; Being
promoted by the government; Having been promoted by the govern-
ment;

3, Acceptm,g the principle of comparative advantage; Having accepted
the principle of comparative advantage; Being accepted; Having been
accepted;

4. Buymg goods in small quantities; Having bought goods in small quan-
tities; Being bought in small quantities; Having been bought in small
quantities;

5 Parhcmgthrg in'the production sharing; Having participated in the
production sharing; Being involved in the world production: Having
been involved in the world production;
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6. Applying innovations in the production process; Having applied inno-
vations in the production process; Being applied in the production
process; Having been applied;

7. Using credit cards: Having used credit cards; Being used for purchas-
ing goods by mail or phone; Having been used for purchasing by mail,

Vip. 14, cTp. 192:
from, 1o, to, through; of, between, of / for; in, in, to, with, in, at, with,
of, for; in, of, for

Yaup. 16 (6}, cTp. 193:

1. exports, imports; 2. to produce, produce; 3. subjected; 4. to record; 5.
survey; 6. use; 7. to export; 8. use; 9. subject; 10. are presented,;
11. records; 12. to survey

Yap. 17, c1p. 194;

1d; 2a; 3b; 4f; 55; 6i; 7h; 8g; 9¢; 10e

Vop. 18 (a), crp. 194:

let, gain; allowed; participating in foreign / international trade, (had)
expanded; In line with / According to; acceptance, promotion of innova-
tions, allowed / enabled, major; aid; emphasized; diverse / different, com-
petitive, customers, throughout

Vup. 19 (a), c1p. 195;

Hamonaaagan BUIIOTA Crpasn [ypanararemsoe
rouble Russia Russian
pound England / Britain English / British

lira Italy Ttalian
mark * Germany German
pescta Spain Spanish
dollar America / the USA American
yen Japan Japanese
franc France French
escudo Portugal Portuguese
yuan China Chinese
drachma Greece Greek
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(6} 1. Last week one dollar was equal to 29 roubles. 2, The rate of pound
increased to 46 roubles for one pound. 3. The franc exchange rate 15
at the same level as yesterday: seven francs to one dollar. 4. Today (twor
Deutsche marks are equal to one dollar. 5. The yen exchange raie has
decreased / has fallen to 109 yen to one dollar. 6. There has been / was
noticed the increase in escudo exchange rate to dollar at the London
Stock Exchange Market. 7. The rouble exchange rate fell / went down
sharply yesterday. 8. The Italian lira exchange rate to dollar didn’i
change last week.

Vap. 21, c1p. 197:

1. Foreign trade including the exchange of goods and services among
courntries has resulted in / given rise to greater interrelation between
economies of different countries.

2, It is important that foreign trade should allow a country to specialize
(let a country specialize) in those goods that it can produce cheaper
and more efficiently than its competitors.

3. Many economists consider / think that the trade based on the princi-
ple of comparative advantage allows / enables a country to obtain more
goods than it can produce using only its own resources.

4. The principles of the foreign trade development considered by such
famous economists as Adam Smith and David Ricardo are supposed to
be the basis for modern economic theories.

5. Competition both in the world market and inside the country makes
producers improve goods® quality, apply modernization and innova-
tions to attract more consumers,

6. The development of foreign trade allows / enables a country to expand
(lets 8 country expand) the goods’ market, to use raw materials and
labour resources more rationally, as well as to help / aid depressed sec-
tors of the domestic economy.

Yap. 22 (), c1p. 197:

coordinating, were signed; established, liberalizing, Having signed;
organized, existing; having finished, to establish; Having been ratified

Yup. 23 (a), c1p. 198;

of, with, for, in / at, in, at; from, out, for, of — , of, of, of, of, of; of, in,
with; — , ~, of

Vip. 24, c1p. 198:

1, Having limited imports, the government attempted to control (he

amount of currency leaving the country, thus it could increase reserves
of its own currency and reduce amounts held by foreigners.
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2. Being involved in production sharing, LDCs ....

3. Having signed a new major agreement, the member nations of the

4. Having been imposed quotas could ...

5. The taxes imposed on the goods imported by domestic producers also
increase revenues ...

6. Retailers make their products available at times when consumers are
willing and able to buy them; holidays, changing seasons, school
graduations generating special opportunities to sell goods.

7. A retailer working hard at improving an image of his store and prod-
ucts, customers ...

8. Having grown to @ large size, retail businesses found ...

9. Only having reached the stage of industrialization, the countries
began to develop trade relations based on the principle of competitive
advantage, '

10. Being known for its fine watches, Switzerland maintains its reputation
promoting the selling of famous Swiss watches all over the world.

Vp. 26, c1p. 200:

1. major; 2. enabled / allowed, compete in; 3. emphasized, gained; 4. rel-
atively, are competing for; 5. has expanded / has been expanding; 6. to com-
pete with; 7. competitive; 8. diverse; 9. promotes, innovations; 10 allows /
enables; 1 1. panticipating, gain; 12. throughout

REVISION 3
TEXT 6 (c1p. 208)
Output and Output after Cousumption
consumpiion speciatization after trade
before trade
Radios | Cameras{ Radios | Cameras | Radios | Cameras
South 125 5 250 0 130 Hij
North 250 50 150 70 210 60
TEXT 8 (ctp. 211)

that; such as; Due to; as ... as; Although, as well as, such as; than, as;
while, but, as; In contrast, so; Although, such as; that, but, both ... and
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UNIT 14
Vip. 7, crp. 216
fa) 1. a stock; 2. a copyright; 3. goodwill; 4. a bond; 5. a trademark;
6. stock-in-trade; 7, a patent; 8. aloan
(6) 1. copyright; 2. bonds; 3. stock; 4. patent; 5. goodwill; 6. luun;
7. tradernarks; 8. stock-in-trade

Vap. 8, c1p. 216-217:

1) the calculating of a VAT, calculating a VAT; 2) the imposing of taxes,
imposing taxes; 3) the development of trade relations, developing trade
relations; 4) the settlement of debis, settling debts; 5) the lease of land, leas-
ing land; 6) the levying of taxes, levying taxes; 7) the repayment of the loan,
repaying the loan; 8) the purchase of equipment, purchasing equipment;
9) the management of the enterprise, managing the enterprise; 10) the
export of goods, exporting goods

Yup. 9 (@), c1p. 217;

1) applying fertilizers, having applied fertilizers; 2) issuing shares /stocks,
having issued shares / stocks; 3) expanding retailing, having expanded
retailing; 4) introducing innovations, having introduced innovations;
5) supporting depressed industries, having supported depressed industries;
6) regulating the exchange rate of national currency, having regulated
the exchange rate of national currency; 7) identifying the GDP per
capita, having identified the GDP per capita; 8) setting import tariffs, hav-
ing set import tariffs; 9) decreasing the production cost, having decreased
tllle production cost; 10) estimating tangible assets, having estimated tangi-
ble assets

Yaop. 10 (a), c1p. 21T:

1) money in cash, accounts receivable, stock-in-trade;

2} investments in bonds , short-term investments in stocks,

3) office furniture, harvesters, real estate, computers, company buitdings,
equipment;

4} copyrights, trademarks, goodwill, patents;

5) salaries, wages, taxes on property, short-term loans, accounts payable;

6) long-term lcans

¥op. 11, c1p. 218:

L. ... proper managing the company’s money and preparing accountis
the due time;

2. ... running his company ...;
3. ... the increasing the total company’s profits;
4, ... damaging the goods ... improper packaging;
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5. ... everyday managing the company;

6. ... carrying out/ implementing the general company policy;

7. ... decreasing production expenses/ costs and proper operating capi-
tal assets;

8. ... improving computer programmes for processing accounting infor-
mation;

8. ... signing the loan agreement;

10. ... selling the company’s real estate.

Yap. 12 (v), cTp. 219:

has, being; consist; are known to belong; owned, are considered to be;
may not be included; argue, is, should be included; (will) cancel out, is;
owns, owning; should take

Vip. 13, erp. 219: ,
1. because of, 2. since; 3, so; 4. but; 5. however; 6, While; 7. because;
8. Although; 9. If, thus

Vap. 15, crp. 220:

1. stocks, investment interest; 2, long-term, tangible; 3. Accountants,
terms; 4. employees, wages, liabilities; 5. stock-in-trade, balance sheet;
6. To operate; 7. net worth, equity; 8. equation; 9. short-term, liabilities;
10. goodwill '

Yip. 16, c1p. 221:

(a) 1. ... Mr Smith’s preparing a balance sheet; 2. ... being in debt; 3. ...
his salary having been increased/ having increased his salary; 4. ... the
manager’s making a report at the general meeting of stockholders; 5.
... the company’s president arriving tomorrow; 6. ... its paying the
debis in a month; 7. ... publishing his books ... receiving his permis-
sion; 8. ... limiting / restricting the UK imports of cars; 9. ... applying
the principle of comperative advantage; 10, ... solving the most
important tasks; 11. .., joining the European Union; 12, ... importing
cheap farm goods; 13. ... receiving foreign financial aid.

(6) 1. to his building an extension to the barn; 2. the company of not
declaring all its profits; 3. for allocating means; 4. for not paying div-
idends in time; to running the company improperly; 5. of raising tax
rates on non-residents’ property; 6, of the company’s opening a new
modern department store; 7. to ratifying the GATT; 8. in producing
particular commaodities; 9. businessmen from employing young
workers with little human capital, 10, from increasing the UK
imports of cheaper foreign cars; 1. in exporting natural resources;
12. in developing international division of labour; 13. against com-
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panies closing enterprises and decreasing wiges, governnm i
increasing taxes

Vop. 17, c1p. 223;

le; 25; 3i; 4g; Sc; 6b; 7h; 8f; 9a; 10d

Vip. 19, c1p. 224:

1. The production can be profitable if both tangible and intangible assels
are in proper proportion.

2. Such items as land, real estate and equipment belong to long-term tan
gible assets as they participate in the production process for / ower a
long period of time.

3. One can use current / short-term tangible asets, for example accounts
receivable, as a means of payment,

4. Goodwill is known to belong to intangible company’s assets, however
company’s reputation can greatly increase its profiis.

5. The studying / examination of current/short-term and noncurrent /
long-term company’s assets is very important for carrying out the
analysis of the company’s activity.

6. The difference between assets and liabilities is the company’s net worth
which can be represented in the form of stocks / shares for corpora-
tions.

Vap. 20, c1y. 225:
1. ... without receiving the owner’s permission.
2. After having signed a number of documents, the owner transferred his
real estate to this educational centre.
3. In preparing a balance sheet the accountant made a few serious mis-
takes,
4. ... by introducing proper technologies.
5. Before deciding to sell company’s stock-in-trade the Sales Manager
has to consult the company’s president,
6. ... either by issuing extra stocks or borrowing a loan from a bank.
7. In spite of having sold a great share of its stock-in-trade ...
8. On subtracting current liabilities from current assets the accountant
found out ...
9. Without enjoying a good reputation the company is not expected ...
10. Before hiring a new employee the Personnel Mansger always in
vites ...

Vip. 21, c1y. 225:
(@) 1. pay; 2. fee; 3. salary; 4. wage
(6) 1. wage; 2. pay; 3. fee, 4. wages; 5. pay; 6. salary; 7. fees; 8. salary




Vip. 22, c1yp. 226:

1. chose / have chosen, has changed; 2. is affected, is called; 3. have
bought, lost; 4. knows, was taught; 5. has been followed; 6. is selling; 7. was
shown, could; 8. will be developed, will help

Yop. 25, c1p. 228:

age — salary; symbol — trademark; quantity — amount; depreciation —
obsolescence; intangible — invisible; form — shape; gradually — slow-
ly; price —~ value; obligation — liability; employee — worker; to own —
to possess; to replace — to change; to owe - to be obliged; tangible — ma-
terial

UNIT 15
Yap, 7, ¢, 233
record, preparation, payment, receivables, profit, disagreement, deci-
sion, determination, equation, information, investment, management, bal-
ance, interpretation, value, analysis, post, accuracy

Yip. 9, crp. 234:

1. keeping; 2. posting, calculating; 3. checking, showing; 4, having been
completed;’ 5. recording / having recorded; 6. keeping; 7. being held;
8. deciding; 9. not having detected, checking; 10. being drawn up

Yap. 10, crp. 234:

l. accounting, records; 2. trial balance, statements, accounting;
3. receipts, payments, transactions; 4. record, journals; 5, accuracy; 6, deb-
its, credits, 7. account, debits; 8. listed; 9. a balance

Vp. 11, c1p. 235:

1, The manager knows of the losses being suffered by the company now.

2. The manager knows of the company having suffered losses recently.

3, The manager knows of the losses having been suffered by the company
recently.

4, The bankers suggested Mr. Black paying the interest on the loan with-
in three days.

5. The bankers suggested the interest on the loan being paid by Mr. Black
within three days.

6. The bankers were informed of Mr. Black having paid the interest on
the loan a few days ago.

7. The bankers were informed of the interest on the loan having been paid
by Mr. Black a few days ago.

8. The author insists on the publisher making a copyright agreement.
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9. The author insists on a copyright agreement being made with the

publisher.

10. The author is satisfied with a copyrighi agreement having been made
with the publisher.

11. The author is satisfied with the publisher having made a copyright
agreement,

12. The stockholder doesn’t mind the investment interest being sent to
his account in the bank.

13, The stockholder doesn’t mind the investment interest having been
sent to his account in the bank,

14, At the general meeting the stockholders agreed to the company
employing a new Production Manager.

15. At the general meeting the stockholders agreed to a new Production
Manager being employed by the company.

Vip. 12, c1p. 236:

1. records, statements; 2. dovble-entry, journals, ledgers; 3. Posting data;
4. double-entry, balance, receipts, debits, 5. bookkeeping, trial balance;
6. preliminary; 7. Accuracy; 8, errors; 9. balance, credits, debits; 10. list

Yip. 13 (), c1p. 236:
of, of: in, in, of: of, by; in; in, — , in; of, on, in; of, below, in; Below, of
of, of, on

¥p. 14 (a), c1p. 237:

are posted, known, consisting; shows, can be determined; is recorded,
planned, is placed, to show, has been recorded; used, is, was recorded; is
used to show, was posted; is used, to provide; may be kept, owed, paid,
owned, owed

¥mp. 16, c1p. 238;
1g; 2c; 3i; 4b; 5h; 6j; 7a; 8f; 9d; 10e

Vip. 17, c1p. 239:

1. is to record, to provide; 2. is said to have been done; 3. For the book-
keeper’s work to be completed/ To complete; 4. expects the manager to
make, (in order) to make; 5. know the financial statements to help; 6. (In
order) to know, it is necessary to keep; 7. is to / should be done; 8. For the
business/ firm to be successfill, 9. is known to depend on; 10. are likely to
affect/ to influence

¥ip. 18 (a), c1p. 239:
is known, have taken / took place; using, mean; shows, made; preparing,
should consider; records, earned, owned; are listed; consists of, includes,
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concerning, made / undertaken / handled, existing, being recorded; are
recorded,; is, there is; contains, wish to make, importing, exporting, buying
or selling; shows, wishes to make

Vap. 20, c19. 241

1. At present the accounting system is known to consist of seven steps,
accounting cycle being performed at the first three steps.

2. The principle of double-entry bookkeeping is used for controlling the
financial position of a business / an enterprise.

3. One should know that a typical account consists of two parts: the
left side for recording payments, and the right side for recording
receipts.

4. (In order) to prepare a trial balance it is necessary to do posting to the
ledger.

5. The first three steps of the financial accounting cycle are accomp-
lished by the preparation of a trial balance at the end of the fiscal
year,

6. Financial accounting provides data for the economic analysis and
planning of labour productivity / efficiency and profit increase.

Vip. 21, c1p. 242:

1. a balance of; 2! bringing the company’s accounts to a balance; 3. a
balanced economy; 4. has had a balance of trade deficit since 1982; 5. the
company’s balance sheet; 6. the balance of payments; 7. has to draw up a
trial balance; 8. is to balance every day, never allowing balances to accu-
mulate; 9. the cash balance will go down by $40 and the balance in
accounts payable will go down by the same amount; 10, the sum of all the
debit balances should be equal to the sum of all the credit balances;

11. called the balance on hand / cash, can calculate the account’s balance,
balance it

Vup. 22 (@), crp. 242

its balance of trade; The trade balance, visible exports, visible imports;
visible trade, invisible trade; a trade balance, net exports; a favourable trade
balance; an unfavourable / adverse trade balance; favourable and
unfavourable trade balance, invisible trade; the unfavourable / adverse trade
balance, invisible trade; a favourable trade balance, invisible exports
earnings

¥ap. 23, c1p. 243;
1. Since / After; 2, until; 3. when; 4. Uniil; 5. Before; 6. since / after;
7. After; 8. When; 9. when; before; since, after; until

114

UNIT 16
Vip. 7, e1p. 250:

1. If too much money were available, its value would decreane ol 1
would result in inflation. If too much money had been avatlable, 1+
value would have decreased and it would have resulted in milution

2. If the company didn’t earn a reasonable profit, the share pricy would
fall and it would be difficult to attract additional capital. Il the com
pany hadn’t earned the reasonable profit. the share price would haw
fallen and it would have been difficult to attract additional capital.

3. Many companies would lose their stable position in the market il
recession continued. Many companies would have lost their stably
position in the market if recession had continued.

4. The company would achieve a higher sales level if the 1¢etail price were
decreased. The company would have achieved a higher sales levei if
the retail price had been decreased.

5. If the cutput decreased, the company’s costs per unit of the goods
produced would go up. If the output had decreased, the company’s
costs per unit of the goods produced would have gone up.

6. If current liabilities exceeded the company’s asscts, the company
would be forced to sell off its assets for the debts. If current liabilities
had exceeded the company’s assets, the company would have be
forced to sell off its assets for the debts.

7. If the company issued new stocks, it would be possible to replace the
obsolete equipment. If the company had issued new stocks, it would
have been possible to replace the obsolete equipment.

8. If governments reduced restrictions and tariffs, it would promote the
expansion of world trade. If governments had reduced restrictions ainl
tariffs, it would have promoted the expansion of world trade.

9. If the wage paid in a certain industry rose, workers would be attract
ed from other industries. If the wage paid in a certain industry h.ad
risen, workers would have been attracied from other industries.

10. If prices were above the equilibrium price, there would be excess sup
ply. If prices had been above the equilibrium price, there would has.
been excess supply.

Vip. 8, c1p. 251:
1,4,5,7,8,11,12

Yap. 9, crp. 251

(a) relating to the future; pricing decisions; an outside part, an applica
tion of capital; following; a defined interval; broad; a sct of, a somae
of supply; an annual report; a performance; the previous month



{0) to distribute — to spread: to deal in — to trade; to accept — to agree;
to borrow — to get & loan; to disclose — to make known; to handle —
to deal with; to summarize — to give the main points of smth; to be
interested in — to be concerned with; to offer ~ to render; to with-
draw — to take back; to generate — to produce; to evaluate — to deter-
mine

VYop. 10, c1p. 252:

1. the net loss; 2, evaluates; 3, pricing policy; 4. rendered services, the
source of these services; 5. deal in economic performance; 6. summarizing,
disclosing, managerial accounting; 7. generate; 8. the withdrawal; 9. inflow
and cutflow; 10. relating to

Vop. 12, e1p. 253

(@) 1. Costs; 2, Expenditures; 3. Expenses, ,

(6) Marginal costs; opportunity costs, budget expenditures; capital /
investment expenditures; cash expenses; consumption expenditures /
expenses; total expenditures / expenses / costs; annual expenses /
costs; anticipated expenses; average expenses / costs; banking
expenses; financing expenses / costs; financial expenses / costs; vari-
able costs; management expenses. marketing expenses / costs: per
capita expenses; preliminary expenses; storage expenses / costs; fixed
expenses / costs; cormnparative costs; decreasing costs; obsolescence
costs; overhead expenses / costs; intangible costs.

() 1. annual expenses / cosls; 2, capital expenditures; 3. expenses;
4, Expenditures / Expenses; 5. production costs; 6, Current expenses,
costs; 7, Owerhead costs, fixed / constant costs, variable costs;
8. opportunity costs; 9. planned expenditures, unexpected expenses;
10, management expenses; 11. Fixed / Constant costs

¥up. 13, crp. 254:

1. can be, should / ought to be related to; 2. are to be / must be; 3. has to
increase; 4. must be combined with; 5. had to look for, could be used;
6. must determine, should / ought to be ensured; 7. had to sign; 8. may / can
supply; may / can supply; 9. must be replaced / will have to be / is to be
replaced; 10. should / cught to be made

Yup. 14 (a), c1p. 255:

exists, may be viewed, are summarized, accepted; (were) developed, have
been recognized; deals; 1. states, is to perform, is to receive, must be
defined, existing, must be understood; 2, should be evaluated, exchanged;
occurs, is, are exchanged; 3. discloses, takes place, is; 4. is calculated;
5. defines; 6. used, must be, used; allows, to be compared; 7. emphasizes,

116

should present; 8. requires, concerning, should not be recorded, is received,
relating, ought to be done, are predicted

Yuop. 16, c1p. 257:
1. withdrew; 2. is; 3. will not be shown; 4. chose; 5. had chosen; 6. woukl
be recorded; 7. is paid; 8. had introduced

Wip. 17, c1p. 25T:
lc; 2f% 3a; 4¢; 5b; 6d

Vip. 18, c1p. 258:
1, are to; 2. ought to, should, should; 3. can; 4. should; 5. should; 6, may:
7. must; 8. had to, should; 9. is to

¥up. 20, e1p. 259:

1, Financial statements published annually for the stockholders are of
interest for taxation bodies as well,

2. Statements for management contain data about planning, relaticn-
ships between cost / value and profits, pricing, budgeting, efficiency
and productivity of an enterprise.

3. An annual statement contains the following set of financial reports: a
balance sheet, a cash flows statement, an income statement, a state-
ment of retained eamings, data concemning the previous year being dis-
closed in the statements for comparison,

4. A cash flows statement shows whether the company has accumulated
enough cash for financing its activity or it was necessary 10 borrow
some money.

5. An income statement discloses the data both about incomes and
expenses and about gains and losses of a company within a given peri-
od.

6. A statement of retained earnings includes information about using the
company’s equity and the level of the stockholders’ dividends,

Yup. 21, c1p. 25%:

). managerial, financial, deals with, flows, revenues, losses; 2. pricing,
rendered; 3. sources; 4. spread, managerial: 5. budgeting; set: 6. access;
7. previous; 8. summarizes, gains; net loss; 9. dealing in; 10. withdrawal

¥p. 22, crp. 260;
1. can / should; 2. can; 3. can / should; must; 4. can; can; 5. can; 6. must
/ should, can

Vip. 23, e1p. 261;
1. ... it will attract more investments from creditors and stockholders.
2. ... they would have covered the production costs and would have ensured
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higher profits. 3. Unless / If the long-term plan for the production develop-
ment were / were not drawn up beforehand / in advance .., 4. ... , provided
capital assets were used rationally. 5., ... , tax departments and other inter-
ested parties cannot evaluate the financial position of the company.
6. Unless / If the obsolete equipment were / weren’t replaced in time, ...
7. ..., the accountant would have determined the company’s income. 8. ... if
it had higher goodwill in the market than its competitors. 9. ... unless it had
been / if it had not been the dry summer weather. 10. ...provided there is not
any / no tight government control over cash flow in the market.

¥imp. 24, c1p. 261:

1. Uniess; 2. If / provided, until; 3. if / provided, either ... or; 4. in order
to, in spite of; 5. If / provided, instead of; 6. on the one hand, on the other
hand; 7. The former, the latter; 8. though; 9. The ... the; 10. neither ... nor;
11. both ... and,

UNIT 17
¥ip. 4, c1p. 265:
undesirable, irresponsible, improper, disadvantage, unlimited, unexpect-
ed, impossible, inadequate, disagreement, unreal, insufficient, undevel-
oped, unéasy, irregular, unable, inefficient, unprofitable, unsuccessful,
inactive, unemployed, independent

¥op. 7, c1p. 268:

advantage — benefit; disadvantage — drawback; in order to have profit —
for the purpose of profit; to employ smb — to hire smb; to be fully respon-
sible for smth — to be fully Liable for smth; to forbid smb smth ~ to prohib-
it smb smth; to get (dividends) — to receive / obtain (dividends); to take
chances — to run a risk; smb’s property — personal wealth; a consumer — a
buyer; to carry out functions — to perform functions; to operate a busi-
ness — to run a business; to end the business — to dissolve; to let smb do
smth — to allow / enable smb to do smth; to be pensioned off — to retire; to
spread profits — the distribution of profits; full financial liability ~ complete
financial responsibility / unfimited liability; to get back investments — to
recover investments; a corporate performance — a corporate activity; to set
up a parthership — to create / establish a partnership; to own smth
together — to own jointly; to pay debts — to settle the debts; produced com-
modities — manufactured goods; to restrict liability — to limit liability; to
involve large amounts of capital — to attract large amounts of capital; the
main business form — the dominant form; to pay taxes twice — double
taxation; smth unwanted — undesirable; t0 provide reports — to file reports
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Vup. 9, e1p. 269:
1,4,5,6,9

Vip. 10, ctp. 269:
2,4,5,6

Yap. 11, c1p. 270:
1. a sole proprietorship, ownership, personal services; The owner: 2. Lo Ik

personally liable for the activity; prohibited, fail; 3. benefits / advantag. ..
drawbacks / disadvantages; double taxation; desirable, agreements pre

hibiting double taxation; 4. The failure; 5. hire / employ; 6. partnerslup
retires, partners, the dissolving of the company; 7. Limited liability

Vimp. 12, erp. 271:

(o) 1, Gain, 2, Profit; 3. Income; 4. Benefit; 5. Revenue

(6) NONYYHTL NpHOBLUILE; 00U JOXOH / BHUIPLIL / TPHPOCT; Xerojl
HEI moxon; aoxoll / NMpHOBEIE OT TOPIOBJM; CPEAHMIT BHUTPLIL [/
JOXOR; IPHGELTE [0 HATOroo0M0XeH s, YicTasd MpUGHL; oXIae
MEH goxof / IPHpOCT; HOXOA OT AMBHICHAOR; TIOELUUEHIHE / YBENH-
YyeHMe npubnineli; npemenbHB qOX0N; NOTPEOUTENBCKHIA MOXON;
CHIDKeHMe MpUMOBELIEl!; f0X07, 0T KCROPTA; TOProsLle IpeHMyLiccT
B2 / IpeMMyILLICTHA OT TOPIOBIM; [IPHGELNE OT peKnaMel; GIOIKET-
HH# (Tonosoil} mOXOR; MPOUEHTHR foxoN; GafaHCOBAS NPHOBINL;
QHHAHCOBOS TIPEHMYIUECTBO; HALOHANEHHE JoX04 / TOXoI CTPa
HEl; MIGHTOMHREI Joxoa; HeobnaraeMulll HAOTOM Hoxol; B3anM
HE BRIATPHILY; 20XOM HA YLy HACENEHMS; HANOIOBRIE NOCTYILE:
HMs1 / IOCTYINEHMs OT HaAold, SIPHPOCT KanKTaAa; JONONHTENb
HHe NpeMMYILEcTRa / THrOTH; JOXOJ OT PEHTEL, HepaclipeAel eHHD!
NPHGBLIL, SKOHOMMYSCKHE BHINOAL / NpeHUMyLIecTBa

(e) 1. benefits / gains; 2. net profit / gain; 3. benefits; 4, anpual co.nnany’
revenue / income, retained income; 5. total income / gain; &, " iz tota
economic gain; 7. Advertising profit, trade / commerzial profit
8. benefits; 9. annual income / revenue; 10, profil; 11. nel 2uin [/
revenue / profit; 12, The gain; 13, Average income per capita

¥ip. 13 (@), c1p. 272:
that, those; these; these, that; this; that, those; this, that; that; this, those

Yip. 14 (), c1p. 272:

led, including; Having been established, was expected to bring, pro
duced; had been issued, started, were / are likely to have believed, beupin:
had risen / rose, became, had gone; rose, was announced to have b it dis
solved, was; is, was, lost; Having adopted, prohibited




Vap. 17, c1p. 274:
1. should; 2. should; 3. have to; 4. can / may; 5. may; 6. should be able;
7. should; 8 must

‘Vap. 18, c1p. 275;
1. retired; 2, doubled; 3. prohibited, limiting; 4. to benefit; 5. hiring;
6. recover; 7. file; 8. dissolved; 9. established; 10, are ... liable

¥y, 20, c1p. 276:

1. The emergence of the three main existing forms of ownership was
closely connected with the era of rapid economic progress in all indus-
tries.

2. In the sole proprietorship the owner receives the whole business prof-
it, however, he is also fully personally responsible/ liable if he is not
able to meet his labilities to suppliers and clients.

3. The partnership allows owners to combine their financial capitals for
obtaining maximum profits, and makes it easier to get a bank loan for
the expansion of their activity as well.

4. The corporation ownership has both benefits/advantages and draw-
backs/ disadvantages, limited liability of stockholders being the mein
advantage of a corporation,

5. The syitern of double taxation includes taxation on dividends obtained
by stockholders.

6. Large corporations paying higher salaries to their employees, more
qualified specialists for performing complex research can be
employed/ hired.

Yup. 21 (a), c1p. 271:

Having been founded; is said to have changed; Having started: is known
to have been established, being, being; was expected to buy, refined, to be
sold; Expanding / Having expanded; marketing, operating; Having spread
/ Spreading; is known to have been involved, trying; was reported to have

come

Vnp. 22, c1p. 278:

1, having reached, having exceeded; 2, working, should take, spent; 3, are
spread; 4. grew, doubled, increased; 5. Being, makes, draws, hires, fires,
obtains; 6, made, failed; 7. are, is, to meet; 8. hasbeen invested, owns; 9. is
affected; 10. Having recovered, spent

Vimp. 25, c1p. 27%:

1. an industry; 2. a holding company; 3. a company; 4. a subsidiary; 5. a
firm; 6. public corporation; 7. an insurance company; 8. a joint-stock com-
pany; 9. a cooperative society
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UNIT 18
¥op. 2, c1p. 281:
1) e-mail; 2) chip; 3) on-line; 4) software; 5) browser; 6) World Wide
Web; 7) internet; 8) site; 9) file; 10) directory

Vap. 3, c1p. 281:
1,2,3,5,7,9

Y. 6, c1p. 285:

GHCTPO PacTH; MOCPEACTROM KOMILIOTEPOR; MOANCPXKHBATL NENIOBLIE
OTHOLIEHHS; BKJIIOYATh SKOHOMMNECKYIO JETENbHOCTD; A OOMeHa RO~
KYMEHTAMH, CEKTOp PO3HHYHOH TOPIOBNH; COBEPLIATH NPOCTHIE TOPro-
Bhe CaenKH, GHTH OTHOCHTENBHO HEIOPOTUM; NI00as OTIELHAA MalUHHa,;
nepenada WHGOpMaUHy, geats BKIal B POCT..., CPeI ApYTHX HOBOBBEAE-
HuEY; IOCPENHHYECKHE YCIYTH; OrPaHUYUBATE NOCTYT; 32aMEeHATE Ha 3K~
TPOHMHBIE SKBUB&NEHTH; TIPOM3BOINTL MPCAYKT; BO3pOCIee MYHCAO OT-
JeNBHEIX JINL, BHYTPYH KOMIeHHH; GOpMB NOKYTTKY

Yip. 7, e1p. 285:

(a) additional, economical / economic, reliable, valuable, competitive,
limited, direct, comparable, favourable, productive, financial, spe-
cial, various, different

(6) accurate, preliminary, similar, relative, different / various, due / prop-
er, current, available, temporary, total / common, alternative, mar-
ginal, tangible, obsolete, previous, initial

(s) Gonee GnaronpuATHLR, HaKXYALIKE OKPYXatolIMe yenobua, Gonee
BRICOXMH YpOBCHB XM3HH, MeHee akKypaTHHIH, caMan nmpoupeTa-
IollAA KOMITAHKA, GONbIIasd MOoAAepxKKa, ropasno Gosiee Halex-
HH#, NpocTemMii MeTO JOCTAaBKH, Goriee XOpoLIHe BOIMOXHOC-
TH, HAHAYYIIAA yoaneHuan obyyalolliad cucreMa, Golee HalexXHOe
mmdpobalue nHbopMauMK, MeHee 3dxbeKTHBHOE COTpYAHUYECT-
BO, XyIlIee TBOPEHHE(CO3AAHKE), CAMOE HeXeNaTeTbHOE COETVHE-
Hhe

¥Yop. 8, c1p. 286:
1. collaborating, creating; 2. deliver; 3. surrounding; 4. flourishing;
5. remote: 6. secure; 7. creation, linking; 8. elaborated; 9, sales

Yap. 9, ctp. 286

1. had run; 2. will dissolve; 3. couldn’t obtain; 4. hadn’t been; 5. would
have increased; 6. differed; 7. doesn’t have; 8. would be able to borrow;
9. were; 10, is
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3mp. 10, c1p. Z8T:
1. are connected, link; 2. delivery; 3. commercial; 4. support; 5. original;
6. encrypting; 7. facilitate; 8. sales; 9. Collaborating; 10. refer

“up. 11, c1p. 288;

1. The extent of public ownership in industry is belicved to depend very
much on political ideology.

2, Each individual’s expenditure is assumed to contribute to some other
individual’s income.

3. Much of economics is thought to be devoted to the theory of how soci-
ety solves the problem of what, how and for whom to produce.

4. The general definition of markets is considered to have been adopted
only some years ago. ,

5. The lower company taxes were assumed to promote domestic industry
development.

6. High quality goods were expected 1o be sold at the annual sales.

7. The passwords are known to be used by collaborating businesses for
restricting access to the company’s sensitive information.

8. E~commerce is supposed to be the essential part of business by newly
established compganies.

“ap. %2, c1p. 288:

1. an employee; 2. an owner / a proprietor; 3. a creditor; 4. a consumer;
3, an investor; 6. an employer; 7. a stockholder; 8. an accountant; 9. a cus-
tomer; 10. a retailer; 11. a wholesaler; 12. a bookkeeper; 13, a debtor; 14, a
markeler; 15. a competitor

¥ip. 13 (a), c1p. 289:
one; It; |, ones; It; One, it; it; It, one; it, ones

Ynp. 18, crp. 290:

le; 2¢; 3h; 4i; 5i; 6b; 7g; 8 9a; 10d

Vnp. 16, c1p. 290:

1. should / have to; 2. cught to / should; 3. must; 4. should / are to be;

3. may / can; 6. should / ought to; 7. should / must; 8. are to be; 9. had to;
10, should / can

¥op. 17, c1p. 291
1. both .., and; 2. The ... the; 3, Neither ... nor; 4. both ... and / either ...
or; 5. both ... and / either ... or; 6. 85 ... as; 7, The ... the; 8. Neither .., nor

Ynp. 19, c1p. 292:
1. New technologies for communications having been developed, the
Internet services can be easily delivered to users in remote places.
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2. Due to the Web one can get access to different/ various Intemet infor-
mation.

3. The Internet / computer network is known to be used for different pur-
poses, e-mail and e-commerce being the most important of its partners
/ components.

4. The more users are connected to computer networks, the more rapid-
ly e-commerce will be spread.

5. Communication through the Internet is of great importance both for
individuals and organizations.

6. All types of computer networks should be provided with security sys-
tems for transferring any sensitive information.

Yip. 20 (a), crp. 292:

TIORAEPXKMBAA SAEKTPOHHYKD TOPToBno; NOLlepkKa SMEKTPOHHOH
TOPrORTH; COSAMHAONIAA CUCTEMA; CHCTEMA, COSANHAIOILAS OAL3OBaA-
Tentell; coefMHAN NOAL3OBATENER, ceTb..., OYAYUM OKDPYXeHHLIMH
OBIMpHOH ceThlO, MOAB30BATENN,..; Ge3 coemUHEeHMS TNoNLI0BATENEH;
cycTeMa, COENUHAIOILAN NONL30OBaTENeH KOMNLIOTEPOB; Mocke paspabor-
KM CNOXHOI1 ceTH; rocsie Toro Kak »1a ceTb Opina paspaboraHa (keM-
70)...; pa3pabaTLIBas CNOXHYIO CETh, HHXEHEDEL..; PA3paboTaB CROXHYIO
CETh, HHXKEHeDH,..; paspabaThiBas CROXHYIO ceTh; Gnarcaaps coaliaHiio
WEKTPOHHOTO ayKLHOHA 110 NPoaaxe; A0 CO3AaHNR 3MeKTPOHHOTO ayK-
LHMOoHA O TIpofaxe; MocNe TOTO KaK cUcTeMa Ge30TIaCHOCTH KOMITBIOTe-
pa 6bina cospaHa; SynyyM CO3NaHHOH, cMcTeMa (e30MacHOCTH KOMIbio-

Tepa...

Vinp. 21 (a), c1p. 293:

appeared, was called; Having been established, was to provide, engaged,;
were allowed, named, was created; Having taken, used, is / was able to han-
dle, carrying; is known to be governed, is; Being developed, help

Vap. 22, c1p. 293:
1. as well as; 2. only; 3. Unlike; 4, the same, such as; 5. Like; 6. as; 7. as
well; 8. the only

Vnp. 23, c1p. 294:
to compete for attracting customers; to provide users with free access to
information; to involve in collaboration; to refer te unfavourable condi-
tions; to exchange American dollars to Deutchemarks; to trade in manu-
factured / production goods with developed countries; the distribution of
the world computer network was followed by the rapid development of ¢-
commerce; trade relations development is influenced by the government
policy; to contribute in the creation of remote educational system; to cope
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with a problem; to adapt to inflation; to depend on the exchange rate; to IS 3SAMETOK
explain the causes of depreciation to the manager; to look for a wholesaler;
to elaborate/ develop new means of communications; to facilitate e-com-
merce development .
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